
CS-1

STEMS

CERAMIC STEMSLARSEN SUPPLY CO., INC.

CERAMIC STEMS

10/03/05



CS-2 FAUCET REPAIR LARSEN SUPPLY CO., INC.

TWIN HANDLE CERAMIC

2881
S-166-1

1/2" Cartridge 2882
S-166-2

Cold

EUROPEAN STANDARD CARTRIDGE

20PT. “U” BROACH
Used by: GROHE, KOHLER, DELTA, MILWAUKEE,

ALTMANS, FRANKE, NEWPORT BRASS, STERLING,

CALIFORNIA FAUCET, and Many Others

Hot

Length
2-3/32"

Bonnet Thread
13/16-14T

Cap Thread
15/16-27T

Nipple Thread

2883
S-167-1

3/4" Cartridge 2884
S-167-2

Cold

EUROPEAN STANDARD CARTRIDGE

20PT. “U” BROACH
Used by: GROHE, KOHLER, DELTA, MILWAUKEE,

ALTMANS, FRANKE, NEWPORT BRASS, STERLING,

CALIFORNIA FAUCET, and Many Others

Hot

Length
2-1/4"

Bonnet Thread
1-1/32-14T

Cap Thread
15/16-27T

Nipple Thread

2885
S-180-1

1/2" Cartridge 2886
S-180-2

Cold

VARIATION with NIPPLE and  

16PT. “H” BROACH
ALTMANS, CALIFORNIA FAUCET, NEWPORT BRASS,   

SEPCO and Many Others

Hot

Length
2-5/8"

Bonnet Thread
13/16-14T

Cap Thread Nipple Thread
9/16-20T

2887
S-181-1

3/4" Cartridge 2888
S-181-2

Cold

VARIATION with NIPPLE and  

16PT. “H” BROACH
ALTMANS, CALIFORNIA FAUCET, NEWPORT BRASS  

and Many Others

Hot

Length
2-3/4"

Bonnet Thread
1-1/32-14T

Cap Thread Nipple Thread

9/16-20 T

01/30/03



CS-3

TWIN HANDLE CERAMIC

FAUCET REPAIR LARSEN SUPPLY CO., INC.

ITEM NO. DESCRIPTIONPACK
CTN.

QTY.

0-3801 C 4-1/2" Extension • Can be cut down in 1/4 inch 6

increments to 1 inch long

STEM AND NIPPLE EXTENSIONS
20PT “U” Broach x 16PT “H” Broach

9/16-20 Thread Nipple • 15/16-27 Thread Bonnet Adapter

STEM EXTENSIONS 4-1/2" LONG • CAN BE CUT OFF

IN 1/4" INCREMENTS • TO 1 INCH LONG

0-3811 C 20PT x 16PT x 4-1/2"          • U x H 6

0-3813 C 20PT x 20PT x 4-1/2"          • U x U 6

0-3815 C 20PT x 12PT x 4-1/2"          • U x B 6

0-3817 C 20PT x Sayco x 4-1/2"        • U x F 6

0-3819 C 20PT x Speakman x 4-1/2"  • U x M 6

0-3831 C 20PT x 16PT  (2pcs/Snap) 6

0-3851 C 5/8-24 Thread x 1/2-24 Thread 6

0-3853 C 5/8-24 Thread x 9/16-20 Thread 6

0-3855 C 5/8-24 Thread x 5/8-18 Thread 6

0-3857 C 5/8-24 Thread x 11/16-24 Thread 6

0-3861 C 9/16-20 Thread Male x Female Add-On Extension 6

STEM and NIPPLE EXTENSIONS

“Use in combination with the cartridges on the opposite page to match many styles”

BROACH CONVERTER “PLASTIC”

0-3825 C 16PT x 1/4-20  MaleThread 6

(Must Use LOCTITE™ #271 With This Item)

STEM EXTENSION • ADD - ON 16PT

0-3841 C 10-24 Thread x 1/4-20 Thread 6

Used to put handle screw thread inside

stem extensions

ADAPT-A-SCREW

BRASS NIPPLE EXTENSIONS W/NIPPLE ADAPTER • 4-1/2"

0-3801

0-3841

0-3825

0-3831

0-38610-3851

thru

0-3857

0-3811

thru

0-3819

03/18/03 



CS-4 FAUCET REPAIR LARSEN SUPPLY CO., INC.

CERAMIC STEMS

USE
S-187-1

USE
S-187-2

ColdHot 

16 PT

Plus

Stem

Extension

0-3811

Bonnet Thread

13/16-14

Nipple ThreadCap Thread

15/16-27

Length

2-13/16"

Bonnet Thread

13/16-14

Nipple Thread

9/16-20
Cap ThreadLength

2-5/8"

ALTMANS 1
Ceramic

USE USE
S-180-2

ALTMANS 2
Ceramic

S-180-1
ColdHot

Cut to

Size

USE USE
S-180-2

ALTMANS 3

Ceramic 

S-180-1
ColdHot

Bonnet Thread

13/16-14

Nipple Thread

9/16-20 
Cap ThreadLength

2-3/8"

USE USE

ColdHot 

Bonnet Thread

13/16-14

Nipple ThreadLength

2-3/4"

ALTMANS 4
Ceramic

S-187-1 S-187-2

Cap Thread 

15/16-27   

USE USE

ColdHot 

Bonnet Thread

1/32-14

Nipple Thread

9/16-20

Length

2-3/4"

ALTMANS 5
Ceramic

S-181-1 S-181-2

Cap Thread 

16 PT 16 PT

16 PT16 PT

Plus

Stem

Extension

0-3811

4726 4727

ColdHot 

Bonnet Thread

13/16-14

Nipple Thread

9/16-20T

Length

2-3/4"

ALTMANS/NEWPORT

S-187-1 S-187-2

Cap Thread 

15/16-27     

16 PT

03/18/03 



CS-5

CERAMIC STEMS

FAUCET REPAIR LARSEN SUPPLY CO., INC.

0248
S-154-1

0249
S-154-2

ColdHot 

Bonnet Thread

1-24

# 46 O-Ring (Bottom)
02-1558

Nipple ThreadCap ThreadLength

1-3/4"
Bonnet Thread

13/16-14

Nipple ThreadCap ThreadLength

2-3/4"

AMERICAN STANDARD
OEM # 30228

Duralux / Ceramic

# 43 O-Ring (Top)
02-1576

2905
S-251-3

Seal Kit
AS30741-07

AMERICAN STANDARD
Amarilis

Lav & Widespread

AS28610-07
CARDEDBULK Hot or Cold

2907
S-253-3

Seal Kit
AS30741-07

AMERICAN STANDARD
Amarilis

Shower Stem

AS28628-07
CARDEDBULK Hot or Cold

Bonnet Thread

13/16-14

Nipple ThreadCap ThreadLength

2-11/16"

ColdHot 

Bonnet Thread

1-24

Nipple ThreadCap ThreadLength

2-3/4"

AMERICAN STANDARD
Duralux

Shower Cartridge

AS30234-07 AS30235-07

12/13/06



CS-6 FAUCET REPAIR LARSEN SUPPLY CO., INC.

CERAMIC STEMS

1/2-24 01-4052

1040
S-150-1

1041
S-150-2

ColdHot 

12 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

1-7/16"

ARTISTIC BRASS
Ceramic

USE
S-462-1

USE
S-462-2

ColdHot 

12 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

1-9/16"

ARTISTIC BRASS
Ceramic

3801
S-462-1

3802
S-462-2

ColdHot 

12 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

2"

ARTISTIC BRASS
Ceramic

USE
S-167-1

USE
S-167-2

ColdHot 

12 PT

Plus 12 PT

Stem

Extension

Bonnet Thread

1-1/32-14

Nipple ThreadCap Thread

15/16-27

Length

3-9/16"

ARTISTIC BRASS
Ceramic

0-3815

03/18/03 



CS-7

CERAMIC STEMS

6055
S-1175-1

12 PT 6056
S-1175-2

6057
S-1176-1

6058
S-1176-2

Cold ColdHot

12 PT 16 PT

ARTISTIC BRASS

SINK REPAIRLARSEN SUPPLY CO., INC.

Cold

ARTISTIC BRASS

Hot

Bonnet Thread

13/16-14

Nipple Thread

5/8-18
Cap Thread

15/16-27

Length

5-1/2"

Bonnet Thread

3/4-20

Nipple Thread

5/8-18
Cap ThreadLength

6-3/4"

6528
S-1172-1

6529
S-1172-2

Bonnet Thread Nipple ThreadCap ThreadLength

5-1/4"

Hot

CENTRAL / PHYLRICH

03/18/03 



CS-8 FAUCET REPAIR LARSEN SUPPLY CO., INC.

CERAMIC STEMS

01-4075

2317
S-153-1

2318
S-153-2

ColdHot 

16 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

1-9/16"

AUBURN BRASS
Ceramic

USE
S-748-1

USE
S-748-2

ColdHot 

16 PT

CUT TO

SIZE

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

3"

AUBURN BRASS
Ceramic

5641
S-748-1

5642
S-748-2

ColdHot 

16 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

4-3/4"

AUBURN BRASS
Ceramic

2653
S-182-1

2654
S-182-2

ColdHot 

20 PT Large

Bonnet Thread

13/16-14

Nipple Thread

11/16-24
Cap ThreadLength

2-1/32"

BROADWAY
Ceramic

4671
S-545-1

4672
S-545-2

ColdHot 

20 PT Large

Bonnet Thread

13/16-14

Nipple Thread

11/16-24
Cap ThreadLength

2-1/32"

BROADWAY
Wide Spread

Ceramic

#37 O-Ring

02-1580

11/02/05 



CS-9

CERAMIC STEMS

FAUCET REPAIR LARSEN SUPPLY CO., INC.

10-24 01-4085HL-33

3613
S-601-1C

3614
S-601-2C

ColdHot

CHICAGO
Ceramic

0265
S-203-3C
Cartridge

Seat & Spring
DE10700

DELTA
OEM # 8230

Ceramic 

10-32 01-4087 HC-276

2415
S-155-1

2416
S-155-2

Hot

16 PT

Cold

CENTRAL BRASS

01-4075HC-264
HC-265

2305
S-156-1

2307
S-156-2

ColdHot

16 PT

Washerless Seal
02-1900

GERBER
Ceramic

# 38 Stem Washer
02-1844 (Fiber)

01-4095

3805
S-444-3
Hot or Cold

Cartridge

20 PT

May also

use 

S-166-1

# 40 O-Ring

02-1538

Bonnet Thread

13/16-14

Nipple ThreadCap Thread

15/16-24

Length

2-1/4"

GROHE
OEM # 45.140

Ceramic

4711
S-186-1

4712
S-186-2

ColdHot

20 PT

For short

model use

S-166-1/2

DORNBRACHT
Ceramic

09/28/05 

For larger

model use

stem

S-166-1/2

with

0-3813

extension

and

with

0-3853



CS-10 FAUCET REPAIR LARSEN SUPPLY CO., INC.

CERAMIC STEMS

3807
S-463-1

3808
S-463-2

Cold

Cartridge

Hot 

Cartridge

16 PT

Bonnet Thread

13/16-20

Nipple Thread

9/16-20
Cap ThreadLength

2-3/4"

HARDEN BRASS
Ceramic

4701
S-546-1

4702
S-546-2

ColdHot

16 PT

Bonnet Thread

13/16-20

Nipple ThreadCap Thread

9/16-20

Length

3-1/2"

# 31 O-Ring (Top)

02-1522

HARDEN BRASS
Wide Spread

Ceramic  

# 18 O-Ring (Bottom)

02-1556

5631
S-745-1

5632
S-745-2

ColdHot 

16 PT

Bonnet Thread

13/16-20

Nipple ThreadCap Thread

9/16-20 

Length

4-5/8"

# 31 O-Ring (Top)

02-1522

HARDEN BRASS
Shower
Ceramic

# 18 O-Ring (Bottom)

02-1556

5650
S-746-1

5651
S-746-2

ColdHot 

16 PT

Bonnet Thread

1-1/32-14

Nipple ThreadCap Thread

9/16-20 

Length

4-3/4"

HARDEN BRASS
Roman Tub

Ceramic

09/28/05  



CS-11

CERAMIC STEMS

FAUCET REPAIR LARSEN SUPPLY CO., INC.

2651
S-162-1

2652
S-162-2

ColdHot 

18 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

1-5/8"

INDIANA
Ceramic

3823
S-168-1

3824
S-168-2

ColdHot 

20 PT

# 46 O-Ring

02-1558

Bonnet Thread Nipple ThreadCap ThreadLength

KOHLER
Cygnet
Ceramic

3821
S-417-1

3822
S-417-2

Cold

Cartridge

Hot 

Cartridge

20 PT

Can Also

Use

S-166-1

S-166-2

Can Also

Use

S-167-1

S-167-2

Bonnet Thread

13/16-14

# 37 O-Ring (External)

02-1580

Nipple ThreadCap Thread

KOHLER / STERLING
OEM # 30430

Ceramic

# 4 O-Ring (Internal)

02-1628

2075
S-243-3

2076
S-243-3G

Genuine Hot or Cold

12 PT

Bonnet Thread

3/4-20

Nipple ThreadCap ThreadLength

1-13/16"

PRICE PFISTER
Ceramic

5084
S-832-3
Hot or Cold

12 PT

Bonnet Thread Nipple ThreadTube ThreadLength

PRICE PFISTER
Ceramic

Length

2-1/16"

Bibb Screw

XS-503

09/28/05 

Bonnet Thread

7/8-18

Nipple Thread

15/16-18
Tube Thread

1-3/16-18 

Length

4-1/2"

2077
S-244-1

2078
S-244-2

ColdHot 

12 PT

PRICE PFISTER
Ceramic

910-024 910-025



CS-12 FAUCET REPAIR LARSEN SUPPLY CO., INC.

CERAMIC STEMS

S-166-1 S-166-2
ColdHot

JADO

S-166-1 S-166-2
Hot

20 PT

Cold

JADO

S-166-1 S-166-2
ColdHot

20 PT

MILWAUKEE

0272
ColdHot

20 PT

Cap Thread

15/16-27T

Length

3-1/2”

MILWAUKEE

0272
S-203-1BC

0273   
S-203-2BC

ColdHot

16 PT

IMPORT
Brass Ceramic

2910
S-255-1

2911
S-255-2

ColdHot

32 PT

GOBO / DANZA
Ceramic

Bonnet Thread

13/16-14T

20 PT

Nipple ThreadCap Thread

15/16-27T

Length

2-5/8”

Bonnet Thread

13/16-14T

Cap Thread

15/16-27T

Length

3-1/2”

Bonnet Thread

13/16-14T
Length

3-1/2”

09/28/05  

Bonnet Thread

13/16-14T
Cap Thread

15/16-27T

Use With

0-3813

Extension



CS-13

CERAMIC STEMS

FAUCET REPAIR LARSEN SUPPLY CO., INC.

09/28/05  

2924
S-185-1

2925   
S-185-2

ColdHot

IMPORT 
Ceramic

2920
S-183-1

2921
S-183-2

Hot

16 PT

Cold

IMPORT
Ceramic

2922
S-184-1

2923   
S-184-2

ColdHot

16 PT

IMPORT 
Ceramic

32 PT

Nipple Thread

15-16-27

Cap ThreadLength

2"

Bonnet Thread

13/16-14

(1/2 IPS)

Nipple Thread

1/2-20

Cap ThreadLength

2"

Bonnet Thread

13/16-14

(1/2 IPS)
Nipple Thread

1/2-20 

Cap ThreadLength

2-1/4"

Bonnet Thread

13/16-14

(1/2 IPS)



CS-14 FAUCET REPAIR LARSEN SUPPLY CO., INC.

CERAMIC STEMS

09/28/05  

3840
S-172-1

3841
S-172-2

ColdHot

SEPCO
Brass Ceramic

3842
S-173-1

3843   
S-173-2

Hot

15 PT15 PT

Cold

SEPCO
Brass Ceramic

4650
S-174-1

4651   
S-174-2

ColdHot

15 PT

SEPCO  
Brass Ceramic

3846
S-175-1

3847
S-175-2

ColdHot

20 PT

UNIVERSAL RUNDLE
Ceramic

5651
S-741-1

5652
S-741-2

ColdHot

20 PT

Nipple Thread

1/2-24T

Length

4-3/8"

MILWAUKEE
Ceramic



CS-15

CERAMIC STEMS

FAUCET REPAIR LARSEN SUPPLY CO., INC.

0270
S-203-1C

0271
S-203-2C

ColdHot

Seat & Spring
DE10700

IMPORT
Plastic Ceramic

0272
S-203-1BC

0273   
S-203-2BC

Hot

Seat & Spring
DE10700

Length

1-15/16"

Cold

IMPORT
Brass Ceramic

0-4031
SRA-3269 Hot

0277
S-232-3C

Ceramic Cartridge

11/09/05  

Ceramic

Cartridge

SRA-3270 Cold
0-4033

BLUE

STERLING

YELLOW

STERLING

(NOT ACTUAL SIZE)



STEM CATALOG

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

LASCO’S STEM CATALOG IS DIVIDED INTO THREE SECTIONS.

SECTION 1 & 2 ARE ORGANIZED BY THE STEM SIZE AND THEN BY BROACH TYPE.

REFER TO THE STEM GAUGE FOR ACTUAL DIMENSIONS.

SECTION 1
WASHERLESS, SINGLE LEVER, PLASTIC CARTRIDGES  •

PAGES  S-1 THRU S-17 •  POP NUMBERS  0103 - 0673

SECTION 2
BRASS COMPRESSION AND CERAMIC STEMS  •

PAGES  S-19 THRU S-136 •  POP NUMBERS  1011 - 6806

SECTION 3
STEM EXTENSIONS  •  PAGES  S-137 THRU S-140

BROACH GAUGE
A SMALL CRANE

B PRICE PFISTER

C AMERICAN STANDARD

D STERLING 16 PT.

DD STERLING (SQUARE

WASHERLESS)

F GERBER, SAYCO

G PHOENIX, NIBCO,

STREAMWAY

H CENTRAL, ELJER

I KOHLER

J AMERICAN STANDARD

(3/8")

K WOLVERINE BRASS

L YOUNGSTOWN

M SPEAKMAN

N CHICAGO

O UNION BRASS,

BRIGGS, INDIANA

Q UNIVERSAL-RUNDLE

R MICHIGAN BRASS

U GROHE

COLOR DENOTES LENGTH GROUP  •  
REFER TO COLOR ON STEM GAUGE

BROACH LETTER  •  REFER TO BROACH
SIDE OF STEM GAUGE

POP ID NUMBER  •  ORGANIZES POSITION
OF STEMS IN CATALOG & DISPLAYS

LARSEN PART NUMBER & INDEX

STEM TYPE  •  HOT, COLD, GENUINE, ETC.

MANUFACTURER & NOTES

OEM HANDLE

HANDLE SCREW

ADAPT-A-HANDLE BROACH ADAPTER

INFORMATION ON REPAIR KITS, O-RINGS,
WASHERS, ETC.

10

10

7

7

7

55

5

6

6

2

2

44

4

3

3

3

1

1

8

8

9

9

Hot or Cold Hot or Cold
Genuine

HC-105
HC-106

10-24 01-4052 HC-236
HC-237

Repair Kit
0-2001

Bibb Washer
02-1100

Bibb Screw
XS-553

Stem Washer
02-1842

Seat
X-24

O-Ring
02-1520



S-1

01-4052

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0103
S-240-3

GREEN

10-24 01-4076

0113
S-146-3 S-198-3

8-32 01-4075 HL-101MBHC-264
HC-265

0213
S-233-3 S-233-3G

Hot or Cold
(Plastic)

Hot or Cold
(Brass)

GREEN

# 35 Stem Washer
02-1842 (Nylon)

Hot or Cold
Genuine

Hot or Cold

YELLOW

# 22 O-Ring
02-1506

Washerless Seal
02-1900

# 38 Stem Washer
02-1878 (Fiber)

UNION BRASS /
TOWN & COUNTRY

GERBER

Repair Kit
0-4105

# 16 O-Ring
02-1520

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

LDR
Plastic

Hot or Cold

01-4080

0221
S-157-3

YELLOW

10-24 01-4080HC-131
HC-132

0223
S-236-3

10-24 01-4080HC-131
HC-132

0225
S-329-3

0226
S-329-3L

# 37 O-Ring
02-1580

Hot or Cold

YELLOW

# 10 O-Ring (Bottom)
02-1552

Hot or Cold

Long Style

Hot or Cold

YELLOW

# 37 O-Ring
02-1580

MIDCOR / MIDDLEFIELD PEERLESS / LARDEN

# 43 O-Ring (Top)
02-1576

DELTA
OEM # 25608

Import

Hot or Cold

# 16 O-Ring (Internal)
02-1520

0115 0215

02/18/05



S-2 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

8-32 01-4080HC-139

0228
S-221-3

YELLOW 0229
S-222-3

8-32 01-4080HC-131
HC-132

0231
S-446-3

8-32 01-4080HC-139

0232
S-442-2

# 41 O-Ring (External)
02-1524

Hot or Cold

YELLOW

Cold
Lever only

YELLOW

# 41 O-Ring (External)
02-1524

PHOENIX

# 15 O-Ring (Internal)
02-1534

# 9 O-Ring
(Internal Top)

02-1454

# 9 O-Ring (Internal)
02-1454

Hot or Cold
20 Thread

STREAMWAY / PHOENIX
Plastic / Brass

Hot or Cold
18 Thread

01-4080HC-131
HC-132

0235
S-449-3

YELLOW

10-32 01-4087HL-96
HL-97

0237
S-328-1 S-328-2

01-4076HC-173

0241
S-159-1

0242   
S-159-2

# 41 O-Ring
02-1524

Hot

YELLOW

# 35 Stem Washer
02-1842 (Nylon)

YELLOW

# 41 O-Ring
02-1524

INDIANA
Plastic

LIFETIME

Hot or Cold Cold Hot or Cold

CENTRAL BRASS

# 15 O-Ring
(Internal Bottom)

02-1534

# 27 O-Ring
(External Bottom)

02-1414

# 41 O-Ring
(External Top)

02-1524

STREAMWAY / NIBCO

0233
S-442-3

0234
S-442-3G

Genuine

0238



S-3

10-32 01-4082

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0243
S-231-3

YELLOW

01-4082

0244
S-161-1

0245
S-161-2

0248
S-154-1

0249
S-154-2

Seat
0-3092-1

Cold
Gray

Hot
Brown

YELLOW

# 15 O-Ring (Bottom)
02-1534

ColdHot 

YELLOW

# 46 O-Ring (Bottom)
02-1558

ELKAY
OEM # A51947

AMERICAN STANDARD
OEM # 30228

Duralux / Ceramic

# 43 O-Ring (Top)
02-1576

# 31 O-Ring (Top)
02-1522

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

# 28 O-Ring 
02-1516

BRADLEY

Hot or Cold

0-3015 01-4013 HL-51HL-48

0250
S-196-3

YELLOW 0257   
S-200-3

XS-501 01-4101 HC-169BHC-169

0251
S-197-3 S-199-3

0254
DE16423

Seat & Spring
0-3019

Stainless SteelHot or Cold
Brass Ball

YELLOW

0-3015

Seat & Spring
0-3019

Hot or Cold

YELLOW

DELTA
Oval Stem

DELTA
OEM # 16423

Back to Back Ball

Cam / Packing
0-3027

Cam / Packing
0-3017

Stainless Steel

DELTA
Round Stem

Hot or Cold
Brass Ball

0256   

11/13/05



S-4 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0255
DE18037

YELLOW 0258
DE12301

0259
DE20111

Hot or Cold

YELLOW

Hot or Cold

YELLOW

DELTA
OEM # 12301

Vacuum Breaker Ball

DELTA
OEM # 20111

Knob to Lever Conversion Ball

DELTA
OEM # 18037

Vacuum Breaker Ball

Hot or Cold

10-24 01-4113 HC-169AHC-110
HC-111

0263
S-203-3

YELLOW 0264
S-203-3G

0270
S-203-1C

0271
S-203-2C

HC-110T 0-2995T

0260
S-203-1T

0261
S-203-2T

0262   
S-203-3T

0-2995

Repair Kit
0-3009

Seat & Spring
0-3019

Stop Plate

DE24097

# 37 O-Ring (External)
02-1580

Hot Import

YELLOW

Seat & Spring
DE10700

YELLOW

HOMETEK  IMPORT

# 10 O-Ring (Internal)
02-1552

DELEX

Hot or Cold Hot or Cold
Genuine

Cold Import

CERAMIC

Hot/Cold

White with Stop on Top

Hot/Red Top

Cold/White Top

04/03/06

Brass

Stem

DE8230
Ceramic

0265

DE24096  
Brass Stem

RP25513

Brass

Stem



S-5

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

HC-169C

0267
0-2099

YELLOW

HC-112
HC-113

0273
S-232-3

0277   
S-232-3C

0279
S-332-3

Seat & Spring
0-3019

Ceramic Cartridge

SRA-3267

Hot or Cold

YELLOW

Repair Kit
0-4043

# 43 O-Ring (External)
02-1576

Ceramic Cartridge

SRA-4933

YELLOW

STERLING
Kitchen or Lavatory

STERLING & KOHLER
00A4933                 77548

Single Lever Kitchen 

# 16 O-Ring (Internal)
02-1520

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

# 65 O-Ring
02-1586

DELTA
Pressure Balance

Cartridge

01-4117HC-256

0285
S-234-3

YELLOW

01-4117HC-256

0287
S-237-3

10-24 01-4115 HC-254
HC-255

HC-244
HC-245

0293
S-230-3

Seat & Spring
0-2077

Hot or Cold

YELLOW

Seat & Spring
0-2077

Hot or Cold
Cartridge

YELLOW

V-1814

Repair Kit
0-3087

Stem Extension
0-4003

UNIVERSAL - RUNDLE /
MILWAUKEE

VALLEY II

# 37 O-Ring
02-1580

# 21 O-Ring
02-1504

# 21 O-Ring
02-1504

UNIVERSAL - RUNDLE /
MILWAUKEE

Hot or Cold

01-4137

01/23/06



S-6 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0330

HC-289

0319
S-330-1

0320
S-330-2

HC-288

0329
S-331-3

ColdHot

ORANGE

# 43 O-Ring (Bottom)
02-1576

Hot or Cold

ORANGE

KOHLER
OEM # 76671 / 76672

Coralais

KOHLER
OEM # 30413

Coralais

# 65 O-Ring (Top)
02-1586

# 37 O-Ring (Top)
02-1580

KOHLER
Pressure Balance Cartridge

OEM #500520

10-24 MO14986 HC-243HC-246

0333
S-441-3

ORANGE 0334   
S-441-3G

01-4080HC-131
HC-132

0335
S-164-3

0337
S-460-3

# 28 O-Ring
02-1516

Hot or Cold

ORANGE

# 10 O-Ring
02-1552

ORANGE

# 38 O-Ring
02-1518

MOEN
OEM # 1248
Roman Tub

MOEN
OEM # 1224

Plastic 

Hot or Cold Hot or Cold

Genuine

Hot or Cold

MOEN
Plastic

# 8 O-Ring (Bottom)
02-1508

08/19/05

0-4035



S-7

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0340
0-4021

ORANGE

01-4082

0341
S-426-1

0342
S-426-2

01-4082

0343
S-170-1

0344
S-170-2

Repair Kit
0-3091

Cold
Gray

Hot
Red

ORANGE

# 15 O-Ring (Bottom)
02-1534

Cold
Yellow

Hot 
Green

ORANGE

# 15 O-Ring (Bottom)
02-1534

# 30 O-Ring (Top)
02-1562

# 30 O-Ring (Top)
02-1562

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

GERBER / STANADYNE

Cartridge

01-4119HC-360

0351
S-439-1

ORANGE 0352
S-439-2

01-4117HC-256

0355
S-424-1

0356
S-424-2

HL-54A

0360
0-2061

# 15 O-Ring (Bottom)
02-1534

ColdHot

ORANGE

Seat & Spring
0-2077

Cartridge

ORANGE

PRICE PFISTER
OEM # 900-022
Tub & Shower

# 37 O-Ring (Top)
02-1580

Cold
Blue

UNIVERSAL - RUNDLE

Hot
Red

UNIVERSAL - RUNDLE /
BRADLEY / ELKAY

UNIVERSAL - RUNDLE /
SEARS / ELKAY

UNIVERSAL - RUNDLE /
SEARS / MILWAUKEE

(NOT ACTUAL SIZE)

2"



S-8 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0361
0-2091

ORANGE 0365
0-2085

0363
0-2081

# 92 O-Ring (Bottom)
02-1438

Slotted Stem

PP974-560

4 Bolt Gasket

PP960-460

974-291

Balance Spool

971-250

Old Style

ORANGE

#38 O-Ring 

02-1518

Cartridge

ORANGE

PRICE PFISTER
Pressure Balance

OEM # 971-250

PP970-280

Stop For N/S

Stem

PP974-760

PRICE PFISTER
OEM # 974-570

Genesis

PP970-780

Stop For O/S

# 18 O-Ring (Top)
02-1556

974-491

Cartridge

PRICE PFISTER
Pressure Balance

OEM # 971-150

971-150

Slotted Broach

01-4121

0366
0-4039

ORANGE

01-4121

0367
0-4041

0368
0-4047

0369  
0-4049

# 36 O-Ring (Hub)
02-1532

Cartridge
W/ Diverter

ORANGE

# 61 O-Ring (Bottom)
02-1568

ORANGE

STERLING
OEM # 05020                              OEM # 05010
Kitchen                            Shower or Lavatory

# 19 O-Ring
02-1514

# 56 O-Ring (Top)
02-1546

# 56 O-Ring
02-1546

STERLING
OEM # A5013

Cartridge
W/O Diverter

CartridgeCartridge

STERLING
OEM # A5023

(NOT ACTUAL SIZE)

2
-1
/4
"

(NOT ACTUAL SIZE)

Seat & Spring
0-4045

03/31/06

2-1/2"

(NOT ACTUAL SIZE)

0362
0-2087

0364
0-2089

(NOT ACTUAL SIZE)



S-9

01-4103 HC-170

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

HL-50

0370
0-3081

ORANGE

31631CHC-171N

0371
0-3095

HL-50NS

0372
0-3097

Seat & Spring
0-3087

Cartridge
W/O Diverter

ORANGE

HC-172

Repair Kit
0-3093

Cartridge

W/ Diverter

ORANGE

Repair Kit
0-3093

VALLEY
OEM # VP1964

#61 Bottom O-Ring

02-1568

VALLEY
OEM # VP1965

# 59 Top O-Ring
02-1486

# 59 O-Ring
02-1486

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Repair Kit
0-3083

VALLEY
OEM # 6680

Old Style

Cartridge

HC-172B

0373
0-3099

ORANGE 0374
0-3101

01-4103 HC-254
HC-255

HC-244
HC-245

0375
S-461-3

# 71 O-Ring
02-1542

Cartridge

ORANGE

Repair Kit
0-3093

Hot or Cold

ORANGE

# 15 O-Ring (Bottom)
02-1534

VALLEY
OEM # V5078

Kitchen Pullout

#61 Bottom O-Ring

02-1568

VALLEY
OEM # V6860
Roman Tub

# 37 O-Ring (Top)
02-1580

# 59 Top O-Ring
02-1486

VALLEY
OEM # V6005
Back to Back

Cartridge

2-9/16"

06/27/00

(NOT ACTUAL SIZE)



S-10 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

HC-110
HC-111

0378
S-353-3

0379
DE25609

01-4097 HL-124HC-257

0380
0-2079

Cartridge

ORANGE

Cartridge

ORANGE

# 56 O-Ring
02-1546

DELTA
Import

UNIVERSAL - RUNDLE
Carefree

LASCO
Non-Metallic

Hot or Cold
Cartridge

AS61228-04

0381 ORANGE

AS61228-04

0383

HL-53HL-52

0385
0-1051

Repair Kit
0-1025

Repair Kit
0-1021

ORANGE

Repair Kit (New)
0-1035

8 Gallon Model
AS69382-07

O-Ring (Spout)
0-1053

AMERICAN STANDARD
OEM # 57864-07

Aquarian / Kitchen or Lavatory

Repair Kit (Old)
0-1033

AMERICAN STANDARD
OEM # 61226-04
Fiesta Lavatory

Cartridge

AMERICAN STANDARD
OEM # 63131-04
Fiesta Kitchen

AS61226-04
ORANGE

AS63131-04

(NOT ACTUAL SIZE)

3-9/16"



S-11

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0386 0387 0388

AS60343-07

Disc with Seals

AS60366-07

Spou Seal Kit

ORANGE

Seal
AS69437-07

AMERICAN STANDARD
OEM # 63845-07

Aqua Mix / Tub or Shower

AMERICAN STANDARD
OEM # 66269-07

Ultra Mix

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

AMERICAN STANDARD
OEM # 23529-07

Ceramix

Cartridge

0389
0-1055

ORANGE

01-4066

0391
S-171-1

0392
S-171-2

01-4105

0399
0-3073

# 64 O-Ring (External)
02-1424

ColdHot

ORANGE

# 24 O-Ring (Bottom)
02-1548

Cartridge

ORANGE

WOLVERINE BRASS BRADLEY COLE

# 37 O-Ring (Top)
02-1580

# 27 O-Ring (Internal)
02-1414

AMERICAN STANDARD
OEM # 44885-07

Reliant

Cartridge

ORANGE
0-1057 AS63845-07

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)

3-3/16"

3-11/16"
2-3/4"

# 8 O-Ring (Internal)
02-1508

06/16/02

ORANGE
AS66269-07



S-12 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0415
KO-77759

0416
KO-77886

01-4080HC-131
HC-132

0411
S-470-3

01-4080HC-133

0413
S-471-4

0-4035

Hot or Cold

PURPLE

# 9 O-Ring (Bottom)
02-1454

Diverter

PURPLE

# 15 O-Ring (Bottom)
02-1534

MIDCOR PHOENIX
Garden Tub

# 40 O-Ring (Top)
02-1538

# 27 O-Ring (Top)
02-1414

Square Broach

KOHLER
4-Bolt

Pressure Balanced

With Broach

HC-44HC-43

0419
0-4037

PURPLE
SRA-2979

01-4153 03-1739HC-113

0420
0-4057S

0423
0-2083

0-4035

PURPLE

Repair Kit
0-4043

PURPLE

PRICE PFISTER
OEM # 974-170

Pull-Out / Kitchen

# 8 O-Ring (Top)
02-1508

STERLING/KOHLER
OEM # A5200 • 71969

Shower Mixer

Cartridge ESCUTCHEON & HANDLE Cartridge

STERLING
Short Model

(NOT ACTUAL SIZE)(NOT ACTUAL SIZE)(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

3-5/8"

3-3/8"
3-3/16"

3-1/16"

3"

# 15 O-Ring (Middle)
02-1534

# 27 O-Ring (Middle)
02-1414

# 16 O-Ring (Bottom)
02-1520

08/19/05



S-13

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0441
S-627-3

PURPLE 0442   
S-627-3S

01-4082

0451
S-731-1

0452
S-731-2

0459
0-4029

ColdHot

PURPLE

Cartridge

PURPLE

Seat Kit
LKA-53226-R

ELKAY
OEM # A-52399-R

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Hot or Cold

HARDEN

Hot or Cold

0460 0471
KO-30092

0475
KO-22909

Stem - 3 5/8”
KO-22124

# 22 Packing
02-1738

KOHLER
Niedecken

Yoke Assembly

KOHLER
Shower Valve - 3 1/32”

Seat
X-224

ELKAY
OEM # 51866-R

Permacore

UNIVERSAL - RUNDLE /
BRADLEY / ELKAY

SPECIAL
ORDER2

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)(NOT ACTUAL SIZE)(NOT ACTUAL SIZE) ( ACTUAL SIZE)

3-9/16"

3-3/4"

3-1/4"3"

3"



S-14 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

DE6046

0485
S-729-4

PURPLE 0487
S-735-4

0489
S-735-4T

# 37 O-Ring
02-1580

Diverter

PURPLE

Diverter

PURPLE

DELEX IMPORTDELTA
Push Button

Diverter

MIMSRNC HL-58HC-40
(Chrome Plated)

0503
S-815-3

BLUE

HL-58HC-40
(Chrome Plated)

0505
S-815-3P

0511
S-761-4

0491  
S-760-4

HC-41 (Clear)
HC-41N (Smoke)

0-3151

Handle w/

Stem

HL-58A (Clear)
HL-58AN (Smoke)

03-1699CP

Repair Kit
0-3061

# 0 Packing
02-1776

00 Bibb Washer
02-1100

Bibb Screw
XS-555

Hot or Cold

BLUE

HC-41
(Clear)

HL-58A
(Clear)

Repair Kit
0-3061

# 0 Packing
02-1776

BLUE

# 43 O-Ring
02-1576

00 Bibb Washer
02-1100

Bibb Screw
XS-555

MOEN
DIVERTER

# 28 O-Ring
02-1516

# 28 O-Ring
02-1516

MIXET

Hot or Cold OEM # 1198

2-7/8" Long

OEM # 1394

4" Long

MIXET
Pressure Balance

(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)

3-11/16"

4-5/16" 4-1/2"
4"

3-1/8"

2-7/8"

01/21/04



S-15

0-3057 31661C
(Chateau)

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

HC-163
(Shower)

HC-164
(Lavatory)

0513
S-814-3

BLUE 0515
S-814-3G

31661C
(Chateau)

0517
S-814-3A

0518   
S-814-3P

HC-163P

0519
S-764-3 MO96983

HL-56
(Kitchen)

31671C
(Legend)

Stem Extension
M010399

Cartridge
Genuine

Hot or Cold
Cartridge

BLUE

HL-56
(Kitchen)

31671C
(Legend)

Stem Extension
M010399

BULK GENUINEHot or Cold

BLUE

Repair Kit
0-3063

MOEN
OEM # 1225

MOEN
OEM # 1222
Posi-Temp

Stem Exension

MO96945

Repair Kit
0-3055

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Repair Kit 
0-3051

Cartridge
Genuine

MOEN
OEM # 1200

Brass

Hot or Cold
Cartridge

HC-169C

DE19804
BLUE 0521 

S-190-3

HC-169C

0523
S-191-3 DE32104

0-2071 0-2073 31641CHC-230

0533
S-811-3

0535
S-811-3G

Bottom 0-Ring

02-1414

Cap Assembly
DE19806

Top 0-Ring

02-1584

Cartridge

New Style

Cartridge

New Style

BLUE

Repair Kit (Old)
DE16208

Repair Kit (New)
DE28603

Cartridge
Genuine

Hot or Cold
Cartridge

BLUE

HL-123

Stem Extension
PP974-371A

DELTA
For Old 1500 Series & New 1700 Series

Pressure Balance

PRICE PFISTER
Avante

Seat & Spring
0-3019

CARDED

DELTA
OEM # 19804

Pressure Balance

BULK

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

Side Seal (New Style)
0-2069WN

Repair Kit
0-2055

Side Seal (Old Style)
0-2069W

HC-163
(Shower)

HC-164
(Lavatory)

3 13/16" 4 3/16"
4 3/16"

4"

4"

12/21/05

HC-163PL

4"

3-1/2"

Replaces

Lower Housing

Assembly

DE19805



S-16 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

01-4153HC-119

0553 BLUE 0-4031
SRA-3270 Hot

0573
0-4501

LK86125
(Lavatory)

LK85841
(Kitchen)

0583
S-350-3

Repair Kit
0-4043

# 16 O-Ring (Bottom)
02-1520

Cartridge

BLUE

# 38 O-Ring
02-1518

Hot or Cold

BLUE

GROHE
OEM # 07.000

NIBCO
OEM # 85844

Kitchen / Lavatory

# 18 O-Ring (Top)
02-1508

STERLING
Long Model

Cartridge

LK85841
(Kitchen)

BLUE

LK85555
(Tub or Shower)

0587
S-352-3

0591
S-750-4

Hot or Cold

BLUE BLUE

# 37 O-Ring (External)
02-1580

VALLEY II

# 16 O-Ring (Internal)
02-1520

NIBCO
OEM # 85843

Kitchen w/ Diverter

Hot or Cold Diverter

NIBCO
OEM # 85549
Tub & Shower

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

4 1/8"
3 13/16"

4"

4 3/4"

3 11/16"

3 5/8"

0-4057

S-351-3

0585

SRA-3270 Cold
0-4033

(NOT ACTUAL SIZE)

Ceramic

Cartridge

03-1739

01/11/08



S-17

WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

HC-172B

0593
0-4007

BLUE

V-4756

0595
0-4009 V-4750

0598
SP05-352

BulkCartridge

BLUE BLUE

GROHE/VALLEY/

NEWPORT BRASS
OEM # 41-03-1285

Tempress II

SPEAKMAN
OEM # G05-0352

Color-Temp

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

VALLEY
OEM # V-4268

Pressure Balance

Cartridge

MIMLSRNC HL-58HC-40

0623
S-1123-3

RED 0631
S-1177-1

0632  
S-1177-2

0663
GR47-041

0673  
GR47-025

HC-41 HL-58A

# 28 O-Ring
02-1516

# 0 Packing
02-1776

00 Bibb Washer
02-1100

Bibb Screw
XS-555

ColdHot

RED

Special Order
3/4 Valve

Cartridge
1/2 Valve

RED

HARDEN BRASS GROHE
Mixing Valve

Repair Kit
0-3061

MIXET

Hot or Cold

(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

3 7/8"

3 1/4"

6"
7" 6"

4"

04/01/04



S-18 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

STANDARD CARTRIDGES • FITS MANY MANUFACTURES

Height

2-1/4"
Diameter

1-3/8" (35mm)

A Style

35MM
0-3201
0310

EUROPEAN STYLE

Height

2-11/16"
Diameter

1-3/8" (35mm)

B Style

35MM
0-3203
0311

EUROPEAN STYLE

Height

3-1/8"
Diameter

1-9/16" (40mm)

Price Pfister

Same As

0-2083
0423   

B Style

40MM
0-3215
0316

EUROPEAN STYLE

Height

2-1/2"
Diameter

1-9/16" (40mm)

Same As

S-340-3
0305   

A Style

40MM
0-3213
0315

EUROPEAN STYLE

01/22/04

(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)



S-18A 

SHOWER

0-2099T 0-2099TT 0-2099TN

GOBO / DANZA

SHOWER CARTRIDGE

GOBO / DANZA

SHOWER CARTRIDGE

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

GOBO / DANZA

SHOWER CARTRIDGE

09/25/02



S-19 

Bibb Screw
XS-553

00 Bibb Washer
02-1100

Seat
X-24

# 35 Stem Washer
02-1842 (Nylon)

Repair Kit
0-2001

01-405210-24HL-76P
HL-77P

Cold

S-111-2
1052

Hot

S-111-1

00 Bibb Washer
02-1100

Bibb Screw
XS-553

# 35 Stem Washer
02-1842 (Nylon)

# 22 O-Ring
02-1506

HC-158
HC-159

8-32 01-4047

Crestmont

Cold

S-144-2
1032

Hot

S-144-1
1031

Cold

S-124-2
1022

Hot

S-124-1
1021

01-40748-32HC-158
HC-159

Bibb Screw
XS-553

# 16 O-Ring
02-1520

1/4 Bibb Washer
02-1104

Seat
X-19

# 38 Stem Washer
02-1844 (Fiber)

Repair Kit
0-4063

Hot or Cold

S-241-3S-241-2
Cold

ARTISTIC BRASS

HC-236
HC-237

01-405210-24HC-105
HC-106

# 35 Stem Washer
02-1842 (Nylon)

Seal
02-1784

# 16 O-Ring
02-1520

Repair Kit
0-2075

01-405210-24

Ceramic

Cold
Cartridge

S-150-2
Hot
Cartridge

S-150-1
1040

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-553

# 16 O-Ring
02-1520

Seat
X-19

Repair Kit
0-4063

HC-158
HC-159

8-32 01-4074

Cold

S-123-2
1012

Hot

S-123-1
1011

1/4 Bibb Washer
02-1104

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

GREEN

REPCAL

ARTISTIC BRASS

1043

REPCAL CRANE

PRICE PFISTER

10421041

# 16 O-Ring
02-1520

1051



S-20 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

GREEN

10-32 01-4052HL-70
HL-71

1091
S-139-1

1092
S-139-2

10-24 01-4052HL-70
HL-71

1101
S-140-1

1102
S-140-2

10-24 01-4052HL-70
HL-71

1111
S-128-1

1112
S-128-2

Seat
X-125

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

ColdHot

Seat
X-125

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

ColdHot

Seat
X-125

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

ARROWHEAD

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

# 35 Stem Washer
02-1842 (Nylon)

ARROWHEAD

Repair Kit
0-4063

Repair Kit
0-2001

Bibb Screw
XS-555

Repair Kit
0-2001

Cold

ARROWHEAD

Hot

10-24 01-4052

1181
S-112-1

1182
S-112-2

10-24 01-4067

1191
S-117-1

1192
S-117-2

10-32 01-4056

1241
S-151-1

1242
S-151-2

Seat
X-215

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

Hot

Seat
X-74

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 40 O-Ring (External)
02-1538

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-553

STERLING / KOHLER

# 16 O-Ring (Internal)
02-1520

Repair Kit
0-2001

Repair Kit
0-2001

WESTBRASS

Hot Cold Cold ColdHot

HARCRAFT



S-21

8-32 01-4075

GREEN

1251
S-114-1

1252
S-114-2

10-24 01-4080

1301
S-101-1

1302
S-101-2

8-32 01-4080

1311
S-129-1

1312
S-129-2

Seat
X-42

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1516

Bibb Screw
XS-555

ColdHot

Seat
X-215

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

ColdHot

Seat
X-39

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

WESTBRASS

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-553

# 35 Stem Washer
02-1842 (Nylon)

MANSFIELD

Repair Kit
0-2001

Repair Kit
0-2001

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-555

Repair Kit
0-4085

Cold

SAYCO

Hot

10-24 01-4087

1401
S-126-1 S-126-2

8-32 01-4087HC-278
HC-279

1411
S-137-1

1412
S-137-2

8-32 01-4087

1491
S-138-1

1492
S-138-2

Seat
X-75

# 10 O-Ring
02-1552

00 Bibb Washer
02-1100

Bibb Screw
XS-555

Cold Hot 

Seat
X-210

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

ColdHot

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

KOHLER
Shoreham

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

BURLINGTON
2 - 48 Right

Seat
X-40

Repair Kit
0-4083

Bibb Screw
XS-555

Repair Kit
0-4069

Cold

ELJER
Lusterline

Hot

1402

08/02/04 



S-22 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

GREEN

8-32 01-4076

1501
S-108-1

1502
S-108-2

10-24 01-4076HC-283
HC-284

1511
S-115-1

1512
S-115-2

10-28 01-4076

1561
S-125-1

1562
S-125-2

# 16 O-Ring
02-1520

# 30 Stem Washer
02-1562

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

ColdHot

Seat (1964-ON)
X-62

1/4 Bibb Washer
02-1104

Seat (1958-1964)
X-16

ColdHot

# 18 O-Ring
02-1556

# 35 Stem Washer
02-1842 (Nylon)

UNION GOPHER

# 16 O-Ring
02-1520

Bibb Screw
XS-555

00 Bibb Washer
02-1100

BRIGGS

Seat
X-17

Repair Kit
0-4087

Bibb Screw
XS-556

Seat
X-36

Cold

INDIANA BRASS

Hot

10-24 01-4082

1601
S-130-1

1602
S-130-2

10-24 01-4082

1605
S-152-1

1606
S-152-2

10-32 01-4082

1611
S-141-1

1612
S-141-2

Seat
X-39

0 Bibb Washer
02-1102

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-553

Hot

Seat
X-39

# 16 O-Ring
02-1520

# 16 O-Ring
02-1520

# 43 Stem Washer
02-1576

# 35 Stem Washer
02-1842 (Nylon)

0 Bibb Washer
02-1102

0 Bibb Washer
02-1102

UNIVERSAL - RUNDLE /
SEARS

Seat
X-212

Repair Kit
0-4083

Bibb Screw
XS-553

Repair Kit
0-4083

MILWAUKEE

Hot Cold Cold ColdHot

MILWAUKEE
New Style



S-23

8-32 01-4074

YELLOW

HC-158
HC-159

2003
S-229-3

10-24 01-4052 HC-236
HC-237

HC-105
HC-106

2023
S-219-3

2033   
S-219-3G

10-24 01-4052

2043
S-218-3

# 16 O-Ring
02-1520

Hot or Cold
Genuine

Hot or Cold

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

Hot or Cold

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

PRICE PFISTER

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-553

00 Bibb Washer
02-1100

PRICE PFISTER
Conversion Kit

Seat
X-200 / 201

Repair Kit
0-2001

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-553

CRANE

Hot or Cold

10-24 01-4052 HC-236
HC-237

HC-105
HC-106

2051
S-209-1

2052
S-209-2

10-24 01-4052 HC-236
HC-237

HC-105
HC-106

2063
S-320-3

10-24 01-4052 HC-305
HC-307

HC-300
HC-302

2065
S-242-3

2066
S-242-2

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-553

Hot or Cold

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

ColdHot or Cold

Seal
02-1784

# 35 Stem Washer
02-1842 (Nylon)

# 16 O-Ring
02-1520

PRICE PFISTER

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-553

PRICE PFISTER
Hydro-Seal

New / Quarter Turn

Repair Kit
0-2075

Repair Kit
0-2001

Repair Kit
0-2001

Cold

PRICE PFISTER

Hot

"DISCONTINUED"



S-24 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

YELLOW

2071
S-220-5

10-24 01-4052 HC-236
HC-237

HC-105
HC-106

2072
S-220-2

2073
S-220-3

2075
S-243-3

Hot or ColdCold
Lever Only

# 15 O-Ring
02-1520

Seal
02-1784

# 35 Stem Washer
02-1842 (Nylon)

Hot or Cold

PRICE PFISTER
Hydro-Seal

PRICE PFISTER
Ceramic

Repair Kit
0-2075

PRICE PFISTER
Original

Old Style

Hot or Cold

10-24 01-4052 HC-236
HC-237

HC-105
HC-106

2083
S-223-3

10-24 01-4052

2101
S-143-1

2102
S-143-2

10-24 01-4052

2105
S-210-1

2106
S-210-2

Seat
X-22

# 16 O-Ring
02-1520

Bibb Washer
02-1888

# 35 Stem Washer
02-1842 (Nylon)

Hot

00 Bibb Washer
02-1100

Bibb Screw
XS-553

Bibb Screw
XS-555

PRICE PFISTER

00 Bibb Washer
02-1100

Seat
X-24

Repair Kit
0-2005

PRICE PFISTER

Hot or Cold Cold ColdHot

PRICE PFISTER



S-25

10-24 01-4052

YELLOW

2107
S-226-1

2108
S-226-2

10-24 01-4064

2123
S-116-3

10-24 01-4064

2135
S-134-1

2136  
S-134-2

00 Bibb Washer
02-1100

Bibb Screw
XS-555

Hot or Cold

Repair Kit
0-4001

# 35 Stem Washer
02-1842 (Nylon)

# 18 O-Ring (Bottom)
02-1556

ColdHot

Bibb Screw
XS-553

HARCRAFT

Bibb Screw
XS-553

00 Bibb Washer
02-1100

Seat
X-74

# 24 Stem Washer
02-1862 (Nylon)

HARCRAFT

00 Bibb Washer
02-1102

# 16 O-Ring (Top)
02-1520

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Seat
X-24

Cold

PRICE PFISTER

Hot

10-32

2141
S-321-1

2142
S-321-2

10-24 01-406703-1639

2151
S-214-1

2152
S-214-2

10-24 01-406703-1639

2161
S-215-1

2162
S-215-2

Seat
X-125

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

ColdHot

Seat
X-50

# 21 O-Ring
02-1504

ColdHot

Seat
X-50

# 21 O-Ring
02-1504

AMERICAN STANDARD
W/O Bushing

Stem Washer
02-1794

Bushing
0-5004

Stem Washer
02-1794

AMERICAN STANDARD
Aqua Seal

W/ Bushing

Repair Kit
0-1029

Repair Kit
0-1029

Bushing
0-5004

Repair Kit
0-4063

Cold

ARROWHEAD

Hot

03/07/01



S-26 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

YELLOW

10-24 01-4067

2171
S-204-1

2172
S-204-2

10-32 01-4056 03-1749HL-90

2173
S-133-1

2174
S-133-2

10-32 01-4056 HC-90HL-90

2211
S-121-1

2212
S-121-2

Seat
X-50

0 Bibb Washer
02-1102

# 31 O-Ring
02-1522

Bushing
AS855-17

Bibb Screw
XS-555

ColdHot ColdHot

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

STERLING
Shower Stall

00 Bibb Washer
02-1100

STERLING

Repair Kit
0-4051

Bibb Screw
XS-555

Repair Kit
0-1031

Cold

AMERICAN STANDARD

Hot

8-32 01-4056HL-90

2215
S-142-1

2216
S-142-2

10-32 01-4056 HL-88HL-90

2221
S-216-1

2222
S-216-2

10-32 01-4056HL-90

2231
S-224-1

2232
S-224-2

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

1/4 Bibb Washer
02-1102

Bibb Screw
XS-555

Hot

Seat
X-26

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 16 O-Ring
02-1520

Bibb Screw
XS-555

00 Bibb Washer
02-1100

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-555

STERLING

Seat
X-29

Repair Kit
0-4051

Seat
X-26

STERLING

Hot Cold Cold ColdHot

STERLING

(OLD STYLE)

03/28/00



S-27

XS-555 01-4056

YELLOW

HL-90

2241
S-318-1

2242
S-318-2

10-32 01-4056HL-90

2251
S-319-1

2252
S-319-2

Seat
X-26

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-555

ColdHot

Seat
X-26

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

STERLING

Repair Kit
0-4051

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-555

Repair Kit
0-4051

Cold

STERLING

Hot

2268
S-205-1

2269   
S-205-2

10-24 01-4075HC-153
HC-154

2271
S-107-1

2272
S-107-2

10-24 01-4075HC-153
HC-154

2281
S-207-1

2282
S-207-2

ColdHot

Seat
X-61

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

ColdHot

Seat
X-61

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

GERBER

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-555

# 35 Stem Washer
02-1842 (Nylon)

GERBER

Repair Kit
0-4087

Repair Kit
0-4087

Bibb Screw
XS-555

Cold

Commercial Faucet

Hot

10-32 01-4056HL-90

2263
S-326-3

# 16 O-Ring
02-1520

Bibb Screw
XS-555

00 Bibb Washer
02-1100

Seat
X-26

STERLING

Hot or Cold



S-28 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

YELLOW

8-32 01-4075

2301
S-325-1

2302
S-325-2

01-4075HC-264
HC-265

2305
S-156-1

2307
S-156-2

01-4075

2317
S-153-1

2318
S-153-2

Seat
X-61

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-553

ColdHot

Washerless Seal
02-1900

ColdHot

GERBER
Ceramic

AUBURN BRASS
Ceramic

# 38 Stem Washer
02-1844 (Fiber)

Repair Kit
0-4087

Cold

GERBER

Hot

8-32 01-4080 HC-137
HC-138

HC-139

2321
S-119-1

2322
S-119-2

8-32 01-4080 HC-137
HC-138

HC-139

2331
S-120-1

2332
S-120-2

8-32 01-4080 HC-137
HC-138

HC-139

2341
S-122-1

2342
S-122-2

Seat
X-77

00 Bibb Washer
02-1100

# 17 O-Ring
02-1560

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

Hot
18 Thread

Seat
X-77

00 Bibb Washer
02-1100

# 17 O-Ring
02-1560

Seat
X-77

00 Bibb Washer
02-1100

# 17 O-Ring
02-1560

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

# 35 Stem Washer
02-1842 (Nylon)

STREAMWAY

Repair Kit
0-4061

Repair Kit
0-4061

Bibb Screw
XS-555

Repair Kit
0-4061

STREAMWAY

Hot
18 Thread

Cold
18 Thread

Cold
18 Thread

Cold
20 Thread

Hot
20 Thread

STREAMWAY



S-29

8-32 01-4080 HC-139

YELLOW

HL-105
HL-106

2351
S-102-1

2352
S-102-2

8-32 01-4080 HC-131
HC-132

HL-105
HL-106

2353
S-445-3

8-32 01-4080 HC-131
HC-132

HC-137
HC-138

2355
S-447-3

HC-137
HC-138

Seat
X-77

00 Bibb Washer
02-1100

# 17 O-Ring
02-1560

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

Hot or Cold

20 Thread

HC-137
HC-138

Seat
X-77

00 Bibb Washer
02-1100

# 37 O-Ring
02-1580

Hot or Cold

18 Thread

Seat
X-77

Seat
X-77

# 37 O-Ring (External)
02-1580

PHOENIX / STREAMWAY

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

00 Bibb Washer
02-1100

PHOENIX

# 17 O-Ring (Internal)
02-1560

Repair Kit
0-4061

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-555

Repair Kit
0-4061

Cold
20 Thread

AMERICAN BRASS /
STREAMWAY  

Hot
20 Thread

HC-133

2384
S-160-4

10-32 01-4087HC-276

2401
S-106-1

2402
S-106-2

10-32 01-4087HC-276

2411
S-106-1N

2412
S-106-2N

# 30 O-Ring (External)
02-1562

ColdHot

Seat
X-32

0 Bibb Washer
02-1102

# 16 O-Ring
02-1520

ColdHot

Seat
X-32

0 Bibb Washer
02-1102

# 16 O-Ring
02-1520

CENTRAL BRASS

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

# 35 Stem Washer
02-1842 (Nylon)

CENTRAL BRASS
Lavatory

New Style

Repair Kit
0-4083

Repair Kit
0-4083

Bibb Screw
XS-555

# 13 O-Ring (Internal)
02-1404

STREAMWAY

Diverter

11/21/02



S-30 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

YELLOW

10-32 01-4087HC-276

2415
S-155-1

2416
S-155-2

10-24 01-4087

2471
S-127-1

2472
S-127-2

10-24 01-4087

2483
S-225-3

ColdHot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

Hot or Cold

Seat
X-8

0 Bibb Washer
02-1102

# 16 O-Ring
02-1520

AMERICAN STANDARD

# 35 Stem Washer
02-1842 (Nylon)

AMERICAN STANDARD

Repair Kit
0-4083

Seat
X-8

Bibb Screw
XS-555

Cold

CENTRAL BRASS
Ceramic

Hot

10-24 01-4087 HC-267HC-266

2493
S-211-3

10-24 01-4087HC-276

2571
S-208-1

2572
S-208-2

10-24 01-4087

2581
S-312-1

2582
S-312-2

HC-268 HC-269

Seat
X-79

Seal
02-1798

Hot

# 18 O-Ring
02-1556

# 35 Stem Washer
02-1842 (Nylon)

# 18 O-Ring
02-1556

# 35 Stem Washer
02-1842 (Nylon)

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

1/4 Bibb Washer
02-1104

MILWAUKEE

Seat
X-39

Seat
X-39

Bibb Screw
XS-553

Repair Kit
0-1039

AMERICAN STANDARD
Cadet

Hot or Cold Cold ColdHot

MILWAUKEE

03/13/03



S-31

8-32 01-4087

YELLOW

2591
S-438-1

2592
s-438-2

10-24 01-4087

2601
S-132-1

2602
S-132-2

10-24 01-4087

2611
S-145-1

2612
S-145-2

Bibb Washer
02-1106

Bibb Screw
XS-553

ColdHot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

ColdHot

Bibb Screw
XS-553

WESTBRASS
Wall Mount

BURLINGTON

1/4 Bibb Washer
02-1104

Seat
X-215

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Seat
X-39

Cold

MILWAUKEE

Hot

10-24 01-4068

2621
S-206-1

2622
S-206-2

10-24 01-4072

2631
S-131-1

2632
S-131-2

8-32 01-4072

2635
S-212-1

2636
S-212-2

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

ColdHot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

00 Bibb Washer
02-1100

Bibb Screw
XS-553

SPEAKMAN SPEAKMAN
Kent

Seat
X-34

Seat
X-45

Seat
X-58

Cold

AMERICAN STANDARD

Hot

02/15/06



S-32 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

YELLOW

2651
S-163-1

2652
S-163-2

10-28 01-4076HC-174
HC-175

2701
S-228-1

2702
S-228-2

10-28 01-4076HC-174
HC-175

2711
S-217-1

2712
S-217-2

ColdHot

# 35 Stem Washer
02-1842 (Nylon)

Bibb Washer
02-1792

ColdHot

Seat
X-17

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

BRIGGS
EZ Close

# 35 Stem Washer
02-1842 (Nylon)

BRIGGS

Repair Kit
0-2001

# 8 O-Ring
02-1508

Bibb Screw
XS-553

Cold

CENTRAL
Ceramic

Hot

10-24 01-4976

2721
S-309-1

2722
S-309-2

10-24 01-4082

2751
S-213-1

2752
S-213-2

10-24 01-4082

2761
S-322-1

2762
S-322-2

0 Bibb Washer
02-1102

Bibb Screw
XS-555

Hot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

# 41 O-Ring
02-1524

# 31 O-Ring
02-1522

1/4 Bibb Washer
02-1104

UNIVERSAL - RUNDLE /
SEARS / MILWAUKEE

Seat
X-40

Seat
X-40

Bibb Screw
XS-553

Seat
X-16

UNION GOPHER

Hot Cold Cold ColdHot

UNIVERSAL - RUNDLE

01/02/01



S-33

8-32 01-4082

YELLOW

2771
S-327-1

2772
S-327-2

2804
S-135-3

01-4095

2851
S-443-3

# 18 O-Ring
02-1556

# 42 Stem Washer
02-1826 (Fiber)

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

Hot or Cold

# 42 Stem Washer
02-1826 (Fiber)

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

Hot or Cold

# 40 O-Ring (External)
02-1538

PRICE PFISTER GROHE
OEM # 07146

Classic

# 24 O-Ring (Internal)
02-1548

# 1 Stem Packing
02-1700

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Seat
X-40

Cold

UNIVERSAL - RUNDLE /
SEARS / ELKAY

Hot

2879
S-165-1

2880
S-165-2

2881
S-166-1

2882
S-166-2

2883
S-167-1

2884
S-167-2

ColdHot ColdHot

MILWAUKEE
Ceramic

MILWAUKEE
Ceramic

Cold

MILWAUKEE
Ceramic

Hot

N
O

T
 A

V
A

IL
A

B
L

E

N
O

T
 A

V
A

IL
A

B
L

E

8/21/98



S-34 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

YELLOW

2903
S-158-3

2905
S-251-3

BULK Hot or Cold

Seal Kit
AS30741-07

CARDEDBULK Hot or Cold

Seal Kit
AS30741-07

AMERICAN STANDARD
Amarilis

Lav & Widespread

AMERICAN STANDARD
Amarilis

Lav & Widespread

AMERICAN STANDARD
Europa

Hot or Cold

2910
S-255-1

2911   
S-255-2

2907
S-253-3

BULK Hot or Cold

Seal Kit
AS30741-07

Seal Kit
AS30741-07

AMERICAN STANDARD
Amarilis

Shower Stem

GOBO / DANZA
Ceramic

Hot Cold CARDED

AMERICAN STANDARD
Amarilis

Shower Stem

AS28610-07 AS28610-07

"DISCONTINUED"

09/17/02

AS28628-07 AS28628-07

NEW STYLEOLD STYLE

OLD STYLE NEW STYLE



S-35

8-32 01-4074

ORANGE

HC-158
HC-159

3001
S-418-1

3002
S-418-2

8-32 01-4074HC-158
HC-159

3011
S-404-1

3012
S-404-2

8-32 01-4074

3021
S-405-1

3022
S-405-2

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

ColdHot

# 20 O-Ring
02-1530

# 39 Cork Gasket
02-1760

ColdHot

# 20 O-Ring
02-1530

# 39 Cork Gasket
02-1760

CRANE

Fiber Disc
02-1758

Seat Washer
02-1756

Fiber Disc
02-1758

CRANE

Repair Kit
0-1007

Repair Kit
0-1007

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Seat Washer
02-1756

Seat
X-11

Cold

CRANE
Nusleeve

Hot

01-4074

3033
S-616-3

01-4074

3043
S-624-3

10-24 01-4052 HC-236
HC-237

HC-105
HC-106

3101
S-411-1

3102
S-411-2

Fiber Disc
02-1758

Seat Washer
02-1756

# 39 Cork Gasket
02-1760

Hot or Cold

Fiber Disc
02-1758

Seat Washer
02-1756

# 39 Cork Gasket
02-1760

ColdHot

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

CRANE

# 28 Stem Washer
02-1838 (Nylon)

PRICE PFISTER

Repair Kit
0-2015

# 20 O-Ring
02-1530

Bibb Screw
XS-553

# 20 O-Ring
02-1530

CRANE
Majic Close

Hot or Cold

(NOT ACTUAL SIZE)

2 13/16"



S-36 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

10-24 01-4052

3113
S-429-3

10-24 01-4052

3123
S-136-3

10-24 01-4052

3133
S-534-3

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1838 (Nylon)

Bibb Screw
XS-553

Hot or Cold

00 Bibb Washer
02-1100

Bibb Screw
XS-553

Hot or Cold

# 19 Stem Washer
02-1850 (Fiber)

Brass Washer
02-1662

PRICE PFISTER

Bibb Washer
02-1108

PRICE PFISTER

# 1 Stem Packing
02-1710

Seat
X-24

Bibb Screw
XS-553

Repair Kit
0-2015

PRICE PFISTER

Hot or Cold

10-24 01-4052

3141
S-605-1

3142
S-605-2

10-24 01-4052

3151
S-622-1

3152
S-622-2

10-24 01-4052 03-1623HC-253

3193
S-536-3

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1838 (Nylon)

Bibb Screw
XS-553

Hot

0 Bibb Washer
02-1102

Bibb Screw
XS-553

Seat
X-216

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 41 Stem Washer
02-1806 (Fiber)

PRICE PFISTER
Mobile Home

Repair Kit
0-1197

Seat
X-24

Bibb Screw
XS-553

Repair Kit
0-2015

PRICE PFISTER

Hot Cold Cold Hot or Cold

PRICE PFISTER

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

2 13/16"
2 3/4"



S-37

10-24 01-4064

ORANGE

03-1665

3203
S-518-3

10-24 01-4064

3213
S-626-3

10-24 01-4052

3221
S-431-1

3222
S-431-2

Repair Kit
0-4001

# 24 Stem Washer
02-1862 (Nylon)

Bibb Screw
XS-553

# 16 O-Ring (Internal)
02-1520

Seat
X-74

00 Bibb Washer
02-1100

Hot or Cold

Seat
X-74

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

ColdHot

Bibb Screw
XS-555

HARCRAFT

# 24 Stem Washer
02-1862 (Nylon)

Bibb Screw
XS-555

MUELLER

0 Bibb Washer
02-1102

Repair Kit
0-4001

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

# 15 O-Ring (External)
02-1534

HARCRAFT

Hot or Cold

10-24 01-4052

3225
S-435-1

3226
S-435-2

10-24 01-4064

3227
S-436-1

3228
S-436-2

10-24 01-4052

3231
S-539-1

3232
S-539-2

Bibb Screw
XS-555

ColdHot

Bibb Screw
XS-555

ColdHot

Bibb Screw
XS-553

PUBCO UNIVERSAL - RUNDLE

1/4 Bibb Washer
02-1104

0 Bibb Washer
02-1102

1/4 Bibb Washer
02-1104

Cold

FISHER

Hot



S-38 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

10-24 01-4064

3233
S-535-3

10-24 01-4064

3235
S-310-1

3236
S-310-2

10-24 01-4064

3237
S-420-1

3238
S-420-2

Bibb Screw
XS-553

ColdHot

Bibb Screw
XS-553

ColdHot

Bibb Screw
XS-553

HARCRAFT ELK

1/4 Bibb Washer
02-1104

00 Bibb Washer
02-1100

0 Bibb Washer
02-1102

MUELLER

Hot or Cold

10-24 01-4067

3251
S-524-1

3252
S-524-2

10-24 01-4067

3261
S-525-1

3262
S-525-2

10-24 01-4067

3265
S-315-1

3266
S-315-2

# 21 O-Ring
02-1504

Bibb Washer
02-1794

Bushing
AS855-17

Hot

# 31 O-Ring
02-1522

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

0 Bibb Washer
02-1102

Bibb Screw
XS-555

AMERICAN STANDARD

Seat
X-2

Seat
X-50

Seat
X-50

AMERICAN STANDARD

Hot Cold Cold ColdHot

AMERICAN STANDARD
Renu



S-39

10-32 01-4067

ORANGE

3271
S-401-1

3272
S-401-2

10-24 01-4067 S-104-1
S-104-2

3281
S-503-1

3282
S-503-2

10-32 01-4056 03-1749HL-90

3301
S-437-1

3302
S-437-2

0 Bibb Washer
02-1102

Bibb Screw
XS-553

ColdHot

Bibb Screw
XS-553

ColdHot

SRS-3340-1

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Nylon)

AMERICAN STANDARD

1/4 Bibb Washer
02-1104

STERLING

Seat
X-26

0 Bibb Washer
02-1102

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-555

Seat
X-58

Cold

AMERICAN STANDARD

Hot

10-32 01-4056

3305
S-415-1

3307
S-415-2

10-32 01-4056

3311
S-416-1

3312
S-416-2

10-32 01-4056

3315
S-433-1

3316
S-433-2

Bibb Screw
XS-553

ColdHot

00 Bibb Washer
02-1100

Bibb Screw
XS-558

ColdHot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

STERLING STERLING

Seat
X-26

Seat
X-26

1/4 Bibb Washer
02-1104

Cold

STERLING

Hot

03/28/00



S-40 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

10-32 01-4056

3317
S-514-1

3318
S-514-2

10-32 01-4056

3321
S-300-1

3322
S-300-2

8-32 01-4056

3325
S-502-1

3326
S-502-2

Bibb Screw
XS-555

ColdHot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

ColdHot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

AMERICAN KITCHEN AMERICAN KITCHEN

Seat
X-58

Seat
X-58

Seat
X-26

Cold

STERLING

Hot

10-32 01-4056

3327
S-537-1

3328
S-537-2

8-32 01-4075HC-57MB

3351
S-413-1

3352
S-413-2

10-24 01-4075HL-101

3355
S-407-1

3356
S-407-2

# 22 O-Ring
02-1506

Hot

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

00 Bibb Washer
02-1100

0 Bibb Washer
02-1102

Bibb Screw
XS-553

GERBER

Seat
X-61

Seat
X-42

Seat
X-213

DISHMASTER

Hot Cold Cold ColdHot

SAYCO

Bibb Washer
02-1106



S-41

10-24 01-4075

ORANGE

3361
S-408-1

3362
S-408-2

10-24 01-4075

3365
S-530-1

3366
S-530-2

10-24 01-4087HC-290
HC-291

3401
S-419-1

3402
S-419-2

0 Bibb Washer
02-1102

Bibb Screw
XS-553

ColdHot

Bibb Screw
XS-553

ColdHot

# H Packing
02-1706

# 35 Stem Washer
02-1842 (Nylon)

GERBER

1/4 Bibb Washer
02-1104

ELJER

Seat
X-29

Bibb Washer
02-1106

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-555

Seat
X-61

Cold

GERBER

Hot

10-24 01-4087HC-295

3405
S-509-1

3406
S-509-2

10-24 01-4087HC-290
HC-291

3411
S-620-1

3412
S-620-2

8-32 01-4087HC-278

3415
S-528-1

3416
S-528-2

# 10 Packing
02-1722

Stem Washer
02-1550

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

ColdHot

# 11 Packing
02-1724

# 49 O-Ring
02-1550

ColdHot

# 16 O-Ring
02-1520

# 28 Gland Washer
02-1838 (Nylon)

ELJER

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

00 Bibb Washer
02-1100

KOHLER

Seat
X-210

Seat
X-29

Bibb Screw
XS-555

Seat
X-29

Cold

ELJER

Hot

(NOT ACTUAL SIZE)

2 13/16"



S-42 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

8-32 01-4087HC-278
HC-279

3417
S-720-1

3418
S-720-2

10-32 01-4087HC-276

3421
S-527-1

3422
S-527-2

10-24 01-4087

3425
S-311-1

3426
S-311-2

# 16 O-Ring
02-1520

# 30 O-Ring
02-1562

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

00 Bibb Washer
02-1100

Bibb Screw
XS-555

CENTRAL BRASS
Super Seat

DICK BROTHERS

Seat
X-39

# 16 O-Ring
02-1520

Seat
X-210

Cold

KOHLER

Hot

10-32 01-4087

3427
S-313-1

3428
S-313-2

8-32 01-4087

3431
S-412-1

3432
S-412-2

10-24 01-4087

3435
S-421-1

3436
S-421-2

0 Bibb Washer
02-1102

Bibb Screw
XS-555

Hot

Bibb Screw
XS-553

0 Bibb Washer
02-1102

Bibb Screw
XS-555

AMERICAN STANDARD

Seat
X-8

Bibb Washer
02-1108

Seat
X-32

CENTRAL BRASS

Hot Cold Cold ColdHot

REPCAL

(NOT ACTUAL SIZE)

2 15/16"



S-43

8-32 01-4087

ORANGE

3441
S-504-1

3442
S-504-2

8-32 01-4087

3445
S-512-1

3446
S-512-2

10-24 01-4087

3447
S-623-1

3448
S-623-2

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

0 Bibb Washer
02-1102

Bibb Screw
XS-553

SCHIABLE / YOUNGSTOWN AMERICAN STANDARD

Seat
X-1

Seat
X-8

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Seat
X-8

Cold

AMERICAN STANDARD

Hot

8-32 01-4060 KO22947
KO22948

HC-350
HC-351

3501
S-430-1

3502
S-430-2

8-32 01-4060 KO22947
KO22948

HC-350
HC-351

3511
S-521-1

3512
S-521-2

8-32 01-4060

3531
S-306-1

3532
S-306-2

Seat
X-66

# 19 O-Ring
02-1514

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

Seat
X-66

# 19 O-Ring
02-1514

ColdHot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

KOHLER

0 Bibb Washer
02-1102

Bibb Screw
XS-555

KOHLER

Seat
X-5

Repair Kit
0-4071

Repair Kit
0-4071

Cold

KOHLER

Hot

(NOT ACTUAL SIZE)

2 13/16"



S-44 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

8-32 01-4060

3535
S-316-1

3536
S-316-2

8-32 01-4060 S-109-1
S-109-2

3541
S-409-1

3542
S-409-2

8-32 01-4060 S-109-1
S-109-2

3545
S-410-1

3546
S-410-2

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

00 Bibb Washer
02-1100

Bibb Screw
XS-555

ColdHot

00 Bibb Washer
02-1100

Bibb Screw
XS-555

KOHLER KOHLER

Seat
X-6

Seat
X-5

Seat
X-5

Cold

KOHLER

Hot

8-32 01-4060 S-109-1
S-109-2

3547
S-510-1

3548
S-510-2

10-24 01-4060

3551
S-520-1

3552
S-520-2

10-24 01-4062

3571
S-301-1

3572
S-301-2

Bibb Screw
XS-555

Hot

Bibb Screw
XS-553

# 15 Packing
02-1728

Bibb Screw
XS-553

00 Bibb Washer
02-1100

AMERICAN STANDARD

Seat
X-1

Bibb Washer
02-1106

00 Bibb Washer
02-1100

KOHLER

Hot Cold Cold ColdHot

CALCO



S-45

10-24 01-4062

ORANGE

3581
S-440-1

3582
S-440-2

10-24 01-4072HL-32

3591
S-432-1

3592
S-432-2

10-32 01-4072 S-110-1
S-110-2

HL-32

3595
S-531-1

3596
S-531-2

Bibb Screw
XS-553

ColdHot

Bibb Screw
XS-553

ColdHot

Bibb Screw
XS-555

T & S BRASS T & S BRASS

1/4 Bibb Washer
02-1104

1/4 Bibb Washer
02-1104

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

0 Bibb Washer
02-1102

Cold

AMERICAN STANDARD

Hot

10-32 01-4072HL-32

3597
S-533-1

3598
S-533-2

10-24 01-4085 HL-33

3611 
S-601-1 

3612   
S-601-2 

10-24 01-4085HL-33

3613
S-601-1C

3614
S-601-2C

Bibb Screw
XS-555

Cold Hot 

Seat
CH1-27

Packing
02-2370

Retainer
CH1-22

ColdHot

CHICAGO

Stem Nut
CH1-18

NU Repair Kit

0-1011

Seat Washer
02-1764

CHICAGO
CERAMIC

Repair Kit
0-1003

Bibb Washer
02-1108

Cold

T & S BRASS

Hot

(NOT ACTUAL SIZE)

2 3/4"

01/11/06



S-46 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

10-24 01-4085HL-33

3615
S-602-1

3616
S-602-2

3619
S-526-3

8-32 01-4076

3651
S-304-1

3652
S-304-2

Seat
CH1-27

Packing
02-2370

Retainer
CH1-22

Stem Nut
CH1-18

Seat Washer
02-1764

Hot or Cold ColdHot

00 Bibb Washer
02-1100

Bibb Screw
XS-555

ACORN BRIGGS

Seat
X-17

Repair Kit
0-1003

Cold

CHICAGO

Hot

10-24 01-4076

3655
S-428-1

3656
S-428-2

8-32 01-4076

3657
S-506-1

3658
S-506-2

10-32 01-4076

3661
S-507-1

3662
S-507-2

# 15 O-Ring
02-1520

# 2 Dome Packing
02-2352

Bibb Washer
02-1103

Bibb Screw
XS-553

Hot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

0 Bibb Washer
02-1102

Bibb Screw
XS-558

BRIGGS

Seat
X-17L

Seat
X-17

Seat
X-39

BELVEDERE

Hot Cold Cold ColdHot

BRIGGS



S-47

10-28 01-4076

ORANGE

3665
S-508-1

3666
S-508-2

10-28 01-4076HC-174
HC-175

3667
S-529-1

3668
S-529-2

10-24 01-4082

3701
S-423-1

3702
S-423-2

1/4 Bibb Washer
02-1104

Bibb Screw
XS-556

ColdHot

# 16 O-Ring
02-1520

Repair Kit
0-2001

# 35 Stem Washer
02-1842 (Nylon)

ColdHot

# 31 O-Ring (Top)
02-1522

# 15 O-Ring (Bottom)
02-1534

BRIGGS

00 Bibb Washer
02-1100

Bibb Screw
XS-556

Bibb Washer
02-1102

UNIVERSAL - RUNDLE /
SEARS / ELKAY

# 16 O-Ring (Internal)
02-1520

Seat
X-17

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Bibb Screw
XS-553

Seat
X-18

Cold

BRIGGS

Hot

10-24 01-4082

3711
S-434-1

3712
S-434-2

8-32 01-4082

3715
S-621-1

3716
S-621-2

3801
S-462-1

3802
S-462-2

0 Bibb Washer
02-1102

Bibb Screw
XS-555

ColdHot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

Cold
Cartridge

Hot
Cartridge

UNIVERSAL - RUNDLE /
SEARS

ARTISTIC BRASS
Ceramic

Seat
X-40

Seat
X-40

Cold

UNIVERSAL - RUNDLE / 
SEARS

Hot

9/8/98



S-48 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

ORANGE

01-4095

3805
S-444-3

3807
S-463-1

3808
S-463-2

3809
S-538-3

# 40 O-Ring
02-1538

Cold
Cartridge

Hot
Cartridge

Hot or Cold

Bibb Screw
XS-553

HARDEN BRASS
Ceramic

PRICE PFISTER
Log Lighter

Bibb Washer
02-1072

GROHE
OEM # 45.140

Ceramic

Hot or Cold
Cartridge

3821
S-417-1

3822
S-417-2

3823
S-168-1

3824
S-168-2

KO-78125

Spline Adapter 

Bibb Screw
XS-503

# 37 O-Ring (External)
02-1580

Hot

# 46 O-Ring
02-1558

# 4 O-Ring (Internal)
02-1628

KOHLER / STERLING
OEM # 30430

Ceramic

Hot
Cartridge

Cold
Cartridge

Cold

KOHLER
Ceramic
Cygnet

10/24/00



S-49

10-24 01-4052

PURPLE

4101
S-448-1

4102
S-448-2

10-24 01-4052

4113
S-606-3

10-24 01-4052 03-1623HC-253

4123
S-540-3

Hot or Cold Hot or Cold

PRICE PFISTER PRICE PFISTER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

PRICE PFISTER

Hot

Repair Kit
0-2075

Seal
02-1784

# 40 O-Ring (External)
02-1538

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

Seat
X-216

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1838 (Nylon)

Bibb Screw
XS-553

# 43 Stem Washer
02-1822 (Nylon)

Repair Kit
0-1197

Repair Kit
0-2015

Bibb Screw
XS-553

# 16 O-Ring (Internal)
02-1520



S-50 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

10-24 01-4052 03-1623HC-253

4134
S-726-4

10-24 01-4052 03-1623HC-253

4144
S-730-4

10-24 01-4064

4153
S-728-3

Diverter Hot or Cold

PRICE PFISTER HARCRAFTMONTEREY BRASS

Diverter

Seat
X-216

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

Nylon Bibb 
02-1752

# 48 Stem Washer
02-1824 (Fiber)

# 31 Diverter Washer
02-1808 (Nylon)

Bibb Screw
XS-553

Seat
X-216

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

Seat
X-74

00 Bibb Washer
02-1100

Bibb Screw
XS-555

# 24 Stem Washer
02-1862 (Nylon)

# 31 Diverter Washer
02-1808 (Nylon)

Nylon Bibb 
02-1752

# 48 Stem Washer
02-1824 (Fiber)

Bibb Screw
XS-553

# 16 O-Ring
(Internal Top)

02-1520

Repair Kit
0-4001

Repair Kit
0-1199

# 15 O-Ring
(External Bottom)

02-1534

Repair Kit
0-1199



S-51

10-24 01-4064 03-1665

PURPLE

HC-86
HC-87

4163
S-903-3

8-32

4198
S-727-3

8-32

4199
S-724-3

Hot or Cold Hot or Cold

LOGAN LOGAN

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

HARCRAFT

Hot or Cold

Seat
X-74

00 Bibb Washer
02-1100

Bibb Screw
XS-555

# 24 Stem Washer
02-1862 (Nylon)

# 16 O-Ring
(Internal Top)

02-1520

# 15 O-Ring
(External Bottom)

02-1534

# 43 Stem Washer
02-1822 (Nylon)

Bibb Screw
XS-555

3/8L Bibb Washer
02-1112

# 43 Stem Washer
02-1822 (Nylon)

Bibb Screw
XS-555

3/8L Bibb Washer
02-1112

# 16 Stem Packing
02-1730

# 16 Stem Packing
02-1730

Repair Kit
0-4001



S-52 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

10-24 01-4067 S-323-1
S-323-2

4201
S-425-1

4202
S-425-2

10-24 01-4067 S-323-3

4203
S-425-3

10-24 01-4067

4205
S-600-3

Hot or Cold Hot or Cold

AMERICAN STANDARD
Single Acme

AMERICAN STANDARD

Cold

AMERICAN STANDARD
Double Acme

Hot

Bibb Screw
XS-553

3/8 Bibb Washer
02-1110

0 Bibb Washer
02-1102

Bibb Screw
XS-553

Seat
X-1

3/8 Bibb Washer
02-1110

3/8 Bibb Washer
02-1110



S-53

10-24 01-4067 S-104-1
S-104-2

PURPLE

4207
S-701-1

4208
S-701-2

10-24 01-4067

4211
S-718-1

4212
S-718-2

10-24 01-4067

4221
S-719-1

4222
S-719-2

ColdHot ColdHot

AMERICAN STANDARD AMERICAN STANDARD

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

AMERICAN STANDARD

Hot

Bibb Screw
XS-555

# 31 O-Ring
02-1522

Bibb Screw
XS-555

0 Bibb Washer
02-1102

# 21 O-Ring
02-1504

Washer
02-1794

Seat
X-50

Seat
X-50

0 Bibb Washer
02-1102



S-54 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

10-24 01-4056

4251
S-532-1

4252
S-532-2

8-32 01-4056HL-88

4261
S-721-1

4262
S-721-2

8-32 01-4056

4271
S-609-1

4272
S-609-2

ColdHot ColdHot

STERLING SCHIABLE

Cold

STERLING

Hot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Nylon)

Bibb Washer
02-1106

Bibb Screw
XS-555

0 Bibb Washer
02-1102

Bibb Screw
XS-555

Seat
X-58

Seat
X-26

Seat
X-26



S-55

10-24 01-4080 HC-137
HC-138

PURPLE

HC-131
HC-132

4301
S-702-3

10-24 01-4080 HC-137
HC-138

HC-139

4303
S-703-3

8-32 01-4080HC-133

4304
S-613-4

03-1617

Hot or Cold

03-1617

Diverter

STREAMWAY STREAMWAY

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

PHOENIX / STREAMWAY
Tub & Shower

Hot or Cold
20 Thread

Seat
X-77

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

Seat
X-77

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Nylon)

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

# 16 O-Ring
02-1520

Repair Kit
0-2001

Repair Kit
0-2001



S-56 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

01-4080HC-133

4306
S-611-4

01-4080HC-133

4308
S-612-4

HC-133

4309
S-614-4

Diverter Diverter

PHOENIX MOENSTREAMWAY

Diverter

Packing Nut
RV41B-1

Packing Nut
RV41B-1

Packing Nut
RV41B-1

# 13 O-Ring
02-1404

# 13 O-Ring
02-1404

# 13 O-Ring
02-1404

Brass

02/23/05



S-57

10-24 01-4087

PURPLE

HC-293

4341
S-722-1

4342   
S-722-2

8-32 01-4060

4351
S-708-1

4352
S-708-2

8-32 01-4072

4363
S-723-3

ColdHot Hot or Cold

KOHLER SPEAKMAN / KENT

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

ELJER

Hot

# 11 Stem Packing
02-1724

# 49 O-Ring
02-1550

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

0 Bibb Washer
02-1102

Bibb Screw
XS-555

0 Bibb Washer
02-1102

Bibb Screw
XS-553

Seat
X-45

Seat
X-6

Seat
X-29



S-58 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

10-24 01-4085HL-33

4371
S-705-1

4372   
S-705-2

10-24 01-4076 03-1659HC-281

4403
S-717-3

4404  
S-717-2

10-24 01-4076 03-1757HC-281

4411
S-713-1

4412
S-713-2

Cold LHHot or Cold ColdHot

INDIANA BRASS UNION GOPHER

Cold

CHICAGO

Hot

Seat
CH1-27

Stem Nut
CH1-18

Stem Packing
02-2370

Retainer
CH1-22

Seat Washer
02-1764

Seat
X-218

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

Seat
X-217

1/4 Bibb Washer
02-1104

# 16 O-Ring
02-1520

# 48 O-Ring
02-1532

Bibb Screw
XS-553

# 35 Stem Washer
02-1842 (Nylon)

Repair Kit
0-4063

Repair Kit
0-4107

Bibb Screw
XS-553

Repair Kit
0-1003

10/16/06



S-59

10-24 01-4076 03-1609

PURPLE

HC-281

4423
S-969-3

01-4082

4443
S-716-3

10-24 01-4082

4451
S-714-1

4452
S-714-2

Hot or Cold ColdHot

MILWAUKEE
Shower

UNIVERSAL - RUNDLE

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

TOWN & COUNTRY
Shower

Hot or Cold

# 35 Stem Washer
02-1842 (Nylon)

0 Bibb Washer
02-1102

Bibb Screw
XS-553

Seat
X-40

# 16 O-Ring
02-1520



S-60 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

10-24 01-4082

4461
S-716-1

4462
S-716-2

10-24 01-4082 03-1613

4473
S-725-3

4608
S-736-3

Hot or Cold Hot or Cold

UNIVERSAL - RUNDLE DELTA
OEM # 6399

Self-Closing Faucet

Cold

UNIVERSAL - RUNDLE /
SEARS

Hot

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

# 18 O-Ring (Internal)
02-1556

Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

# 37 O-Ring
02-1580

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

# 3 Dome Packing
02-2354

# 31 O-Ring (Top)
02-1522



S-61

PURPLE

4671
S-545-1

4672
S-545-2

4701
S-546-1

4702
S-546-2

4723
S-732-3

ColdHot Hot or Cold

HARDEN BRASS
Wide Spread

GROHE
Tub & Shower

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

BROADWAY
Wide Spread

Ceramic

Hot

# 37 O-Ring
02-1580

# 18 O-Ring (Bottom)
02-1556

# 40 O-Ring (External)
02-1538

# 21 O-Ring (Internal)
02-1504

# 31 O-Ring (Top)
02-1522

03/11/03



S-62 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

PURPLE

8-32

4801
S-603-1

4802
S-603-2

4803
S-615-1

4804
S-615-2

4805
S-625-1

4806
S-625-2

ColdHot ColdHot

CRANE
Hospital

CRANE
Stem Only

Cold

CRANE

Hot

# 39 Cork Gasket
02-1760

Seat
02-1756

Fiber Disc
02-1758

Seat Washer
02-1756

# 39 Cork Gasket
02-1760

Fiber Disc
02-1758

Seat Washer
02-1756

# 39 Cork Gasket
02-1760

# 20 O-Ring
02-1530

# 20 O-Ring
02-1530

# 20 O-Ring
02-1530



S-63

8-32

PURPLE

4811
S-619-1

4812
S-619-2

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

WATER SAVER

Hot

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104



S-64 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

STEMS



S-65

10-24 01-4074 03-1649

BLUE

5001
S-818-1

5002
S-818-2

10-24 01-4052 03-1651HC-48
HC-49

5042
S-804-2

5043
S-804-3

10-24 01-4052 03-1651HC-48
HC-49

5053
S-805-3

Hot or ColdCold
Lever only

Hot or Cold

PRICE PFISTER PRICE PFISTER
Stem Only

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

MICHIGAN
Princess

Hot

# 24 O-Ring
02-1548

Bibb Screw
XS-555

0 Bibb Washer
02-1102

Seat
X-23

3/8L Bibb Washer
02-1112

# 43 Stem Washer
02-1822 (Nylon)

Seat
X-23

3/8L Bibb Washer
02-1112

# 43 Stem Washer
02-1822 (Nylon)

# 1 Packing
02-1710

Bibb Screw
XS-553

# 1 Packing
02-1710

Repair Kit
0-2009

Repair Kit
0-2009

Bibb Screw
XS-553

# 16 O-Ring
02-1520



S-66 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4052 03-1651HL-46

5064
S-806-4

10-24 01-4052 03-1651HL-46

5074
S-807-4

5084
S-832-3

Diverter Hot or Cold

PRICE PFISTER
Stem Only

PRICE PFISTER
Ceramic

PRICE PFISTER

Diverter

Seat
X-23

Bibb Screw
XS-553

# 48 Stem Washer
02-1824 (Fiber)

# 50 Diverter Washer
02-1820 (Nylon)

3/8L Bibb Washer
02-1112

Seat
X-23

# 1 Packing
02-1710

Bibb Screw
XS-553

# 48 Stem Washer
02-1824 (Fiber)

Stop
02-7512

# 31 Diverter Washer
02-1808 (Nylon)

3/8L Bibb Washer
02-1112

Seal
02-7510

Repair Kit
0-2013

Repair Kit
0-2013

# 1 Packing
02-1710

9/15/98



S-67

10-24 01-4052 03-1623

BLUE

HC-107
HC-108

5093
S-904-3

10-24 01-4052

5097
S-820-3

10-24 01-4052

5098
S-906-1

5099
S-906-2

Hot or Cold ColdHot

PRICE PFISTER PRICE PFISTER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

PRICE PFISTER

Hot or Cold

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1838 (Nylon)

Bibb Screw
XS-553

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

00 Bibb Washer
02-1100

Bibb Screw
XS-553

1/4L Bibb Washer
02-1106

Bibb Screw
XS-553

Seat
X-24

# 3 Dome Packing
02-2354

Repair Kit
0-2015



S-68 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4064 03-1665HC-86
HC-87

5113
S-905-3

10-24 01-4064 03-1667

5114
S-931-4

10-32 01-4064

5115
S-816-1

5116
S-816-2

Diverter ColdHot

HARCRAFT HARCRAFTHARCRAFT

Hot or Cold

Repair Kit
0-4001

# 24 Stem Washer
02-1862 (Nylon)

Bibb Screw
XS-553

# 18 O-Ring (External)
02-1556

Seat
X-74

00 Bibb Washer
02-1100

# 21 O-Ring (External)
02-1504

Bibb Screw
XS-553

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

00 Bibb Washer
02-1100

# 15 O-Ring (Internal)
02-1534

# 16 O-Ring (Internal)
02-1520



S-69

10-24 01-4064

BLUE

5117
S-943-1

5118
S-943-2

10-24 01-4064 03-1667HC-86
HC-87

5123
S-910-3

10-24 01-4064 03-1667

5124
S-911-4

Hot or Cold Diverter

HARCRAFT HARCRAFT

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

HARCRAFT

Hot

Bibb Screw
XS-553

Repair Kit
0-4001

00 Bibb Washer
02-1102

# 18 O-Ring (External)
02-1556

# 18 O-Ring
02-1556

Seat
X-74

Bibb Screw
XS-553

# 16 O-Ring (Internal)
02-1520

0 Bibb Washer
02-1102



S-70 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4064

5125
S-944-1

5126
S-944-2

10-24 01-4052HC-61

5133
S-819-3

10-24 01-4052HC-61

5135
S-824-3

Hot or Cold Hot or Cold

MUELLER MUELLER

Cold

HARCRAFT

Hot

Bibb Screw
XS-553

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

# 6 Brass Washer
02-1662

3/8L Bibb Washer
02-1112

# 9 Stem Washer
02-1670 (Fiber)

3/8L Bibb Washer
02-1112

Bibb Screw
XS-553

# 1 Packing
02-1710

Seat
X-1

# 1 Packing
02-1710

Bibb Screw
XS-553

00 Bibb Washer
02-1100



S-71

10-24 01-4052 03-1615

BLUE

HC-61

5137
S-825-1

5138
S-825-2

10-24 01-4052HC-61

5139
S-952-3

10-24 01-4052 03-1673HC-160
HC-161

5143
S-946-3

Hot or Cold Hot or Cold

G.O.K. BRASS REPCAL
W/ Bushing

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

BLOCK BRASS

Hot

# 43 O-Ring
02-1576

Bibb Screw
XS-555

1/4L Bibb Washer
02-1106

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

Seat
X-10

1/4 Bibb Washer
02-1102

# 20 Packing
02-1736

1/4L Bibb Washer
02-1106

Bibb Screw
XS-555

# 6 Brass Washer
02-1662

Repair Kit
0-4065

# 3 Dome Packing
02-2354

Bibb Screw
XS-555

# 10 Packing
02-1722



S-72 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

8-32 01-4052 03-1673HL-42

5144
S-915-4

10-24 01-4052 03-1673HC-160
HC-161

5145
S-914-3

10-24 01-4052 03-1673HC-160
HC-161

5147
S-947-3

Hot or Cold Hot or Cold

REPCAL REPCAL
Nylon

REPCAL

Diverter

Bibb Screw
XS-553

Seat
X-10

0 Bibb Washer
02-1102

# 20 Packing
02-1736

0 Bibb Washer
02-1102

Bibb Screw
XS-555

# 6 Brass Washer
02-1662

Bibb Screw
XS-553

# 6 Brass Washer
02-1662

Repair Kit
0-4065

0 Bibb Washer
02-1102



S-73

10-24 01-4052 03-1673

BLUE

5154
S-964-4

8-32 01-4064HC-160
HC-161

5155
S-912-3

8-32 01-4064HC-160
HC-161

5157
S-913-1

5158
S-913-2

Hot or Cold ColdHot

REPCAL REPCAL

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

CRANE
Rivera

Diverter

Stem Washer
02-1588

Bibb Screw
XS-553

1/4L Bibb Washer
02-1106

1/4L Bibb Washer
02-1106

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

Seat
X-19

Seat
X-19

# 16 O-Ring
02-1520



S-74 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-32 01-4087

5159
S-822-3

10-24 01-4064 03-1681HC-147
HC-148

5183
S-817-3

10-24 01-4067 03-1641HC-206MB

5184
S-961-4

Hot or Cold Diverter

03-1683

AMERICAN STANDARD AMERICAN STANDARDCENTRAL BRASS

Hot or Cold

# 1 Packing
02-1710

1/4L Bibb Washer
02-1106

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

Bibb Screw
XS-553

# 6 Brass Washer
02-1662

Bibb Screw
XS-555

0 Bibb Washer
02-1102

Seat
X-2

0 Bibb Washer
02-1102

# 28 O-Ring (External)
02-1516

# 49 Stem Washer
02-1550

# 16 O-Ring (Internal)
02-1520

# 1 Packing
02-1710

Bibb Screw
XS-555

Seat
X-27



S-75

8-32 01-4056

BLUE

5201
S-809-1

5202
S-809-2

10-24 01-4056

5205
S-942-1

5206
S-942-2

10-32 01-4056

5207
S-810-1

5208
S-810-2

ColdHot ColdHot

SCHIABLE STERLING

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

SCHIABLE

Hot

0 Bibb Washer
02-1102

Bibb Screw
XS-553

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

Seat
X-26

0 Bibb Washer
02-1102

Seat
X-58



S-76 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-32 01-4056 03-1609HC-117
HC-118

5213
S-940-3

10-24 01-4056 HC-90HC-116

5221
S-734-3

10-24 01-4056 HC-90HC-116

5222
S-730-3

SRA-8135

Hot or Cold

03-1659

Hot or Cold

03-1739

STERLING STERLING
Shower

New Style

STERLING

Hot or Cold

# 19 O-Ring
02-1514

# 38 Stem Washer
02-1844 (Fiber)

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

# 36 O-Ring
02-1632

Bibb Screw
XS-555

00 Bibb Washer
02-1100

# 36 O-Ring
02-1632

Bibb Screw
XS-555

00 Bibb Washer
02-1100

Seat
X-26

# 8 Packing
02-1680 (Molded)

Seat
X-26



S-77

10-32 01-4056 HC-117
HC-118

BLUE

HC-115

5223
S-924-3

10-32 01-4056 03-1671HL-100

5233
S-925-4

10-32 01-4056 03-1659HL-100

5234
S-919-4

03-1617

03-1655

03-1669

Diverter

03-1617 03-1653

Diverter

STERLING STERLING
Shower

New Style

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

STERLING

Hot or Cold

Seat
X-26

1/4L Bibb Washer
02-1106

# 43 Stem Washer
02-1822 (Nylon)

# 10 Packing
02-1722

Bibb Screw
XS-555

Seat
X-26

1/4L Bibb Washer
02-1106

# 1 Packing
02-1710

Seat
X-26

1/4L Bibb Washer
02-1106

# 37 O-Ring (External)
02-1580

Diverter Washer
02-1898

Bibb Screw
XS-555

Diverter Bushing
SRS-3764

# 22 O-Ring (Internal)
02-1508

Repair Kit
0-4081

Bibb Screw
XS-555

Repair Kit
0-4055

05/24/01



S-78 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4075 HC-233MBHC-153
HC-154

5253
S-937-3

10-24 01-4075

5255
S-901-1

5256   
S-901-2

8-32 01-4075 SA2025HC-69MB

5273
S-907-3

03-1755

ColdHot Hot or Cold

GERBER SAYCOGERBER

Hot or Cold

# 41 Stem Washer
02-1806 (Fiber)

# 5 Packing
02-1708

1/4L Bibb Washer
02-1106

Bibb Screw
XS-553

3/8 Bibb Washer
02-1108

Bibb Screw
XS-555

Seat
X-42

0 Bibb Washer
02-1100

# 3 Packing
02-1786

# 35 Stem Washer
02-1806 (Nylon)

Repair Kit
0-4075

Seat
X-61

Bibb Screw
XS-555

Seat
X-60

05/24/01



S-79

8-32 01-4075 HC-70MB

BLUE

HC-55MB

5283
S-918-3

5282  
S-918-2

8-32 01-4075 HC-70MBHC-55MB

5284
S-934-4

8-32 01-4075 HC-70MBHC-55MB

5293
S-948-3

03-1647 03-1645

03-1746
03-1748

Diverter

03-1647 03-1645

Hot or Cold

03-1609 03-1645

03-1746
03-1748

SAYCO SAYCO

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold LH

SAYCO

Hot or Cold

Seat
X-42

00 Bibb Washer
02-1100

# 2 Packing
02-1702

Stem Washer
02-1562 (0-Ring)

Bibb Screw
XS-555

Repair Kit
0-4075

Stem Washer
02-1562 (0- Ring)

# 15 O-Ring (Bottom)
02-1534

# 41 Stem Washer
02-1806 (Fiber)

# 5 Packing
02-1708

Bibb Screw
XS-555

00 Bibb Washer
02-1100

Seat
X-42

# 3 Packing
02-1786

1/4 Bibb Washer
02-1104

Seat
X-42

# 27 O-Ring (Top)
02-1414

Bibb Screw
XS-553

Repair Kit
0-4075

05/27/04



S-80 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

8-32 01-4075 HC-70MBHC-55MB

5294
S-1064-4

8-32 01-4075 HC-70MBHC-55MB

5303
S-949-3

8-32 01-4075 HC-70MBHC-55MB

5304
S-1063-4

03-1609 03-1645

03-1746

Hot or Cold

03-1609 03-1645

03-1746

Diverter

03-1609 03-1645

03-1746

SAYCO SAYCOSAYCO

Diverter

Seat
X-42

Bibb Screw
XS-555

# 5 Packing
02-1708

# 43 Stem Washer
02-1822 (Nylon)

1/4L Bibb Washer
02-1106

Seat
X-42

00 Bibb Washer
02-1100

# 5 Packing
02-1708

Seat
X-42

# 5 Packing
02-1708

Bibb Screw
XS-555

# 18 O-Ring
02-1556

# 35 Stem Washer
02-1822 (Nylon)

Bibb Screw
XS-555

# 37 Stem Washer
02-1840 (Nylon)

Repair Kit
0-4093

Repair Kit
0-4075

00 Bibb Washer
02-1100

Repair Kit
0-4091

# 29 Diverter Washer
02-1870 (Fiber)

05/17/99



S-81

8-32 01-4068 03-1617

BLUE

5313
S-812-1

5314
S-812-2

8-32 01-4087

5351
S-800-1

5352
S-800-2

8-32 01-4087 HC-220AMBHC-220
HC-221

5363
S-953-3

ColdHot Hot or Cold

03-1677

03-1663

03-1679

AMERICAN STANDARD AMERICAN STANDARD

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

AMERICAN BRASS

Hot

# 16 O-Ring
02-1520

# 35 Stem Washer
02-1842 (Nylon)

00 Bibb Washer
02-1100

Bibb Screw
XS-553

0 Bibb Washer
02-1102

Bibb Screw
XS-555

Seat
X-8

Wave Washer
AS72852-07

Packing
02-1882

Bibb Screw
XS-555

0 Bibb Washer
02-1102

# 2 Brass Washer
02-1664

Repair Kit
0-1043

Seat
X-8

# 4 Stem Washer
02-1288 (Nylon)

Repair Kit
0-2001



S-82 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

8-32 01-4087 03-1663HC-220AMB

5364
S-965-4

10-32 01-4087 03-1609

5373
S-821-3

10-24 01-4087 03-1609HC-275

5374
S-960-4

Hot or Cold Diverter

CENTRAL BRASS CENTRAL BRASSAMERICAN STANDARD

Diverter

# 21 O-Ring
02-1504

Seat Disc
AS72840-07

Packing
02-1882

# 4 Stem Washer
02-1288 (Nylon)

Bibb Screw
XS-555

# 43 Stem Washer
02-1822 (Nylon)

# 11 Packing
02-1724

# 7 Packing
02-1720

Diverter Washer
02-1904

3/8L Bibb Washer
02-1112

Bibb Screw
XS-555

3/8M Bibb Washer
02-1110

# 46 O-Ring
02-1558

Seat
X-27

Bibb Screw
XS-555

Repair Kit
0-1043

HC-273
HC-274



S-83

10-24 01-4087 03-1659

BLUE

HC-293
HC-294

5383
S-813-3

10-24 01-4087 03-1609HC-292

5384
S-1062-4

10-24 01-4087 03-1609HC-292

5387
S-802-3

Diverter Hot or Cold

ELJER ELJER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

ELJER

Hot or Cold

# 35 Stem Washer
02-1842 (Nylon)

# 8 Packing
02-1680 (Molded)

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

# 10 Packing
02-1722

Bibb Screw
XS-558

3/8 Bibb Washer
02-1110

# 50 Stem Washer

02-2564

# 1 Packing

02-1710

1/4L Bibb Washe

02-1106

Seat

X-28

# 48 Stem Washer
02-1824 (Fiber)

Bibb Screw

XS-555

Seat
X-28

03/10/99



S-84 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4087 03-1659HC-293

HC-294

5393
S-968-3 S-968-2

10-24 01-4087 03-1659HC-292

5394
S-966-4

8-32 01-4087HC-285MB

5401
S-823-1

5402   
S-823-2

Diverter ColdHot

03-1739 03-1649

ELJER KOHLER / SHOREHAM

Cold

ELJER

Hot 

Seat
X-28

1/4 Bibb Washer
02-1104

# 35 Stem Washer
02-1842 (Nylon)

# 3 Packing
02-1786

Bibb Screw
XS-555

# 3 Packing
02-1786

Diverter Washer
02-1290

Seat
X-210

0 Bibb Washer
02-1102

# 16 O-Ring
02-1520

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

# 38 Stem Washer
02-1844 (Fiber)

Repair Kit
0-4083

# 35 Stem Washer
02-1842 (Nylon)

Bibb Screw
XS-555

Repair Kit
0-4095

07/12/07



S-85

8-32 01-4087 03-1739

BLUE

HC-285MB

5403
S-829-1

5404
S-829-2

10-24 01-4087 03-1659

5413
S-938-3

10-24 01-4087 03-1609

5414
S-963-4

Cold Stem

Only

Hot or Cold Diverter

MILWAUKEE DICK BROTHERS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold

KOHLER / SHOREHAM

Hot

Seat
X-210

0 Bibb Washer
02-1102

Plastic Nipple
SRB-2163

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-555

# 15 O-Ring
02-1534

# 28 Stem Washer
02-1838 (Nylon)

# 5 Packing

02-1708

Bibb Screw

XS-553

1/4 Bibb Washer

02-1104

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

# 48 Stem Washer

02-1824 (Fiber)

Seat
X-231

Repair Kit
0-4083

05/18/04

S-826-1
Hot Stem

Only

S-826-2



S-86 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

8-32 01-4060

5415
S-803-1

5416   
S-803-2

8-32 01-4060 HC-352

HC-353

HC-193A

HC-193B

5417
S-770-1

5418
S-770-2

10-24 01-4072

5421
S-922-1

5422
S-922-2

ColdHot ColdHot

KOHLER SPEAKMAN
Diamond

Cold

KOHLER

Hot

0 Bibb Washer
02-1102

Bibb Screw
XS-555

# 19 O-Ring

02-1514

0 Bibb Washer

02-1102

# F Brass Washer

02-2306

1/4L Bibb Washer
02-1106

Bibb Screw
XS-555

Seat
X-34

Seat

X-66

Seat
X-5

03/10/99



S-87

10-24 01-4072 03-1613

BLUE

5425
S-954-3

10-28 01-4076

5451
S-801-1

5452
S-801-2

8-32 01-4076 03-1657HC-174
HC-175

5461
S-951-1

5462
S-951-2

ColdHot ColdHot

BRIGGS BRIGGS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

SPEAKMAN

Hot or Cold

1/2L Bibb Washer
02-1116

Bibb Screw
XS-553

00 Bibb Washer
02-1100

Bibb Screw
XS-553

# 16 O-Ring
02-1520

# 38 Stem Washer
02-1844 (Fiber)

3/8L Bibb Washer
02-1112

Seat
X-220

Seat
X-17

Bibb Screw
XS-553

# 56 O-Ring
02-1546

03/10/99



S-88 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4076 03-1609HC-174
HC-175

5463
S-950-3

10-24 01-4076 03-1609HC-174
HC-175

5472   
S-956-2

10-28 01-4076

5473
S-945-3

03-1657

ColdHot Hot or Cold 

BRIGGS BRIGGS
EZ Close

Hot or Cold

# 38 Stem Washer
02-1844 (Fiber)

Bibb Washer
02-1792

# 9 Packing
02-1718

# 48 Stem Washer
02-1824 (Fiber)

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

Bibb Screw
XS-555

0 Bibb Washer

02-1102

Seat
X-18

# 8 O-Ring
02-1508

5471
S-956-1

BRIGGS



S-89

10-24 01-4076 03-1609

BLUE

HC-174
HC-175

5477
S-957-3

10-24 01-4076 03-160903-1659

5494
S-962-4

10-24 01-4115

5504
S-928-4

03-1657

Diverter Diverter

INDIANA BRASS UNION BRASS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

BRIGGS

Hot or Cold

# 2 Packing
02-1702

# 38 Stem Washer
02-1844 (Fiber)

3/8L Bibb Washer
02-1112

Bibb Screw
XS-553

Seat
X-36

# 38 O-Ring (Bottom)
02-1518

# 38 O-Ring
02-1518

# 16 O-Ring (Internal)
02-1520

Bibb Screw
XS-553

# 46 O-Ring (Top)
02-1558

Seat
X-17L

3/8L Bibb Washer
02-1112

07/21/04



S-90 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

10-24 01-4082

5523
S-929-3

03-1659HC-113

5603
S-737-3

03-1659HC-113

5604
S-738-4

Hot or Cold Diverter

STERLING
Shower

STERLING
Shower

Diverter

CRANE
Pre-War

Hot or Cold

# 43 O-Ring
02-1576

Bibb Screw
XS-555

3/8 Bibb Washer
02-1108

00 Bibb Washer
02-1100

Bibb Screw
XS-555

# 37 O-Ring (External)
02-1580

00 Bibb Washer
02-1100

# 8 O-Ring (Internal)
02-1508

# 40 O-Ring
02-1538

Bibb Screw
XS-555

Seat
X-13

09/01/04



S-91

BLUE

5624
S-740-4

5631
S-745-1

5632
S-745-2

5634
S-741-1

5635
S-741-2

ColdHot ColdHot

HARDEN BRASS MILWAUKEE
Ceramic

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

UNIVERSAL - RUNDLE

Diverter

# 46 O-Ring (External)
02-1558

# 18 O-Ring (Bottom)
02-1556

# 31 O-Ring (Top)
02-1522

# 15 O-Ring (Internal)
02-1534



S-92 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

BLUE

5638
S-741-4

5641
S-748-1

5642
S-748-2

ColdHot

AUBURN BRASSMILWAUKEE

Diverter



S-93

BLUE

5943
S-762-3

5945
S-763-3

5999
S-1178-3

Hot or Cold Hot or Cold

SYMMONS HARDEN / SYMMONS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

SYMMONS

Hot or Cold

Seat Kit
X-501

Seat Kit
X-501



S-94 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

STEMS



S-95

8-32 01-4074 03-1677

RED

6004
S-1065-4

10-24 01-4052 03-1673HC-61

6053
S-1004-3

10-24 01-4052 03-1673HC-47

6054
S-1166-4

Hot or Cold Diverter

ARROWHEAD ARROWHEAD

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

MICHIGAN BRASS

Diverter

# 15 O-Ring (Bottom)
02-1534

# 27 Stem Washer
02-1414

Seat
X-126

3/8L Bibb Washer
02-1112

# 1 Packing
02-1710

# 50 Stem Washer
02-1858 (Fiber)

# 1 Packing
02-1710

# 43 Stem Washer
02-1822 (Nylon)

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

Seat
X-126

Repair Kit
0-2009

Bibb Screw
XS-553

# 19 O-Ring (Top)
02-1514



S-96 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

6055
S-1175-1

6056
S-1175-2

6057
S-1176-1

6058
S-1176-2

10-24 01-4052 03-1623

6071
S-830-1

6072
S-830-2

ColdHot ColdHot

ARTISTIC BRASS PRICE PFISTER

Cold

ARTISTIC BRASS

Hot

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1838 (Nylon)

Repair Kit
0-2015

Bibb Screw
XS-553



S-97

10-24 01-4052 03-1623

RED

03-1767

PP910-825 PP910-710

10-24 01-4052 03-1623

6079
S-733-3

6080   
S-733-2

10-24 01-4052 HC-233
HC-234

HC-67

6081
S-831-1

6082
S-831-2

Cold 
Lever only

Hot or Cold ColdHot

03-1623

PRICE PFISTER
Widespread

PRICE PFISTER
Widespread

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Cold / Bulk
Lever only

PRICE PFISTER
Widespread

Stem W/ Extension

Hot / Bulk
Lever only

Repair Kit
0-2075

Seal
02-1784

# 40 O-Ring (External)
02-1538

Repair Kit
0-2075

Seal
02-1784

# 40 O-Ring (External)
02-1538

Repair Kit
0-2075

Seal
02-1784

# 40 O-Ring (External)
02-1538

# 16 O-Ring (Internal)
02-1520

# 16 O-Ring (Internal)
02-1520

# 16 O-Ring (Internal)
02-1520

10/06/01



S-98 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052 03-1623HC-233
HC-234

6090
S-1110-3

10-24 01-4052 HC-61HC-61A
HC-61B

6093
S-1009-3

6103   
S-1031-3

10-24 01-4052 03-1621HC-47

6104
S-1011-4

Hot or ColdHot or Cold
Stem Only

03-1621 03-1701

Diverter

PRICE PFISTER PRICE PFISTERPRICE PFISTER
Widespread

Hot or Cold

Seat
X-24

00 Bibb Washer
02-1100

# 16 O-Ring
02-1520

# 28 Stem Washer
02-1838 (Nylon)

Bibb Screw
XS-553

Seat
X-23

3/8L Bibb Washer
02-1112

# 43 Stem Washer
02-1822 (Nylon)

Seat
X-23

# 31 Diverter Washer
02-1808 (Nylon)

Bibb Screw
XS-553

# 50 Stem Washer
02-1858 (Fiber)

# 1 Packing
02-1710

Bibb Screw
XS-553

# 1 Packing
02-1710

Repair Kit

0-2013

Repair Kit
0-2011

3/8L Bibb Washer
02-1112

Repair Kit
0-2015

"CHROME PLATED"

STEM
"CHROME PLATED"

STEM



S-99

10-24 01-4052 HC-233
HC-234

RED

HC-107
HC-108

6113
S-1118-3

10-24 01-4052 HC-235HC-109

6114
S-1120-4

10-24 01-4052 HC-233
HC-234

HC-107
HC-108

6123
S-1119-3

6124
S-1119-3G

03-1625

Diverter

03-1625

Hot or Cold
Genuine

Hot or Cold

03-1625

PRICE PFISTER PRICE PFISTER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

PRICE PFISTER

Hot or Cold

Seat
X-23

3/8L Bibb Washer
02-1112

# 43 Stem Washer
02-1822 (Nylon)

# 1 Packing
02-1710

Bibb Screw
XS-553

Seat
X-23

# 31 Diverter Washer
02-1808

Bibb Screw
XS-553

# 50 Stem Washer
02-1858 (Fiber)

Seat
X-23

3/8L Bibb Washer
02-1112

# 1 Packing
02-1710

# 1 Packing
02-1710

3/8L Bibb Washer
02-1112

# 43 Stem Gasket
02-1822 (Nylon)

Repair Kit
0-2009

Repair Kit
0-2013

Bibb Screw
XS-553

Repair Kit
0-2009



S-100 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052 HC-235HC-109

6125
S-1121-4

6126
S-1121-4G

10-24 01-4052 HC-233
HC-234

HC-107
HC-108

6135
S-1114-3

10-24 01-4052 HC-235HC-109

6138
S-1116-4

03-1625

Hot or Cold

03-1651

Diverter

PRICE PFISTER
Shower

PRICE PFISTER

Diverter
Genuine

PRICE PFISTER

Diverter

Seat
X-23

# 31 Diverter Washer
02-1808 (Nylon)

Bibb Screw
XS-553

# 50 Stem Washer
02-1820 (Nylon)

# 1 Packing
02-1710

3/8L Bibb Washer
02-1112

Repair Kit
0-2011

Repair Kit
0-2013



S-101

10-24 01-4052

RED

6145
S-1130-3

10-24 01-4052 03-1621HL-42

6157
S-1162-4

10-24 01-4052HL-42

6159
S-1163-4

Diverter Diverter

PRICE PFISTER PRICE PFISTER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

PRICE PFISTER

Hot or Cold

# 1 Packing
02-1710

Bibb Screw
XS-555

3/8L Bibb Washer
02-1112

# 1 Packing
02-1710

Diverter Washer
02-1756

1/4L Bibb Washer
02-1106

Bibb Screw
XS-553

3/8 Bibb Washer
02-1108

Bibb Screw
XS-555

Diverter Washer
02-1756

# 57 Stem Washer
02-1830 (Fiber)

# 56 O-Ring
02-1546

9/8/98



S-102 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052 HC-61HC-160
HC-161

6163
S-1013-3

10-24 01-4052 HC-61HC-160
HC-161

6173
S-1037-3

10-24 01-4052 03-1673HC-47

6174
S-1067-4

03-1673

Hot or Cold

03-1673

Diverter

REPCAL
W/ Bushing

REPCAL
Rivera

REPCAL

Hot or Cold

Seat
X-10

1/4 Bibb Washer
02-1104

# 20 Packing
02-1736

# 6 Brass Washer
02-1662

Bibb Screw
XS-555

Seat
X-10

1/4 Bibb Washer
02-1104

# 20 Packing
02-1736

Seat
X-10

Diverter Washer
02-1588

Bibb Screw
XS-555

# 48 Stem Washer
02-1824 (Fiber)

# 6 Brass Washer
02-1662

Bibb Screw
XS-555

# 1 Packing
02-1710

Repair Kit
0-4103

Repair Kit
0-4065

1/4 Bibb Washer
02-1104

Repair Kit
0-4065

"CHROME PLATED"

STEM

"CHROME PLATED"

STEM



S-103

10-24 01-4052 03-1621

RED

HC-61

6181
S-1149-3

10-24 01-4052 03-1621HC-61

6183
S-1143-3

8-32 01-4052 03-1621HC-61

6193
S-1144-3

Hot or Cold

03-1701

Hot or Cold

03-1701

REPCAL
Pre-War

REPCAL

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

REPCAL

Hot or Cold

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

3/8 Bibb Washer
02-1110

Bibb Screw
XS-553

Seat
X-19

3/8 Bibb Washer
02-1110

# 48 Stem Washer
02-1824 (Fiber)

Seat
X-19

3/8 Bibb Washer
02-1108

# 48 Stem Washer
02-1824 (Fiber)

# 1 Packing
02-1710

Bibb Screw
XS-555

# 1 Packing
02-1710

Repair Kit
0-4065

Repair Kit
0-4065

Bibb Screw
XS-555

# 1 Packing
02-1710

1" 
Thread

15/16" 
Thread



S-104 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

8-32 01-4052 03-1673HL-42

6194
S-1152-4

10-24 01-4052 03-1621HC-61

6195
S-1012-3

8-32 01-4052 03-1621HC-47

6196
S-1160-4

03-1701

Hot or Cold Diverter

03-1701

REPCAL REPCALREPCAL

Diverter

Seat
X-10

1/4 Bibb Washer
02-1104

Diverter Washer
02-1588

# 48 Stem Washer
02-1824 (Fiber)

# 16 Packing
02-1730

Bibb Screw
XS-555

1/4L Bibb Washer
02-1106

Bibb Screw
XS-553

# 1 Packing
02-1710

# 48 Stem Washer
02-1824 (Fiber)

Seat
X-19

Repair Kit
0-4103



S-105

10-24 01-4052 03-1615

RED

HC-61

6197
S-1049-3

10-24

6202
S-1017-3

6201   
1018-3

10-24 01-4052 03-1719

6203
S-1117-3

Hot or ColdHot or Cold Hot or Cold

CRANE

Original
Broach

CRANE
Original Stem had a “Q” Broach

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

GLAUBER

Hot or Cold

# 49 O-Ring
02-1550

# 10 Packing
02-1722

3/8 Bibb Washer
02-1112

Bibb Screw
XS-555

5/8 Bibb Washer
02-1118

Bibb Screw
XS-555

# 49 O-Ring
02-1550

# 7 Packing
02-1720

1/4L Bibb Washer
02-1106

Seat
X-12

Seat
X-13

Bibb Screw
XS-558

Seat
X-239



S-106 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052 03-1719

6205
S-1139-3

6207
S-1200-3

8-32 01-4064 03-1613HC-61

6223
S-1008-3

Hot or Cold Hot or Cold

CRANE HARCRAFTG.O.K. BRASS

Hot or Cold

# 1 Packing
02-1710

Bibb Screw
XS-555

1/2L Bibb Washer
02-1116

# 48 Stem Washer
02-1824 (Fiber)

Bibb Screw
XS-555

1/2L Bibb Washer
02-1116

0 Bibb Washer
02-1102

Bibb Screw
XS-555

# 10 Packing
02-1722

Seat
X-15

# 50 Stem Washer
02-1858 (Fiber)



S-107

10-24 01-4064 03-1613

RED

HC-47

6224
S-1020-4

10-24 01-4064 03-1613HC-61

6233
S-1019-3

10-24 01-4064 03-1613HC-47

6234
S-1021-4

Hot or Cold Diverter

HARCRAFT HARCRAFT

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

HARCRAFT

Diverter

# 35 Stem Washer
02-1842 (Nylon)

# 10 Packing
02-1722

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

# 35 Stem Washer
02-1842 (Nylon)

# 10 Packing
02-1722

# 35 Stem Washer
02-1842 (Nylon)

# 10 Packing
02-1722

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

# 27 O-Ring
02-1414

Repair Kit
0-4095

Bibb Screw
XS-555

Repair Kit
0-4095



S-108 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-32 01-4064

6237
S-1035-1

6238
S-1035-2

10-24 01-4064 03-1613HC-61

6243
S-1138-3

10-24 01-4052 03-1615HC-61

6253
S-1042-3

Hot or Cold Hot or Cold

HARCRAFT DICK BROTHERS

Cold

HARCRAFT

Hot

Bibb Screw
XS-558

# 35 Stem Washer
02-1842 (Nylon)

# 11 Packing
02-1724

# 3 Dome Packing
02-2354

3/8L Bibb Washer
02-1112

# 6 Brass Washer
02-1662

00 Bibb Washer
02-1100

Bibb Screw
XS-553

# 17 Stem Washer
02-1878 (Fiber)

Seat
X-18

Seat
X-204

Bibb Screw
XS-553

0 Bibb Washer
02-1102



S-109

8-32 01-4052 03-1615

RED

HC-61

6255
S-1059-3

10-24 01-4052 03-1615HC-61

6263
S-1043-3

10-24 01-4064 03-1615HC-47

6264
S-1157-4

Hot or Cold Diverter

PUBCO PUBCO

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

DICK BROTHERS

Hot or Cold

# 15 Packing
02-1728

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

# 6 Brass Washer
02-1662

# 17 Stem Washer
02-1878 (Fiber)

3/8L Bibb Washer
02-1112

Bibb Screw
XS-555

3/8L Bibb Washer
02-1112

Bibb Screw
XS-555

# 58 O-Ring
02-1544

# 3 Dome Packing
02-2354

# 48 Stem Washer
02-1824 (Fiber)



S-110 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

8-32 01-4046HC-61

6265
S-1041-3

10-24 01-4052HC-61

6267
S-1052-3

10-24 01-4052

6275
S-1051-3

Hot or Cold Hot or Cold

PUBCO GLAUBERPUBCO

Hot or Cold

# 6 Brass Washer
02-1662

# 22 Stem Washer
02-1668 (Fiber)

1/2 Bibb Washer
02-1114

Bibb Screw
XS-555

# 6 Brass Washer
02-1662

# 22 Stem Washer
02-1668 (Fiber)

3/8L Bibb Washer
02-1112

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

Bibb Screw
XS-553

Seat
X-239

# 1 Packing
02-1710

# 1 Packing
02-1710



S-111

10-24 01-4052 03-1615

RED

HC-61

6277
S-1128-3

10-24 01-4052 03-1615HC-61

6279
S-1142-3

10-24 01-4052 03-1615HC-61

6281
S-1050-3

Hot or Cold Hot or Cold

GLAUBER MUELLER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

GLAUBER

Hot or Cold

# 48 Stem Washer
02-1824 (Fiber)

Bibb Screw
XS-555

3/8L Bibb Washer
02-1112

# 48 Stem Washer
02-1824 (Fiber)

# 7 Packing
02-1720

# D Packing
02-1712

3/8 Bibb Washer
02-1108

# 6 Brass Washer
02-1662

3/8L Bibb Washer
02-1112

Bibb Screw
XS-553

# 22 Stem Washer
02-1668 (Fiber)

Seat
X-40

Seat
X-239

Bibb Screw
XS-553

Seat
X-239

02-01-99



S-112 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052 03-1615HC-61

6283
S-1136-3

10-24 01-4052HC-61

6283
S-1136-3A

10-24 01-4052HC-61

6283
S-1136-3B

Hot or Cold Hot or Cold

UNIVERSAL BRASS UNIVERSAL BRASSUNIVERSAL BRASS

Hot or Cold

# 22 Dome Packing
02-1738

1/2 Bibb Washer
02-1114

# 6 Brass Washer
02-1662

# 19 Fiber Washer
02-1850

Bibb Screw
XS-555

# 6 Brass Washer
02-1662

# 6 Brass Washer
02-1662

# 22 Dome Packing
02-1738

# 22 Dome Packing
02-1738

Repair Kit
0-4097

"USE S-1136-3"

"USE S-1136-3"



S-113

10-24 01-4052 03-1615

MFG. FOR USE

WITH P.P. TRIM

RED

HC-61

6293
S-1048-3

10-24 01-4052HC-61

6295
S-1054-3

10-24 01-4052 03-1615HC-61

6297
S-1055-3

MFG. FOR USE

WITH P.P. TRIM MFG. FOR USE

WITH P.P. TRIM

Hot or Cold Hot or Cold

G.O.K. BRASS G.O.K. BRASS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

STERLING BRASS

Hot or Cold

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

1/2 Bibb Washer
02-1114

Bibb Screw
XS-553

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

1/4 Bibb Washer
02-1104

Bibb Screw
XS-555

1/4L Bibb Washer
02-1106

# 10 Packing
02-1722

# 10 Packing
02-1722

Bibb Screw
XS-555

# 1 Packing
02-1710



S-114 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052HC-61

6299
S-1057-3

10-24 01-4052 03-1615HC-61

6303
S-1060-3

10-24 01-4052 03-1615HC-61

6313
S-1132-3

Hot or Cold Hot or Cold

ENTERPRISE FORESTG.O.K. BRASS

Hot or Cold

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

3/8L Bibb Washer
02-1112

Bibb Screw
XS-553

# 3 Dome Packing
02-2354

3/8L Bibb Washer
02-1112

# 6 Brass Washer
02-1662

# 2 Brass Washer
02-1664

# 8 Stem Washer
02-1876 (Fiber)

# 16 Stem Washer
02-1668 (Fiber)

Bibb Screw
XS-555

1/4L Bibb Washer
02-1106

# 3 Dome Packing
02-2354

Seat
X-8

Bibb Screw
XS-555

# D Packing
02-1712

MFG. FOR USE

WITH P.P. TRIM



S-115

10-24 01-4052 03-1615

RED

HC-61

6315
S-1133-3

10-24 01-4052 03-1615HC-61

6317
S-1135-3

10-24 01-4052 03-1615HC-61

6319
S-1141-3

Hot or Cold Hot or Cold

G.O.K. BRASS MUELLER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

FOREST

Hot or Cold

# 2 Brass Washer
02-1664

# 8 Stem Washer
02-1876 (Fiber)

1/4L Bibb Washer
02-1106

Bibb Screw
XS-555

# 10 Packing
02-1722

Bibb Screw
XS-553

1/2 Bibb Washer
02-1114

# 1 Packing
02-1710

# 6 Brass Washer
02-1662

3/8 Bibb Washer
02-1108

# 48 Stem Washer
02-1824 (Fiber)

# 43 O-Ring
02-1576

Bibb Screw
XS-555

# 3 Dome Packing
02-2354



S-116 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4052HC-61

6323
S-1145-3

10-24 01-4052 03-1615HC-61

6325
S-1148-3

10-24 01-4052 03-1615HC-61

6327
S-1167-3

Hot or Cold Hot or Cold

STERLING BRASS SCOVILLESTERLING BRASS

Hot or Cold

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

3/8 Bibb Washer
02-1108

Bibb Screw
XS-555

# 6 Brass Washer
02-1662

# 16 Stem Washer
02-1668 (Fiber)

3/8 Bibb Washer
02-1108

Bibb Screw
XS-555

1/2 Bibb Washer
02-1114

Bibb Screw
XS-553

# 38 Stem Washer
02-1844 (Fiber)

# 16 Packing
02-1730

# 1 Packing
02-1710

MFG. FOR USE

WITH P.P. TRIM
MFG. FOR USE

WITH P.P. TRIM



S-117

10-24 01-4052 03-1613

RED

HC-61

6333
S-1131-3

10-24 01-4052 W13820003-1615

6335
S-1161-4

10-24 01-4067HC-187
HC-188

6401
S-1024-1

6402
S-1024-2

Diverter ColdHot

MUELLER AMERICAN STANDARD

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

MUELLER

Hot or Cold

# 4 Brass Washer
02-1660

Bibb Screw
XS-553

1/4 Bibb Washer
02-1104

# C Brass Washer
02-2302

Diverter Ball
02-1280

Bibb Screw
XS-553

0 Bibb Washer
02-1102

# 50 Stem Washer
02-1858 (Fiber)

# 1 Packing
02-1710

06/04/04 



S-118 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4067 S-104-1
S-104-2

HC-187
HC-188

6403
S-1068-3

10-24 01-4067 03-1615HC-147
HC-148

6413
S-1108-3

10-24 01-4067 03-1615HC-149

6414
S-1109-4

03-1687

Hot or Cold

03-1681 03-1705

Diverter

03-1681 03-1705

AMERICAN STANDARD AMERICAN STANDARDAMERICAN STANDARD

Hot or Cold

# 11 Packing
02-1724

Bibb Screw
XS-553

0 Bibb Washer
02-1102

Seat
X-2

0 Bibb Washer
02-1102

# 43 Stem Washer
02-1822 (Nylon)

Seat
X-2

1/4 Bibb Washer
02-1104

# 43 Stem Washer
02-1822 (Nylon)

# 13 Packing
02-1726

Bibb Screw
XS-553

# 5 Packing
02-1704

Repair Kit
0-4101

Repair Kit
0-4099

Bibb Screw
XS-555

# 30 O-Ring
02-1562



S-119

10-24 01-4067 S-104-1
S-104-2

RED

HC-187
HC-188

6417
S-1002-3

10-24 01-4067 S-104-1
S-104-2

HC-187
HC-188

6423
S-1111-3

10-24 01-4067 03-161503-1689

6424
S-1102-4

03-1689 03-1705

Hot or Cold

03-1689

03-1705

03-1615

Diverter

03-1705

AMERICAN STANDARD AMERICAN STANDARD

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

AMERICAN STANDARD
Renu

Hot or Cold

# 42 Stem Washer
02-1790

0 Bibb Washer
02-1102

# 21 O-Ring
02-1504

# 13 Packing
02-1726

Bibb Screw
XS-553

# 21 O-Ring
02-1504

0 Bibb Washer
02-1102

# 13 Packing
02-1726

Seat
X-238

# 42 Stem Washer
02-1790

# 13 Packing
02-1726

# 42 Stem Washer
02-1790

Bibb Screw
XS-553

Repair Kit
0-1049

Repair Kit
0-1049

Repair Kit
0-1049



S-120 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4067

6427
S-1170-3

10-32 01-4056 HC-117
HC-118

HC-115

6453
S-1015-3

10-32 01-4056 03-1653HL-100

6454
S-1115-4

Hot or Cold

03-1617

03-1655

03-1669

Diverter

03-1617

03-1653

03-1671

STERLING STERLINGAMERICAN STANDARD

Hot or Cold

# 13 Packing
02-1726

Bibb Screw
XS-555

0 Bibb Washer
02-1102

Seat
X-26

1/4L Bibb Washer
02-1106

# 1 Packing
02-1710

Seat
X-26

1/4L Bibb Washer
02-1106

Diverter Washer
02-1898

# 48 Stem Washer
02-1824 (Fiber)

# 43 Stem Washer
02-1822 (Nylon)

Bibb Screw
XS-555

# 1 Packing
02-1710

Repair Kit
0-4089

Repair Kit
0-4055

Bibb Screw
XS-555

# 50 O-Ring
02-1564

08/02/04 



S-121

10-24 01-4075 HC-229

RED

HC-258

6463
S-1045-3

10-24 01-4075 HC-229MBHC-260

6468
S-1158-4

10-24 01-4075 HC-226MBHC-223MB

6469
S-1047-3

03-1753 03-1609

Diverter

03-1753

Hot or Cold

03-1657

GERBER GERBER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

GERBER

Hot or Cold

# 43 O-Ring
02-1576

# 5 Packing
02-1708

1/4L Bibb Washer
02-1106

Bibb Screw
XS-553

Seat
X-62

Diverter Washer
02-1898

Bibb Screw
XS-553

# 50 Stem Washer
02-1858 (Fiber)

Seat
X-61

1/4L Bibb Washer
02-1106

# 43 Stem Washer
02-1822 (Nylon)

# 5 Packing
02-1708

1/4L Bibb Washer
02-1106

# 5 Packing
02-1708

Repair Kit
0-4079

Repair Kit
0-4081

Bibb Screw
XS-553

Seat
X-62



S-122 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4075 HC-223MBHC-226MB

6470
S-1159-4

10-24 01-4080HC-133

6497
S-1033-4

10-24 01-4080HC-133

6499
S-1034-4

03-1657

Diverter Diverter

PHOENIX STREAMWAYGERBER

Diverter

Seat
X-61

Diverter Washer
02-1898

Bibb Screw
XS-553

# 50 Stem Washer
02-1858 (Fiber)

# 5 Packing
02-1708

1/4L Bibb Washer
02-1106

# 40 O-Ring (External)
02-1538

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-555

# 13 O-Ring
02-1404

# 17 O-Ring (Internal)
02-1560

Repair Kit
0-4089



S-123

8-32 01-4087 03-1663

RED

HC-220AMB

6503
S-1028-3

8-32 01-4087 03-1663HC-220AMB

6504
S-1112-4

10-24 01-4087 03-1613HC-273

6511
S-1070-1

6512
S-1070-2

03-1677 03-1679

Diverter

03-1677 03-1675

ColdHot

AMERICAN STANDARD CENTRAL BRASS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

AMERICAN STANDARD
Colony

Hot or Cold

Seat
X-8

# 2 Brass Washer
02-1664

0 Bibb Washer
02-1102

Packing
02-1882

Bibb Retainer
AS72801-07

# 4 Stem Washer
02-1288 (Nylon)

Bibb Screw
XS-555

Wave Washer
AS72852-07

# 21 O-Ring
02-1504

Diverter Washer
AS72840-07

Bibb Screw
XS-555

Packing
02-1882

# 43 Stem Washer
02-1822 (Nylon)

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

# 2 Brass Washer
02-1664

Wave Washer
AS72852-07

Seat

X-32

# 10 Packing
02-1722

Repair Kit
0-1043

Repair Kit
0-1043

06/27/02



S-124 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4087 03-1609HC-273

6513
S-1053-3

10-24 01-4087 03-1609HC-275

6514
S-1071-4

8-32 01-4087 03-1609HC-273

6515
S-1058-3

Diverter Hot or Cold

CENTRAL CENTRAL BRASSCENTRAL BRASS

Hot or Cold

# 48 Stem Washer
02-1824 (Fiber)

# 7 Packing
02-1720

3/8L Bibb Washer
02-1112

Bibb Screw
XS-555

Seat

X-32

# 50 Stem Washer
02-1858 (Fiber)

# 13 Packing
02-1726

3/8L Bibb Washer
02-1112

Seat
X-27

Bibb Screw
XS-555

Seat
X-27

06/27/02



S-125

10-32 01-4087 03-1613

RED

HC-273

6523
S-1126-3

10-24 01-4087 03-1613HC-275

6524
S-1173-4

10-24 01-4087 03-1613HC-275

6525
S-1174-3

Diverter

03-1651

Hot or Cold

03-1651

CENTRAL BRASS CENTRAL BRASS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

CENTRAL BRASS

Hot or Cold

Seat (Old Style)
X-27

# 11 Packing
02-1724

Bibb Screw
XS-553

Seat (New Style)
X-236

# 47 Stem Washer
02-1820 (Nylon)

3/8L Bibb Washer
02-1112

# 46 O-Ring
02-1558 (Nylon)

# 7 Packing
02-1720

3/8M Bibb Washer
02-1110

Bibb Screw
XS-555

Seat
X-27

Repair Kit
0-4109

“Old Style 

does not

have 

external

threads!”



S-126 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

6527
S-1171-3

10-24 01-4087 03-1659HC-292

6534
S-1069-4

10-24 01-4087 03-1609

6543
S-1147-3

Diverter Hot or Cold

ELJER DICK BROTHERSCENTRAL BRASS
Washerless

Shower

Hot or Cold

# 35 Stem Washer
02-1842 (Nylon)

1/4 Bibb Washer
02-1104

# 3 Packing
02-1786

# 5 Packing
02-1708

# 2 Brass Washer
02-1664

Diverter Washer
02-1290

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

# 30 O-Ring
02-1562

Seat
X-75

Bibb Screw
XS-555



S-127

01-4087 03-1739

RED

HC-285MB

6560
S-826-4

KO-20415

SLEEVE

01-4060 HC-352
HC-353

HC-193A
HC-193B

6563
S-1025-3 S-1025-2

8-32 01-4060

6564
S-1066-4

Cold Lever

Handles

Hot or Cold Diverter

KOHLER KOHLER

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

KOHLER

Diverter

# 38 O-Ring (External)
02-1518

0 Bibb Washer
02-1102

# F Brass Washer
02-2306

Diverter Washer
02-1282

# F Brass Washer
02-2306

Ball Washer
02-1284

# 19 O-Ring
02-1514

Seat
X-66

# 15 O-Ring (Internal)
02-1534

# 19 O-Ring
02-1514



S-128 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-24 01-4060 03-1613HC-286

6565
S-1146-3

10-24 01-4060 S-109-1
S-109-2

03-1613

6568
S-1169-3

8-32 01-4060 S-109-1
S-109-2

HC-352
HC-353

6573
S-1125-3

Hot or Cold Hot or Cold

HC-193A
HC-193B

03-1613

KOHLER KOHLERKOHLER

Hot or Cold

# 44 Stem Washer
02-1810 (Fiber)

# 1 Packing
02-1710

3/8 Bibb Washer
02-1108

Bibb Screw
XS-553

Diverter Washer
02-1282

Bibb Screw
XS-553

# 1 Packing
02-1710

Bibb Screw
XS-555

0 Bibb Washer
02-1102

# 44 Stem Washer
02-1810 (Fiber)

# 19 O-Ring
02-1514

Seat
X-7



S-129

8-32 01-4060 03-1613

RED

6574
S-1156-4

10-24 01-4060

6577
S-1151-4

10-24 01-4072 03-1613

6585
S-1044-3

Diverter Hot or Cold

KOHLER SPEAKMAN
Diamond

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

KOHLER

Diverter

# 44 Stem Washer
02-1810 (Fiber)

# 1 Packing
02-1710

# 44 Stem Washer
02-1810 (Fiber)

Ball Washer
02-1284

Bibb Screw
XS-555

# 1 Packing
02-1710

# 39 Stem Washer
02-1812 (Fiber)

# 11 Packing
02-1724

Diverter Washer
02-1282

0 Bibb Washer
02-1102

0 Bibb Washer
02-1102

Seat
X-34

# 19 O-Ring
02-1514

Bibb Screw
XS-553

Seat
X-206

01/04/02



S-130 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

6587
S-828-1

6588   
S-828-2

10-24 01-4072 03-1613

6591
S-827-1

6592
S-827-2

10-28 01-4076 03-1609HC-176
HC-177

6605
S-1056-3

Cold

RB Stem

Hot

RB Stem

6583
S-1036-3
Hot or Cold

CP Stem

Hot or Cold

HC-174
HC-175

BROADWAY - SPEAKMAN
Shower

SPEAKMAN
Kent

Cold

BROADWAY - SPEAKMAN
Wide Spread

Hot 

#50 Stem Washer

02-1858 (Fiber)

#1 Packing

02-1710

# 48 Stem Washer
02-1824 (Fiber)

# 7 Packing
02-1720

1/2 Bibb Washer

02-1114

Bibb Screw
XS-553

1/2 Bibb Washer
02-1114

Seat
X-20

Seat

X-46

Bibb Screw
XS-556

02/15/06

Speakman

Diamond

12 PT Broach



S-131

10-28 01-4076 03-1609

RED

HC-176
HC-177

6603
S-1039-3

10-28 01-4076 03-1609HC-173

6604
S-1061-4

10-28 01-4076 03-1609HC-176
HC-177

6601
S-1046-1

6602   
S-1046-2

HC-174
HC-175

Diverter ColdHot 

BRIGGS BRIGGS - REPUBLIC

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

BRIGGS

Hot or Cold

# 40 O-Ring
02-1538

# 9 Packing
02-1718

3/8L Bibb Washer
02-1112

Bibb Screw
XS-556

#3 Packing
02-1786

1/4L Bibb Washer
02-1106

# 48 Stem Washer
02-1824 (Fiber)

#10 Packing
02-1720

Diverter Washer
02-2906

Bibb Screw
XS-555

1/2 Bibb Washer
02-1114

Seat
X-20

# 49 O-Ring
02-1550

Bibb Screw
XS-556

Seat
X-20

03/30/06

HC-174
HC-175

6506
S-1040-3
12 PT. PP Broach



S-132 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

10-28 01-4076 03-1609HC-176
HC-177

6613
S-1127-3

10-28 01-4076 03-1609HC-173

6614
S-1155-4

10-28 01-4076 03-1609HC-176
HC-177

6617
S-1129-3

HC-174
HC-175

Diverter Hot or Cold

BRIGGS BRIGGSBRIGGS

Hot or Cold

Seat
X-20

3/8L Bibb Washer
02-1112

Stem Washer
02-1866 (Fiber)

# 9 Packing
02-1718

Bibb Screw
XS-556

# 9 Packing
02-1718

Diverter Washer
02-2906

# 11 Packing
02-1724

Bibb Screw
XS-556

3/8L Bibb Washer
02-1112

3/8L Bibb Washer
02-1112

Bibb Screw
XS-556

# 48 Stem Washer
02-1824 (Fiber)

# 48 Stem Washer
02-1824 (Fiber)

Repair Kit
0-4111



S-133

10-24 01-4076 03-1609

RED

HC-281

6633
S-927-3

10-24 01-4076 03-1609HC-281

6635
S-967-3

10-24 01-4087 03-1609HC-277

6651
S-941-1

6652
S-941-2

Hot or Cold ColdHot

UNION BRASS CENTRAL BRASS
PHYLRICH

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

UNION GOPHER

Hot or Cold

# 43 O-Ring
02-1576

Bibb Screw
XS-553

3/8L Bibb Washer
02-1112

# 38 Stem Washer
02-1844 (Fiber)

Bibb Screw
XS-555

1/4 Bibb Washer
02-1104

# 5 Packing
02-1704

# 38 Stem Washer
02-1844 (Fiber)

1/4 Bibb Washer
02-1104

Seat
X-32

# H Packing
02-1706

Bibb Screw
XS-553

Seat
X-221

10/15/06



S-134 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

6664
S-1165-4

10-24 01-4082

6674
S-1164-4

10-24 03-1609

6703
S-1134-3

Diverter Hot or Cold

UNIVERSAL - RUNDLE BRIGGSMILWAUKEE

Diverter

# 46 O-Ring (External)
02-1558

Diverter Washer
02-1286

# 48 Stem Washer
02-1824 (Fiber)

# 15 Packing
02-1728

1/4L Bibb Washer
02-1106

Seat
X-20

Bibb Screw
XS-555

# 63 O-Ring (Internal)
02-1537

# 30 O-Ring
(External Top)

02-1562

# 27 O-Ring
(External Bottom)

02-1414

# 8 O-Ring (Internal)
02-1508



S-135

10-24 03-1609

RED

6705
S-1137-3

8-32

6753
S-1150-4

8-32

6803
S-1153-4

6805   
S-1154-4

Diverter Diverter
15/16" Bushing

Diverter
1" Bushing

KOHLER REPCAL
Wall-O-Matic

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

BRIGGS - REPUBLIC

Hot or Cold

# 48 Stem Washer
02-1824 (Fiber)

# 15 Packing
02-1728

Bibb Washer
02-1112

Bibb Screw
XS-555

Diverter Ball
02-1284

# 38 O-Ring (External)
02-1518

# 41 Stem Washer
02-1524

# 49 O-Ring (External)
02-1550

Diverter Washer
02-1282

Bibb Screw
XS-555

# 8 O-Ring (Internal)
02-1508

# 3 O-Ring (Internal)
02-1578

Seat
X-17L



S-136 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

RED

6806
S-1016-1

6807
S-1016-2

Cold

STERLING
Roman Tub

Hot



S-137

STEM EXTENSIONS

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

ITEM NO. SPLINE SIZE MANUFACTURER DESCRIPTION

03-1771 B PRICE PFISTER, ARROWHEAD

03-1773 C AMERICAN STANDARD 7/16" (AQUA SEAL)

03-1775 D STERLING, ROCKWELL, SCHIABLE

03-1779 F SAYCO, GERBER

03-1781 G AMERICAN BRASS, STREAMWAY, MANSFIELD

INDIANA, NIBCO

03-1783 H DICK BROTHERS, CENTRAL, ELJER, MILWAUKEE

UNIVERSAL-RUNDLE, ROYAL, AMERICAN

STANDARD, COLONY, BARNES WESTERN,

BURLINGTON, SEARS, GRAND HAVEN, KOHLER

03-1785 I KOHLER

03-1793 O UNION BRASS, RICHMOND (RHEEM), BRIGGS,

BORG WARNER, BELVEDERE, INDIANA

03-1795 Q ELKAY, SEARS, UNIVERSAL-RUNDLE, MILWAUKEE

Ideal for use in those situations when it is necessary to add longer stems or extend the

length of the existing stems. Example: When renovating a shower wall, the new surface

may add an inch or more to the thickness of the old wall, which could mean the existing

valve stem will not protrude through the new wall. It is not necessary to replace the valve,

either order longer stems to accommodate the additional wall thickness, or use the

appropriate stem extension above and cut to desired length. The cost will be negligible

when compared to a new valve, piping, and labor cost.

Made from quality brass. Female splined to fit existing stem spline on one end, male splined

to fit existing handle on the other end. Three inch handle screws (included) to attach handle

and stem extension to existing stem.

FOR REPLACEMENT FAUCET AND BATH HANDLES

Female spline ½" O.D.

Easily cut to any length

Male splined entire length

Hole drilled
for handle screw

(not threaded)

07/18/05



S-138 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

STEM EXTENSIONS

0-2093 DE19104 MO1136 MO10399
Ref. #
1136

Ref. #
10399

MOEN
1" Stem & Tube Extension

MOEN
1" Stem & Tube Extension

Temperature Adjustment Valve

1” Extension

for 0-2093

DELTA
Two Handle Extension

Delex / Peerless

Ref. #
10106

MO96945 0-3065 MO13401 0-4011
Ref. #
13599

NIBCO
Two Handle Extension

MOEN
Posi-Temp Extension

Ref. #
96945

Ref. #
70380

MOEN

(NOT ACTUAL SIZE)

2-15/16"

2-1/8"

1-3/8"

MOEN
Widespread Cartridge

Handle Adapter Nut

07/26/05

Two Handle 

Extension



S-139

STEM EXTENSIONS

03-1761 03-1763 03-1767
Ref. #
974-371A

Ref. #
910-562

PRICE PFISTER
Avante

PRICE PFISTER
Hydro Seal Extension

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

Ref. # 910-560

Stem Only Extension

PRICE PFISTER
Stem & Nipple Extension

W/ Screw

Ref. #
910-561

03-1769 SR15220
Ref. #
910-005/ 910-007

Ref. #
15220

PRICE PFISTER
New Ceramic Valve

Stem Extension

STERLING
Mixing Valve / Single Lever

CARDED

PRICE PFISTER
Stem and Trim Extension

New Compression Shower

Ref. #
910-862

PP910-862 03-1769C

02/03/00

PP974-371A



S-140 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

STEM EXTENSIONS

0-3075 V-5806 0-4003 0-4005
Ref. #
3760

Ref. #
3759

VALLEY
Widespread Extension

VALLEY
Widespread Stop Extension

Cold Lever Handle

VALLEY
For Shower Valve

Ref. #
5805

MO97344 MO90274 MO97371

Wide Spread  is

1-21/32" Long

Ref. # 90274

MOEN
Handle Adapter Kit

MOEN
Stem Extension Kit

Monticello

HOT Ref. # 97344

MOEN
Handle Adapter Kit

07/26/05

For Wide Spread For Shower

Shower is 

1-19/32" Long

For Wide Spread For Shower

0-3995 
1 PAIR H&C

0-3991 
1 PAIR H&C



S-141

STEM EXTENSIONS

0-3121

LARSEN SUPPLY CO., INC.FAUCET REPAIR 

MOEN
Handle Adapter 

Kit

Ref. #
100429

01/02/04



S-142 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

STEMS



S-143FAUCET REPAIR 

INDEX

0-1051  . . . . . . . . . . . . . . . . . .S-10

0-1055  . . . . . . . . . . . . . . . . . .S-11

0-1057  . . . . . . . . . . . . . . . . . .S-11

0-2061  . . . . . . . . . . . . . . . . . . .S-7

0-2063  . . . . . . . . . . . . . . . . . . .S-8

0-2065  . . . . . . . . . . . . . . . . . . .S-8

0-2079  . . . . . . . . . . . . . . . . . .S-10

0-2081  . . . . . . . . . . . . . . . . . . .S-8

0-2083  . . . . . . . . . . . . . . . . . .S-12

0-2085  . . . . . . . . . . . . . . . . . . .S-8

0-2099  . . . . . . . . . . . . . . . . . . .S-5

0-3073  . . . . . . . . . . . . . . . . . .S-11

0-3081  . . . . . . . . . . . . . . . . . . .S-9

0-3095  . . . . . . . . . . . . . . . . . . .S-9

0-3097  . . . . . . . . . . . . . . . . . . .S-9

0-3099  . . . . . . . . . . . . . . . . . . .S-9

0-4007  . . . . . . . . . . . . . . . . . .S-17

0-4009  . . . . . . . . . . . . . . . . . .S-17

0-4021  . . . . . . . . . . . . . . . . . . .S-7

0-4029  . . . . . . . . . . . . . . . . . .S-13

0-4037  . . . . . . . . . . . . . . . . . .S-12

0-4039  . . . . . . . . . . . . . . . . . . .S-8

0-4041  . . . . . . . . . . . . . . . . . . .S-8

0-4047  . . . . . . . . . . . . . . . . . . .S-8

0-4049  . . . . . . . . . . . . . . . . . . .S-9

0-4057  . . . . . . . . . . . . . . . . . .S-16

0-4057S  . . . . . . . . . . . . . . . . .S-12

0-4059  . . . . . . . . . . . . . . . . . . .S-5

0-4501  . . . . . . . . . . . . . . . . . .S-16

S-101-1  . . . . . . . . . . . . . . . . .S-21

S-101-2  . . . . . . . . . . . . . . . . .S-21

S-102-1  . . . . . . . . . . . . . . . . .S-29

S-102-2  . . . . . . . . . . . . . . . . .S-29

S-106-1  . . . . . . . . . . . . . . . . .S-29

S-106-1N  . . . . . . . . . . . . . . . .S-29

S-106-2  . . . . . . . . . . . . . . . . .S-29

S-106-2N  . . . . . . . . . . . . . . . .S-29

S-107-1  . . . . . . . . . . . . . . . . .S-27

S-107-2  . . . . . . . . . . . . . . . . .S-27

S-108-1  . . . . . . . . . . . . . . . . .S-22

S-108-2  . . . . . . . . . . . . . . . . .S-22

S-111-1  . . . . . . . . . . . . . . . . .S-19

S-111-2  . . . . . . . . . . . . . . . . .S-19

S-112-1  . . . . . . . . . . . . . . . . .S-20

S-112-2  . . . . . . . . . . . . . . . . .S-20

S-114-1  . . . . . . . . . . . . . . . . .S-21

S-114-2  . . . . . . . . . . . . . . . . .S-21

S-115-1  . . . . . . . . . . . . . . . . .S-22

S-115-2  . . . . . . . . . . . . . . . . .S-22

S-116-3  . . . . . . . . . . . . . . . . .S-25

S-117-1  . . . . . . . . . . . . . . . . .S-20

S-117-2  . . . . . . . . . . . . . . . . .S-20

S-119-1  . . . . . . . . . . . . . . . . .S-28

S-119-2  . . . . . . . . . . . . . . . . .S-28

S-120-1  . . . . . . . . . . . . . . . . .S-28

S-120-2  . . . . . . . . . . . . . . . . .S-28

S-121-1  . . . . . . . . . . . . . . . . .S-26

S-121-2  . . . . . . . . . . . . . . . . .S-26

S-122-1  . . . . . . . . . . . . . . . . .S-28

S-122-2  . . . . . . . . . . . . . . . . .S-28

S-123-1  . . . . . . . . . . . . . . . . .S-19

S-123-2  . . . . . . . . . . . . . . . . .S-19

S-124-1  . . . . . . . . . . . . . . . . .S-19

S-124-2  . . . . . . . . . . . . . . . . .S-19

S-125-1  . . . . . . . . . . . . . . . . .S-22

S-125-2  . . . . . . . . . . . . . . . . .S-22

S-126-1  . . . . . . . . . . . . . . . . .S-21

S-126-2  . . . . . . . . . . . . . . . . .S-21

S-127-1  . . . . . . . . . . . . . . . . .S-30

S-127-2  . . . . . . . . . . . . . . . . .S-30

S-128-1  . . . . . . . . . . . . . . . . .S-20

S-128-2  . . . . . . . . . . . . . . . . .S-20

S-129-1  . . . . . . . . . . . . . . . . .S-21

S-129-2  . . . . . . . . . . . . . . . . .S-21

S-130-1  . . . . . . . . . . . . . . . . .S-22

S-130-2  . . . . . . . . . . . . . . . . .S-22

S-131-1  . . . . . . . . . . . . . . . . .S-31

S-131-2  . . . . . . . . . . . . . . . . .S-31

S-132-1  . . . . . . . . . . . . . . . . .S-31

S-132-2  . . . . . . . . . . . . . . . . .S-31

S-134-1  . . . . . . . . . . . . . . . . .S-25

S-134-2  . . . . . . . . . . . . . . . . .S-25

S-135-3  . . . . . . . . . . . . . . . . .S-33

S-136-3  . . . . . . . . . . . . . . . . .S-36

S-137-1  . . . . . . . . . . . . . . . . .S-21

S-137-2  . . . . . . . . . . . . . . . . .S-21

S-138-1  . . . . . . . . . . . . . . . . .S-21

S-138-2  . . . . . . . . . . . . . . . . .S-21

S-139-1  . . . . . . . . . . . . . . . . .S-20

S-139-2  . . . . . . . . . . . . . . . . .S-20

S-140-1  . . . . . . . . . . . . . . . . .S-20

S-140-2  . . . . . . . . . . . . . . . . .S-20

S-141-1  . . . . . . . . . . . . . . . . .S-22

S-141-2  . . . . . . . . . . . . . . . . .S-22

S-142-1  . . . . . . . . . . . . . . . . .S-26

S-142-2  . . . . . . . . . . . . . . . . .S-26

S-143-1  . . . . . . . . . . . . . . . . .S-24

S-143-2  . . . . . . . . . . . . . . . . .S-24

S-144-1  . . . . . . . . . . . . . . . . .S-19

S-144-2  . . . . . . . . . . . . . . . . .S-19

S-145-1  . . . . . . . . . . . . . . . . .S-31

S-145-2  . . . . . . . . . . . . . . . . .S-31

S-146-3  . . . . . . . . . . . . . . . . . .S-1

S-150-1  . . . . . . . . . . . . . . . . .S-19

S-150-2  . . . . . . . . . . . . . . . . .S-19

S-151-1  . . . . . . . . . . . . . . . . .S-20

S-151-2  . . . . . . . . . . . . . . . . .S-20

S-152-1  . . . . . . . . . . . . . . . . .S-22

S-152-2  . . . . . . . . . . . . . . . . .S-22

S-153-1  . . . . . . . . . . . . . . . . .S-28

S-153-2  . . . . . . . . . . . . . . . . .S-28

S-154-1  . . . . . . . . . . . . . . . . . .S-3

S-154-2  . . . . . . . . . . . . . . . . . .S-3

S-155-1  . . . . . . . . . . . . . . . . .S-30

S-155-2  . . . . . . . . . . . . . . . . .S-30

S-156-1  . . . . . . . . . . . . . . . . .S-28

S-156-2  . . . . . . . . . . . . . . . . .S-28

S-157-3  . . . . . . . . . . . . . . . . . .S-1

S-158-3  . . . . . . . . . . . . . . . . .S-34

S-159-1  . . . . . . . . . . . . . . . . . .S-2

S-159-2  . . . . . . . . . . . . . . . . . .S-2

S-160-4  . . . . . . . . . . . . . . . . .S-29

S-161-1  . . . . . . . . . . . . . . . . . .S-3

S-161-2  . . . . . . . . . . . . . . . . . .S-3

S-163-1  . . . . . . . . . . . . . . . . .S-32

S-163-2  . . . . . . . . . . . . . . . . .S-32

S-164-3  . . . . . . . . . . . . . . . . . .S-6

S-165-1  . . . . . . . . . . . . . . . . .S-33

S-165-2  . . . . . . . . . . . . . . . . .S-33

S-166-1  . . . . . . . . . . . . . . . . .S-33

S-166-2  . . . . . . . . . . . . . . . . .S-33

S-167-1  . . . . . . . . . . . . . . . . .S-33

S-167-2  . . . . . . . . . . . . . . . . .S-33

S-168-1  . . . . . . . . . . . . . . . . .S-48

S-168-2  . . . . . . . . . . . . . . . . .S-48

S-170-1  . . . . . . . . . . . . . . . . . .S-7

S-170-2  . . . . . . . . . . . . . . . . . .S-7

S-171-1  . . . . . . . . . . . . . . . . .S-11

S-171-2  . . . . . . . . . . . . . . . . .S-11

S-196-3  . . . . . . . . . . . . . . . . . .S-3

S-197-3  . . . . . . . . . . . . . . . . . .S-3

S-198-3  . . . . . . . . . . . . . . . . . .S-1

S-199-3  . . . . . . . . . . . . . . . . . .S-3

S-200-3  . . . . . . . . . . . . . . . . . .S-3

S-203-3  . . . . . . . . . . . . . . . . . .S-4

S-203-3G  . . . . . . . . . . . . . . . . .S-4

S-204-1  . . . . . . . . . . . . . . . . .S-26

S-204-2  . . . . . . . . . . . . . . . . .S-26

S-206-1  . . . . . . . . . . . . . . . . .S-31

S-206-2  . . . . . . . . . . . . . . . . .S-31

S-207-1  . . . . . . . . . . . . . . . . .S-27

S-207-2  . . . . . . . . . . . . . . . . .S-27

S-208-1  . . . . . . . . . . . . . . . . .S-30

S-208-2  . . . . . . . . . . . . . . . . .S-30

S-209-1  . . . . . . . . . . . . . . . . .S-23

S-209-2  . . . . . . . . . . . . . . . . .S-23

S-210-1  . . . . . . . . . . . . . . . . .S-24

S-210-2  . . . . . . . . . . . . . . . . .S-24

S-211-3  . . . . . . . . . . . . . . . . .S-30

S-212-1  . . . . . . . . . . . . . . . . .S-31

S-212-2  . . . . . . . . . . . . . . . . .S-31

S-213-1  . . . . . . . . . . . . . . . . .S-32

S-213-2  . . . . . . . . . . . . . . . . .S-32

S-214-1  . . . . . . . . . . . . . . . . .S-25

S-214-2  . . . . . . . . . . . . . . . . .S-25

S-215-1  . . . . . . . . . . . . . . . . .S-26

S-215-2  . . . . . . . . . . . . . . . . .S-26

S-216-1  . . . . . . . . . . . . . . . . .S-26

S-216-2  . . . . . . . . . . . . . . . . .S-26

S-217-1  . . . . . . . . . . . . . . . . .S-32

S-217-2  . . . . . . . . . . . . . . . . .S-32

STEM PAGE STEM PAGE STEM PAGE 

LARSEN SUPPLY CO., INC.



S-144 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

INDEX

STEM PAGE STEM PAGE STEM PAGE 
S-218-3  . . . . . . . . . . . . . . . . .S-23

S-219-3  . . . . . . . . . . . . . . . . .S-23

S-219-3G  . . . . . . . . . . . . . . . .S-23

S-220-2  . . . . . . . . . . . . . . . . .S-24

S-220-3  . . . . . . . . . . . . . . . . .S-24

S-220-5  . . . . . . . . . . . . . . . . .S-24

S-221-3  . . . . . . . . . . . . . . . . . .S-2

S-222-3  . . . . . . . . . . . . . . . . . .S-2

S-223-3  . . . . . . . . . . . . . . . . .S-24

S-224-1  . . . . . . . . . . . . . . . . .S-26

S-224-2  . . . . . . . . . . . . . . . . .S-26

S-225-3  . . . . . . . . . . . . . . . . .S-30

S-226-1  . . . . . . . . . . . . . . . . .S-25

S-226-2  . . . . . . . . . . . . . . . . .S-25

S-228-1  . . . . . . . . . . . . . . . . .S-32

S-228-2  . . . . . . . . . . . . . . . . .S-32

S-229-3  . . . . . . . . . . . . . . . . .S-23

S-230-3  . . . . . . . . . . . . . . . . . .S-5

S-231-3  . . . . . . . . . . . . . . . . . .S-3

S-232-3  . . . . . . . . . . . . . . . . . .S-5

S-233-3  . . . . . . . . . . . . . . . . . .S-1

S-233-3G  . . . . . . . . . . . . . . . . .S-1

S-234-3  . . . . . . . . . . . . . . . . . .S-5

S-236-3  . . . . . . . . . . . . . . . . . .S-1

S-237-3  . . . . . . . . . . . . . . . . . .S-5

S-240-3  . . . . . . . . . . . . . . . . . .S-1

S-241-2  . . . . . . . . . . . . . . . . .S-19

S-241-3  . . . . . . . . . . . . . . . . .S-19

S-242-2  . . . . . . . . . . . . . . . . .S-23

S-242-3  . . . . . . . . . . . . . . . . .S-23

S-243-3  . . . . . . . . . . . . . . . . .S-24

S-300-1  . . . . . . . . . . . . . . . . .S-40

S-300-2  . . . . . . . . . . . . . . . . .S-40

S-301-1  . . . . . . . . . . . . . . . . .S-44

S-301-2  . . . . . . . . . . . . . . . . .S-44

S-304-1  . . . . . . . . . . . . . . . . .S-46

S-304-2  . . . . . . . . . . . . . . . . .S-46

S-306-1  . . . . . . . . . . . . . . . . .S-43

S-306-2  . . . . . . . . . . . . . . . . .S-43

S-308-1  . . . . . . . . . . . . . . . . .S-27

S-308-2  . . . . . . . . . . . . . . . . .S-27

S-309-1  . . . . . . . . . . . . . . . . .S-32

S-309-2  . . . . . . . . . . . . . . . . .S-32

S-310-1  . . . . . . . . . . . . . . . . .S-38

S-310-2  . . . . . . . . . . . . . . . . .S-38

S-311-1  . . . . . . . . . . . . . . . . .S-42

S-311-2  . . . . . . . . . . . . . . . . .S-42

S-312-1  . . . . . . . . . . . . . . . . .S-30

S-312-2  . . . . . . . . . . . . . . . . .S-30

S-313-1  . . . . . . . . . . . . . . . . .S-42

S-313-2  . . . . . . . . . . . . . . . . .S-42

S-315-1  . . . . . . . . . . . . . . . . .S-38

S-315-2  . . . . . . . . . . . . . . . . .S-38

S-316-1  . . . . . . . . . . . . . . . . .S-44

S-316-2  . . . . . . . . . . . . . . . . .S-44

S-318-1  . . . . . . . . . . . . . . . . .S-27

S-318-2  . . . . . . . . . . . . . . . . .S-27

S-319-1  . . . . . . . . . . . . . . . . .S-27

S-319-2  . . . . . . . . . . . . . . . . .S-27

S-320-3  . . . . . . . . . . . . . . . . .S-23

S-321-1  . . . . . . . . . . . . . . . . .S-25

S-321-2  . . . . . . . . . . . . . . . . .S-25

S-322-1  . . . . . . . . . . . . . . . . .S-32

S-322-2  . . . . . . . . . . . . . . . . .S-32

S-325-1  . . . . . . . . . . . . . . . . .S-28

S-325-2  . . . . . . . . . . . . . . . . .S-28

S-326-3  . . . . . . . . . . . . . . . . .S-27

S-327-1  . . . . . . . . . . . . . . . . .S-33

S-327-2  . . . . . . . . . . . . . . . . .S-33

S-328-1  . . . . . . . . . . . . . . . . . .S-2

S-328-2  . . . . . . . . . . . . . . . . . .S-2

S-329-3  . . . . . . . . . . . . . . . . . .S-1

S-330-1  . . . . . . . . . . . . . . . . . .S-6

S-330-2  . . . . . . . . . . . . . . . . . .S-6

S-331-3  . . . . . . . . . . . . . . . . . .S-6

S-340-3  . . . . . . . . . . . . . . . . . .S-6

S-350-3  . . . . . . . . . . . . . . . . .S-16

S-351-3  . . . . . . . . . . . . . . . . .S-16

S-352-3  . . . . . . . . . . . . . . . . .S-16

S-353-3  . . . . . . . . . . . . . . . . .S-10

S-401-1  . . . . . . . . . . . . . . . . .S-39

S-401-2  . . . . . . . . . . . . . . . . .S-39

S-404-1  . . . . . . . . . . . . . . . . .S-35

S-404-2  . . . . . . . . . . . . . . . . .S-35

S-405-1  . . . . . . . . . . . . . . . . .S-35

S-405-2  . . . . . . . . . . . . . . . . .S-35

S-407-1  . . . . . . . . . . . . . . . . .S-40

S-407-2  . . . . . . . . . . . . . . . . .S-40

S-408-1  . . . . . . . . . . . . . . . . .S-41

S-408-2  . . . . . . . . . . . . . . . . .S-41

S-409-1  . . . . . . . . . . . . . . . . .S-44

S-409-2  . . . . . . . . . . . . . . . . .S-44

S-410-1  . . . . . . . . . . . . . . . . .S-44

S-410-2  . . . . . . . . . . . . . . . . .S-44

S-411-1  . . . . . . . . . . . . . . . . .S-35

S-411-2  . . . . . . . . . . . . . . . . .S-35

S-412-1  . . . . . . . . . . . . . . . . .S-42

S-412-2  . . . . . . . . . . . . . . . . .S-42

S-413-1  . . . . . . . . . . . . . . . . .S-40

S-413-2  . . . . . . . . . . . . . . . . .S-40

S-415-1  . . . . . . . . . . . . . . . . .S-39

S-415-2  . . . . . . . . . . . . . . . . .S-39

S-416-1  . . . . . . . . . . . . . . . . .S-39

S-416-2  . . . . . . . . . . . . . . . . .S-39

S-417-1  . . . . . . . . . . . . . . . . .S-48

S-417-2  . . . . . . . . . . . . . . . . .S-48

S-418-1  . . . . . . . . . . . . . . . . .S-35

S-418-2  . . . . . . . . . . . . . . . . .S-35

S-419-1  . . . . . . . . . . . . . . . . .S-41

S-419-2  . . . . . . . . . . . . . . . . .S-41

S-420-1  . . . . . . . . . . . . . . . . .S-38

S-420-2  . . . . . . . . . . . . . . . . .S-38

S-421-1  . . . . . . . . . . . . . . . . .S-42

S-421-2  . . . . . . . . . . . . . . . . .S-42

S-423-1  . . . . . . . . . . . . . . . . .S-47

S-423-2  . . . . . . . . . . . . . . . . .S-47

S-424-1  . . . . . . . . . . . . . . . . . .S-7

S-424-2  . . . . . . . . . . . . . . . . . .S-7

S-425-1  . . . . . . . . . . . . . . . . .S-52

S-425-2  . . . . . . . . . . . . . . . . .S-52

S-425-3  . . . . . . . . . . . . . . . . .S-52

S-426-1  . . . . . . . . . . . . . . . . . .S-7

S-426-2  . . . . . . . . . . . . . . . . . .S-7

S-428-1  . . . . . . . . . . . . . . . . .S-46

S-428-2  . . . . . . . . . . . . . . . . .S-46

S-429-3  . . . . . . . . . . . . . . . . .S-36

S-430-1  . . . . . . . . . . . . . . . . .S-43

S-430-2  . . . . . . . . . . . . . . . . .S-43

S-431-1  . . . . . . . . . . . . . . . . .S-37

S-431-2  . . . . . . . . . . . . . . . . .S-37

S-432-1  . . . . . . . . . . . . . . . . .S-45

S-432-2  . . . . . . . . . . . . . . . . .S-45

S-433-1  . . . . . . . . . . . . . . . . .S-39

S-433-2  . . . . . . . . . . . . . . . . .S-39

S-434-1  . . . . . . . . . . . . . . . . .S-47

S-434-2  . . . . . . . . . . . . . . . . .S-47

S-435-1  . . . . . . . . . . . . . . . . .S-37

S-435-2  . . . . . . . . . . . . . . . . .S-37

S-436-1  . . . . . . . . . . . . . . . . .S-37

S-436-2  . . . . . . . . . . . . . . . . .S-37

S-437-1  . . . . . . . . . . . . . . . . .S-39

S-437-2  . . . . . . . . . . . . . . . . .S-39

S-438-1  . . . . . . . . . . . . . . . . .S-31

S-438-2  . . . . . . . . . . . . . . . . .S-31

S-439-1  . . . . . . . . . . . . . . . . . .S-7

S-439-2  . . . . . . . . . . . . . . . . . .S-7

S-440-1  . . . . . . . . . . . . . . . . .S-45

S-440-2  . . . . . . . . . . . . . . . . .S-45

S-441-3  . . . . . . . . . . . . . . . . . .S-6

S-442-2  . . . . . . . . . . . . . . . . . .S-2

S-442-3  . . . . . . . . . . . . . . . . . .S-2

S-442-3G  . . . . . . . . . . . . . . . . .S-2

S-443-3  . . . . . . . . . . . . . . . . .S-33

S-444-3  . . . . . . . . . . . . . . . . .S-48

S-445-3  . . . . . . . . . . . . . . . . .S-29

S-446-3  . . . . . . . . . . . . . . . . . .S-2

S-447-3  . . . . . . . . . . . . . . . . .S-29

S-448-1  . . . . . . . . . . . . . . . . .S-49

S-448-2  . . . . . . . . . . . . . . . . .S-49

S-449-3  . . . . . . . . . . . . . . . . . .S-2

S-460-3  . . . . . . . . . . . . . . . . . .S-6

S-461-3  . . . . . . . . . . . . . . . . . .S-9

S-462-1  . . . . . . . . . . . . . . . . .S-47

S-462-2  . . . . . . . . . . . . . . . . .S-47

S-463-1  . . . . . . . . . . . . . . . . .S-48

S-463-2  . . . . . . . . . . . . . . . . .S-48

S-470-3  . . . . . . . . . . . . . . . . .S-12

S-471-4  . . . . . . . . . . . . . . . . .S-12

S-502-1  . . . . . . . . . . . . . . . . .S-40

S-502-2  . . . . . . . . . . . . . . . . .S-40

S-503-1  . . . . . . . . . . . . . . . . .S-39



S-145FAUCET REPAIR 

INDEX

STEM PAGE STEM PAGE STEM PAGE 
S-503-2  . . . . . . . . . . . . . . . . .S-39

S-504-1  . . . . . . . . . . . . . . . . .S-43

S-504-2  . . . . . . . . . . . . . . . . .S-43

S-506-1  . . . . . . . . . . . . . . . . .S-46

S-506-2  . . . . . . . . . . . . . . . . .S-46

S-507-1  . . . . . . . . . . . . . . . . .S-46

S-507-2  . . . . . . . . . . . . . . . . .S-46

S-508-1  . . . . . . . . . . . . . . . . .S-47

S-508-2  . . . . . . . . . . . . . . . . .S-47

S-509-1  . . . . . . . . . . . . . . . . .S-41

S-509-2  . . . . . . . . . . . . . . . . .S-41

S-510-1  . . . . . . . . . . . . . . . . .S-44

S-510-2  . . . . . . . . . . . . . . . . .S-44

S-512-1  . . . . . . . . . . . . . . . . .S-43

S-512-2  . . . . . . . . . . . . . . . . .S-43

S-514-1  . . . . . . . . . . . . . . . . .S-40

S-514-2  . . . . . . . . . . . . . . . . .S-40

S-518-3  . . . . . . . . . . . . . . . . .S-37

S-520-1  . . . . . . . . . . . . . . . . .S-44

S-520-2  . . . . . . . . . . . . . . . . .S-44

S-521-1  . . . . . . . . . . . . . . . . .S-43

S-521-2  . . . . . . . . . . . . . . . . .S-43

S-524-1  . . . . . . . . . . . . . . . . .S-38

S-524-2  . . . . . . . . . . . . . . . . .S-38

S-525-1  . . . . . . . . . . . . . . . . .S-38

S-525-2  . . . . . . . . . . . . . . . . .S-38

S-526-3  . . . . . . . . . . . . . . . . .S-46

S-527-1  . . . . . . . . . . . . . . . . .S-42

S-527-2  . . . . . . . . . . . . . . . . .S-42

S-528-1  . . . . . . . . . . . . . . . . .S-41

S-528-2  . . . . . . . . . . . . . . . . .S-41

S-529-1  . . . . . . . . . . . . . . . . .S-47

S-529-2  . . . . . . . . . . . . . . . . .S-47

S-530-1  . . . . . . . . . . . . . . . . .S-41

S-530-2  . . . . . . . . . . . . . . . . .S-41

S-531-1  . . . . . . . . . . . . . . . . .S-45

S-531-2  . . . . . . . . . . . . . . . . .S-45

S-532-1  . . . . . . . . . . . . . . . . .S-54

S-532-2  . . . . . . . . . . . . . . . . .S-54

S-533-1  . . . . . . . . . . . . . . . . .S-45

S-533-2  . . . . . . . . . . . . . . . . .S-45

S-534-3  . . . . . . . . . . . . . . . . .S-36

S-535-3  . . . . . . . . . . . . . . . . .S-38

S-536-3  . . . . . . . . . . . . . . . . .S-36

S-537-1  . . . . . . . . . . . . . . . . .S-40

S-537-2  . . . . . . . . . . . . . . . . .S-40

S-538-3  . . . . . . . . . . . . . . . . .S-48

S-539-1  . . . . . . . . . . . . . . . . .S-37

S-539-2  . . . . . . . . . . . . . . . . .S-37

S-540-3  . . . . . . . . . . . . . . . . .S-49

S-545-1  . . . . . . . . . . . . . . . . .S-61

S-545-2  . . . . . . . . . . . . . . . . .S-61

S-546-1  . . . . . . . . . . . . . . . . .S-61

S-546-2  . . . . . . . . . . . . . . . . .S-61

S-600-3  . . . . . . . . . . . . . . . . .S-52

S-601-1  . . . . . . . . . . . . . . . . .S-45

S-601-2  . . . . . . . . . . . . . . . . .S-45

S-602-1  . . . . . . . . . . . . . . . . .S-46

S-602-2  . . . . . . . . . . . . . . . . .S-46

S-603-1  . . . . . . . . . . . . . . . . .S-62

S-603-2  . . . . . . . . . . . . . . . . .S-62

S-605-1  . . . . . . . . . . . . . . . . .S-36

S-605-2  . . . . . . . . . . . . . . . . .S-36

S-606-3  . . . . . . . . . . . . . . . . .S-49

S-609-1  . . . . . . . . . . . . . . . . .S-54

S-609-2  . . . . . . . . . . . . . . . . .S-54

S-611-4  . . . . . . . . . . . . . . . . .S-56

S-612-4  . . . . . . . . . . . . . . . . .S-56

S-613-4  . . . . . . . . . . . . . . . . .S-55

S-614-4  . . . . . . . . . . . . . . . . .S-56

S-615-1  . . . . . . . . . . . . . . . . .S-62

S-615-2  . . . . . . . . . . . . . . . . .S-62

S-616-3  . . . . . . . . . . . . . . . . .S-35

S-619-1  . . . . . . . . . . . . . . . . .S-63

S-619-2  . . . . . . . . . . . . . . . . .S-63

S-620-1  . . . . . . . . . . . . . . . . .S-41

S-620-2  . . . . . . . . . . . . . . . . .S-41

S-621-1  . . . . . . . . . . . . . . . . .S-47

S-621-2  . . . . . . . . . . . . . . . . .S-47

S-622-1  . . . . . . . . . . . . . . . . .S-36

S-622-2  . . . . . . . . . . . . . . . . .S-36

S-623-1  . . . . . . . . . . . . . . . . .S-43

S-623-2  . . . . . . . . . . . . . . . . .S-43

S-624-3  . . . . . . . . . . . . . . . . .S-35

S-625-1  . . . . . . . . . . . . . . . . .S-62

S-625-2  . . . . . . . . . . . . . . . . .S-62

S-626-3  . . . . . . . . . . . . . . . . .S-37

S-627-3  . . . . . . . . . . . . . . . . .S-13

S-701-1  . . . . . . . . . . . . . . . . .S-53

S-701-2  . . . . . . . . . . . . . . . . .S-53

S-702-3  . . . . . . . . . . . . . . . . .S-55

S-703-3  . . . . . . . . . . . . . . . . .S-55

S-705-1  . . . . . . . . . . . . . . . . .S-58

S-705-2  . . . . . . . . . . . . . . . . .S-58

S-708-1  . . . . . . . . . . . . . . . . .S-57

S-708-2  . . . . . . . . . . . . . . . . .S-57

S-713-1  . . . . . . . . . . . . . . . . .S-58

S-713-2  . . . . . . . . . . . . . . . . .S-58

S-714-1  . . . . . . . . . . . . . . . . .S-59

S-714-2  . . . . . . . . . . . . . . . . .S-59

S-716-1  . . . . . . . . . . . . . . . . .S-60

S-716-2  . . . . . . . . . . . . . . . . .S-60

S-716-3  . . . . . . . . . . . . . . . . .S-59

S-717-3  . . . . . . . . . . . . . . . . .S-58

S-718-1  . . . . . . . . . . . . . . . . .S-53

S-718-2  . . . . . . . . . . . . . . . . .S-53

S-719-1  . . . . . . . . . . . . . . . . .S-53

S-719-2  . . . . . . . . . . . . . . . . .S-53

S-720-1  . . . . . . . . . . . . . . . . .S-42

S-720-2  . . . . . . . . . . . . . . . . .S-42

S-721-1  . . . . . . . . . . . . . . . . .S-54

S-721-2  . . . . . . . . . . . . . . . . .S-54

S-722-1  . . . . . . . . . . . . . . . . .S-57

S-722-2  . . . . . . . . . . . . . . . . .S-57

S-723-3  . . . . . . . . . . . . . . . . .S-57

S-724-3  . . . . . . . . . . . . . . . . .S-51

S-725-3  . . . . . . . . . . . . . . . . .S-60

S-726-4  . . . . . . . . . . . . . . . . .S-50

S-727-3  . . . . . . . . . . . . . . . . .S-51

S-728-3  . . . . . . . . . . . . . . . . .S-50

S-729-4  . . . . . . . . . . . . . . . . .S-14

S-730-3  . . . . . . . . . . . . . . . . .S-76

S-730-4  . . . . . . . . . . . . . . . . .S-50

S-731-1  . . . . . . . . . . . . . . . . .S-13

S-731-2  . . . . . . . . . . . . . . . . .S-13

S-732-3  . . . . . . . . . . . . . . . . .S-61

S-733-2  . . . . . . . . . . . . . . . . .S-97

S-733-3  . . . . . . . . . . . . . . . . .S-97

S-734-3  . . . . . . . . . . . . . . . . .S-76

S-735-4  . . . . . . . . . . . . . . . . .S-14

S-736-3  . . . . . . . . . . . . . . . . .S-60

S-737-3  . . . . . . . . . . . . . . . . .S-90

S-738-4  . . . . . . . . . . . . . . . . .S-90

S-740-4  . . . . . . . . . . . . . . . . .S-91

S-741-1  . . . . . . . . . . . . . . . . .S-91

S-741-2  . . . . . . . . . . . . . . . . .S-91

S-741-4  . . . . . . . . . . . . . . . . .S-92

S-745-1  . . . . . . . . . . . . . . . . .S-91

S-745-2  . . . . . . . . . . . . . . . . .S-91

S-748-1  . . . . . . . . . . . . . . . . .S-92

S-748-2  . . . . . . . . . . . . . . . . .S-92

S-750-4  . . . . . . . . . . . . . . . . .S-16

S-760-4  . . . . . . . . . . . . . . . . .S-14

S-761-4  . . . . . . . . . . . . . . . . .S-14

S-762-3  . . . . . . . . . . . . . . . . .S-93

S-763-3  . . . . . . . . . . . . . . . . .S-93

S-764-3  . . . . . . . . . . . . . . . . .S-15

S-770-1  . . . . . . . . . . . . . . . . .S-86

S-770-2  . . . . . . . . . . . . . . . . .S-86

S-800-1  . . . . . . . . . . . . . . . . .S-81

S-800-2  . . . . . . . . . . . . . . . . .S-81

S-801-1  . . . . . . . . . . . . . . . . .S-87

S-801-2  . . . . . . . . . . . . . . . . .S-87

S-802-3  . . . . . . . . . . . . . . . . .S-83

S-803-1  . . . . . . . . . . . . . . . . .S-86

S-803-2  . . . . . . . . . . . . . . . . .S-86

S-804-2  . . . . . . . . . . . . . . . . .S-65

S-804-3  . . . . . . . . . . . . . . . . .S-65

S-805-3  . . . . . . . . . . . . . . . . .S-65

S-806-4  . . . . . . . . . . . . . . . . .S-66

S-807-4  . . . . . . . . . . . . . . . . .S-66

S-809-1  . . . . . . . . . . . . . . . . .S-75

S-809-2  . . . . . . . . . . . . . . . . .S-75

S-810-1  . . . . . . . . . . . . . . . . .S-75

S-810-2  . . . . . . . . . . . . . . . . .S-75

S-811-3  . . . . . . . . . . . . . . . . .S-15

S-811-3G  . . . . . . . . . . . . . . . .S-15

S-812-1  . . . . . . . . . . . . . . . . .S-81

S-812-2  . . . . . . . . . . . . . . . . .S-81

S-813-3  . . . . . . . . . . . . . . . . .S-83

S-814-3  . . . . . . . . . . . . . . . . .S-15

LARSEN SUPPLY CO., INC.



S-1040-3  . . . . . . . . . . . . . . .S-131

S-1041-3  . . . . . . . . . . . . . . .S-110

S-1042-3  . . . . . . . . . . . . . . .S-108

S-1043-3  . . . . . . . . . . . . . . .S-109

S-1044-3  . . . . . . . . . . . . . . .S-130

S-1045-3  . . . . . . . . . . . . . . .S-121

S-1046-1  . . . . . . . . . . . . . . .S-130

S-1046-2  . . . . . . . . . . . . . . .S-130

S-1047-3  . . . . . . . . . . . . . . .S-121

S-1048-3  . . . . . . . . . . . . . . .S-113

S-1049-3  . . . . . . . . . . . . . . .S-105

S-1050-3  . . . . . . . . . . . . . . .S-111

S-1051-3  . . . . . . . . . . . . . . .S-110

S-1052-3  . . . . . . . . . . . . . . .S-110

S-1053-3  . . . . . . . . . . . . . . .S-124

S-1054-3  . . . . . . . . . . . . . . .S-113

S-1055-3  . . . . . . . . . . . . . . .S-113

S-1057-3  . . . . . . . . . . . . . . .S-114

S-1058-3  . . . . . . . . . . . . . . .S-124

S-1059-3  . . . . . . . . . . . . . . .S-109

S-1060-3  . . . . . . . . . . . . . . .S-114

S-1061-4  . . . . . . . . . . . . . . .S-131

S-1062-4  . . . . . . . . . . . . . . . .S-83

S-1063-4  . . . . . . . . . . . . . . . .S-80

S-1064-4  . . . . . . . . . . . . . . . .S-80

S-1065-4  . . . . . . . . . . . . . . . .S-95

S-1066-4  . . . . . . . . . . . . . . .S-127

S-1067-4  . . . . . . . . . . . . . . .S-102

S-1068-3  . . . . . . . . . . . . . . .S-118

S-1069-4  . . . . . . . . . . . . . . .S-126

S-1070-1  . . . . . . . . . . . . . . .S-123

S-1070-2  . . . . . . . . . . . . . . .S-123

S-1071-4  . . . . . . . . . . . . . . .S-124

S-1102-4  . . . . . . . . . . . . . . .S-119

S-1108-3  . . . . . . . . . . . . . . .S-118

S-1109-4  . . . . . . . . . . . . . . .S-118

S-1110-3  . . . . . . . . . . . . . . . .S-98

S-1111-3 . . . . . . . . . . . . . . . .S-119

S-1112-4  . . . . . . . . . . . . . . .S-123

S-1114-3  . . . . . . . . . . . . . . .S-100

S-1115-4  . . . . . . . . . . . . . . .S-120

S-1116-4  . . . . . . . . . . . . . . .S-100

S-1117-3  . . . . . . . . . . . . . . .S-105

S-1118-3  . . . . . . . . . . . . . . . .S-99

S-1119-3  . . . . . . . . . . . . . . . .S-99

S-1119-3G  . . . . . . . . . . . . . . .S-99

S-1120-4  . . . . . . . . . . . . . . . .S-99

S-1121-4  . . . . . . . . . . . . . . .S-100

S-1121-4G  . . . . . . . . . . . . . .S-100

S-1123-3  . . . . . . . . . . . . . . . .S-17

S-1125-3  . . . . . . . . . . . . . . .S-128

S-1126-3  . . . . . . . . . . . . . . .S-125

S-1127-3  . . . . . . . . . . . . . . .S-132

S-1128-3 . . . . . . . . . . . . . . . .S-111

S-1129-3  . . . . . . . . . . . . . . .S-132

S-1130-3  . . . . . . . . . . . . . . .S-101

S-1131-3  . . . . . . . . . . . . . . .S-117

S-940-3  . . . . . . . . . . . . . . . . .S-76

S-941-1  . . . . . . . . . . . . . . . .S-133

S-941-2  . . . . . . . . . . . . . . . .S-133

S-942-1  . . . . . . . . . . . . . . . . .S-75

S-942-2  . . . . . . . . . . . . . . . . .S-75

S-943-1  . . . . . . . . . . . . . . . . .S-69

S-943-2  . . . . . . . . . . . . . . . . .S-69

S-944-1  . . . . . . . . . . . . . . . . .S-70

S-944-2  . . . . . . . . . . . . . . . . .S-70

S-945-3  . . . . . . . . . . . . . . . . .S-88

S-946-3  . . . . . . . . . . . . . . . . .S-71

S-947-3  . . . . . . . . . . . . . . . . .S-72

S-948-3  . . . . . . . . . . . . . . . . .S-79

S-949-3  . . . . . . . . . . . . . . . . .S-80

S-950-3  . . . . . . . . . . . . . . . . .S-88

S-951-1  . . . . . . . . . . . . . . . . .S-87

S-951-2  . . . . . . . . . . . . . . . . .S-87

S-952-3  . . . . . . . . . . . . . . . . .S-71

S-953-3  . . . . . . . . . . . . . . . . .S-81

S-954-3  . . . . . . . . . . . . . . . . .S-87

S-956-1  . . . . . . . . . . . . . . . . .S-88

S-956-2  . . . . . . . . . . . . . . . . .S-88

S-957-3  . . . . . . . . . . . . . . . . .S-89

S-960-4  . . . . . . . . . . . . . . . . .S-82

S-961-4  . . . . . . . . . . . . . . . . .S-74

S-962-4  . . . . . . . . . . . . . . . . .S-89

S-963-4  . . . . . . . . . . . . . . . . .S-85

S-964-4  . . . . . . . . . . . . . . . . .S-73

S-965-4  . . . . . . . . . . . . . . . . .S-82

S-966-4  . . . . . . . . . . . . . . . . .S-84

S-967-3  . . . . . . . . . . . . . . . .S-133

S-968-3  . . . . . . . . . . . . . . . . .S-84

S-969-3  . . . . . . . . . . . . . . . . .S-59

S-1002-3  . . . . . . . . . . . . . . .S-119

S-1004-3  . . . . . . . . . . . . . . . .S-95

S-1008-3  . . . . . . . . . . . . . . .S-106

S-1009-3  . . . . . . . . . . . . . . . .S-98

S-1011-4  . . . . . . . . . . . . . . . .S-98

S-1012-3  . . . . . . . . . . . . . . .S-104

S-1013-3  . . . . . . . . . . . . . . .S-102

S-1015-3  . . . . . . . . . . . . . . .S-120

S-1017-3  . . . . . . . . . . . . . . .S-105

S-1019-3  . . . . . . . . . . . . . . .S-107

S-1020-4  . . . . . . . . . . . . . . .S-107

S-1021-4  . . . . . . . . . . . . . . .S-107

S-1024-1  . . . . . . . . . . . . . . .S-117

S-1024-2  . . . . . . . . . . . . . . .S-117

S-1025-3  . . . . . . . . . . . . . . .S-127

S-1028-3  . . . . . . . . . . . . . . .S-123

S-1031-3  . . . . . . . . . . . . . . . .S-98

S-1033-4  . . . . . . . . . . . . . . .S-122

S-1034-4  . . . . . . . . . . . . . . .S-122

S-1035-1  . . . . . . . . . . . . . . .S-108

S-1035-2  . . . . . . . . . . . . . . .S-108

S-1036-3  . . . . . . . . . . . . . . .S-129

S-1037-3  . . . . . . . . . . . . . . .S-102

S-1039-3  . . . . . . . . . . . . . . .S-131

S-814-3A  . . . . . . . . . . . . . . . .S-15

S-814-3G  . . . . . . . . . . . . . . . .S-15

S-814-3P  . . . . . . . . . . . . . . . .S-15

S-815-3  . . . . . . . . . . . . . . . . .S-14

S-815-3P  . . . . . . . . . . . . . . . .S-14

S-816-1  . . . . . . . . . . . . . . . . .S-68

S-816-2  . . . . . . . . . . . . . . . . .S-68

S-817-3  . . . . . . . . . . . . . . . . .S-74

S-818-1  . . . . . . . . . . . . . . . . .S-65

S-818-2  . . . . . . . . . . . . . . . . .S-65

S-819-3  . . . . . . . . . . . . . . . . .S-70

S-820-3  . . . . . . . . . . . . . . . . .S-67

S-821-3  . . . . . . . . . . . . . . . . .S-82

S-822-3  . . . . . . . . . . . . . . . . .S-74

S-823-1  . . . . . . . . . . . . . . . . .S-84

S-823-2  . . . . . . . . . . . . . . . . .S-84

S-824-3  . . . . . . . . . . . . . . . . .S-70

S-825-1  . . . . . . . . . . . . . . . . .S-71

S-825-2  . . . . . . . . . . . . . . . . .S-71

S-826-1  . . . . . . . . . . . . . . . . .S-85

S-826-2  . . . . . . . . . . . . . . . . .S-85

S-826-4  . . . . . . . . . . . . . . . .S-127

S-827-1  . . . . . . . . . . . . . . . .S-130

S-827-2  . . . . . . . . . . . . . . . .S-130

S-830-1  . . . . . . . . . . . . . . . . .S-96

S-830-2  . . . . . . . . . . . . . . . . .S-96

S-831-1  . . . . . . . . . . . . . . . . .S-97

S-831-2  . . . . . . . . . . . . . . . . .S-97

S-832-3  . . . . . . . . . . . . . . . . .S-66

S-901-1  . . . . . . . . . . . . . . . . .S-78

S-901-2  . . . . . . . . . . . . . . . . .S-78

S-903-3  . . . . . . . . . . . . . . . . .S-51

S-904-3  . . . . . . . . . . . . . . . . .S-67

S-905-3  . . . . . . . . . . . . . . . . .S-68

S-906-1  . . . . . . . . . . . . . . . . .S-67

S-906-2  . . . . . . . . . . . . . . . . .S-67

S-907-3  . . . . . . . . . . . . . . . . .S-78

S-910-3  . . . . . . . . . . . . . . . . .S-69

S-911-4  . . . . . . . . . . . . . . . . .S-69

S-912-3  . . . . . . . . . . . . . . . . .S-73

S-913-1  . . . . . . . . . . . . . . . . .S-73

S-913-2  . . . . . . . . . . . . . . . . .S-73

S-914-3  . . . . . . . . . . . . . . . . .S-72

S-915-4  . . . . . . . . . . . . . . . . .S-72

S-918-3  . . . . . . . . . . . . . . . . .S-79

S-919-4  . . . . . . . . . . . . . . . . .S-77

S-922-1  . . . . . . . . . . . . . . . . .S-86

S-922-2  . . . . . . . . . . . . . . . . .S-86

S-924-3  . . . . . . . . . . . . . . . . .S-77

S-925-4  . . . . . . . . . . . . . . . . .S-77

S-927-3  . . . . . . . . . . . . . . . .S-133

S-928-4  . . . . . . . . . . . . . . . . .S-89

S-929-3  . . . . . . . . . . . . . . . . .S-90

S-931-4  . . . . . . . . . . . . . . . . .S-68

S-934-4  . . . . . . . . . . . . . . . . .S-79

S-937-3  . . . . . . . . . . . . . . . . .S-78

S-938-3  . . . . . . . . . . . . . . . . .S-85

STEM PAGE STEM PAGE STEM PAGE 

S-146 LARSEN SUPPLY CO., INC. FAUCET REPAIR 

INDEX



S-147LARSEN SUPPLY CO., INC.FAUCET REPAIR 

INDEX

DE16423  . . . . . . . . . . . . . . . . .S-3

DE18037  . . . . . . . . . . . . . . . . .S-4

DE19804  . . . . . . . . . . . . . . . .S-15

DE20111  . . . . . . . . . . . . . . . . .S-4

DE24096  . . . . . . . . . . . . . . . . .S-4

DE25609  . . . . . . . . . . . . . . . .S-10

DE8230  . . . . . . . . . . . . . . . . . .S-4

GR47-025  . . . . . . . . . . . . . . .S-17

GR47-041  . . . . . . . . . . . . . . .S-17

KO-22909  . . . . . . . . . . . . . . .S-13

KO-30092  . . . . . . . . . . . . . . .S-13

PP910-825 . . . . . . . . . . . . . . .S-97

PP910-710 . . . . . . . . . . . . . . .S-97

SP05-352 . . . . . . . . . . . . . . . .S-17

SPECIAL ORDER1  . . . . . . . .S-11

SPECIAL ORDER2  . . . . . . . .S-13

S-1132-3  . . . . . . . . . . . . . . .S-114

S-1133-3  . . . . . . . . . . . . . . .S-115

S-1134-3  . . . . . . . . . . . . . . .S-134

S-1135-3  . . . . . . . . . . . . . . .S-115

S-1136-3  . . . . . . . . . . . . . . .S-112

S-1136-3A  . . . . . . . . . . . . . .S-112

S-1136-3B  . . . . . . . . . . . . . .S-112

S-1137-3  . . . . . . . . . . . . . . .S-135

S-1138-3  . . . . . . . . . . . . . . .S-108

S-1139-3  . . . . . . . . . . . . . . .S-106

S-1141-3  . . . . . . . . . . . . . . .S-115

S-1142-3 . . . . . . . . . . . . . . . .S-111

S-1143-3  . . . . . . . . . . . . . . .S-103

S-1144-3  . . . . . . . . . . . . . . .S-103

S-1145-3  . . . . . . . . . . . . . . .S-116

S-1146-3  . . . . . . . . . . . . . . .S-128

S-1147-3  . . . . . . . . . . . . . . .S-126

S-1148-3  . . . . . . . . . . . . . . .S-116

S-1149-3  . . . . . . . . . . . . . . .S-103

S-1150-4  . . . . . . . . . . . . . . .S-135

S-1151-4  . . . . . . . . . . . . . . .S-129

S-1152-4  . . . . . . . . . . . . . . .S-104

S-1153-4  . . . . . . . . . . . . . . .S-135

S-1154-4  . . . . . . . . . . . . . . .S-135

S-1155-4  . . . . . . . . . . . . . . .S-132

S-1156-4  . . . . . . . . . . . . . . .S-129

S-1157-4  . . . . . . . . . . . . . . .S-109

S-1158-4  . . . . . . . . . . . . . . .S-121

S-1159-4  . . . . . . . . . . . . . . .S-122

S-1160-4  . . . . . . . . . . . . . . .S-104

S-1161-4  . . . . . . . . . . . . . . .S-117

S-1162-4  . . . . . . . . . . . . . . .S-101

S-1163-4  . . . . . . . . . . . . . . .S-101

S-1164-4  . . . . . . . . . . . . . . .S-134

S-1165-4  . . . . . . . . . . . . . . .S-134

S-1166-4  . . . . . . . . . . . . . . . .S-95

S-1167-3  . . . . . . . . . . . . . . .S-116

S-1169-3  . . . . . . . . . . . . . . .S-128

S-1170-3  . . . . . . . . . . . . . . .S-120

S-1171-3  . . . . . . . . . . . . . . .S-126

S-1173-4  . . . . . . . . . . . . . . .S-125

S-1174-3  . . . . . . . . . . . . . . .S-125

S-1175-1  . . . . . . . . . . . . . . . .S-96

S-1175-2  . . . . . . . . . . . . . . . .S-96

S-1176-1  . . . . . . . . . . . . . . . .S-96

S-1176-2  . . . . . . . . . . . . . . . .S-96

S-1177-1  . . . . . . . . . . . . . . . .S-17

S-1177-2  . . . . . . . . . . . . . . . .S-17

S-1178-3  . . . . . . . . . . . . . . . .S-93

S-1200-3  . . . . . . . . . . . . . . .S-106

AS28610-07 . . . . . . . . . . . . . .S-34

AS28628-07 . . . . . . . . . . . . . .S-34

AS61226-04 . . . . . . . . . . . . . .S-10

AS63131-04 . . . . . . . . . . . . . .S-10

AS63845-07 . . . . . . . . . . . . . .S-11

DE12301  . . . . . . . . . . . . . . . . .S-4

DE16207  . . . . . . . . . . . . . . . .S-15

STEM PAGE STEM PAGE 



REPAIR SUPPLEMENT

LARSEN SUPPLY CO., INC. RS-1

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

06/01/03

REPAIR SUPPLEMENT

0-1019 American Standard stem nut 6

0-1021 American Standard single lever kit 6 

0-1023 American Standard push-pull shower kit 6 

0-1025 American Standard push-pull center set 6  

0-1027 American Standard Aqua seal washer (2 pcs) 6  

0-1029 American Standard Aqua seal washer (2 pcs) 6  

0-1031 American Standard re-nu stem kit 6  

0-1033 American Standard old style repair kit 6  

0-1035 American Standard new style repair kit 6  

0-1037 American Standard Colony deck kit 6  

0-1039 American Standard Cadet stem seal kit 6  

0-1043 American Standard Colony kit 6  

0-1049 American Standard re-nu shower stem kit 6  

0-1053 Aquarian II spout o-rings 6 

0-1059 Aquarian cartridge seal kit 6

0-4099 Tract-line shower repair kit 6

0-4101 Tract-line diverter repair kit 6

0-6105 Cadet handle button set 6

SB-50 7/16” x 24” Brass seat (2 pcs.) 6 

SB-58 1/2” x 20” Brass seat (2 pcs.) 6  

SB-8 1/2” x 20” Colony brass seat (2 pcs.) 6 

SB-1 35/64” x 24” Brass seat (2 pcs.) 6 

SB-48 9/16” x 20” Rubber coated brass seat (2 pcs.) 6  

0-4063 Arrowhead/Repcal stem kit 6 

0-4065 Repcal new style shower stem kit 6 

SB-125 Arrowhead 1/2” x 20 brass seat (2 pcs.) 6 

SB-126 Arrowhead 5/8” x 20 brass seat (2 pcs.) 6 

0-3071 Bradley spout o-rings 6 

0-3073 Bradley-Cole cam and cartridge 6 

AMERICAN STANDARD

0-1021

0-1019

0-1027

0-1029

0-1031

0-1033

0-1035

0-1037
0-1039

0-1043

0-1053

0-1049

SB-50 SB-8

SB-48

SB-1

ARROWHEAD/REPCAL

0-4063

0-4065

SB-125

SB-126

BRADLEY-COLE

0-3071
0-3073

0-1023

SB-58

0-1059

0-4099

0-4101
0-6105

0-1025



REPAIR SUPPLEMENT

RS-2 LARSEN SUPPLY CO., INC.REPAIR SUPPLEMENT
06/01/03

CHICAGO

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

0-1001 Chicago spout repair kit 6 

0-1003 Chicago repair kit 6 

0-1009 Chicago bibb washer (2 pcs.) 6  

0-1011 Chicago new style repair kit 6  

0-1005 Crane Dial-eze kit 6  

0-1007 Crane Dial-eze kit 6 

0-1015 Crane W-53 washer (2 pcs.) 6 

SB-10 9/16” x 18 Brass seat (2 pcs.) 6  

0-2093 Delex stem expension 6  

0-2995 Delex cp bonnet nut 6  

0-2997 Delta complete shower kit with stainless steel ball 6  

0-2999 Delta complete kitchen kit with stainless steel ball 6  

0-3001 Delta new style lever handle kit 6  

0-3001G Same as 0-3001 Genuine 6 

0-3003 Combo lever handle kit • Fits Delta 6 

0-3005 Delta new style lucite handle kit 6 

0-3005G Same as 0-3005 Genuine

0-3007 Combo lucite handle kit • Fits Delta, Peerless 6 

0-3009 Delex faucet repair kit 6 

0-3009G Same as 0-3009 Genuine

0-3011 Delta new style o-rings kit spout 6 

0-3013 Delta old style o-rings kit spout 6 

0-3015 Delta cap 6 

0-3017 Delta “tear drop” cam assembly (2 pcs.) 6 

S-199-3 Delta/Peerless stainless steel ball 6 

S-200-3 Delta stainless steel ball 6 

0-3019 Delta, Delex, Peerless seats & spring kit 6 

0-3019G Same as 0-3019 Genuine 6 

0-3019MP 25 Pack seats & springs 6 

CRANE

DELTA/DELEX/PEERLESS

0-1001

0-1003

0-1009

0-1005

0-1007
0-1015

SB-10

0-2995

0-2999

0-3001

0-3001G

0-1011

0-2093

0-2997

0-3003

0-3005

0-3005G

0-3007

0-3009

0-3009G

0-3011
0-3013

0-3015

0-3017

S-200-3

S-199-3

0-3019

0-3019G

0-3019MP



REPAIR SUPPLEMENT

LARSEN SUPPLY CO., INC. RS-3

06/01/03

REPAIR SUPPLEMENT

DELTA/DELEX/PEERLESS CONT’D

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

0-3021 Combo seat & spring kit • Fits Delta, Peerless 6 

0-3023 Delta set screw 6 

0-3025 Delta repair wrench 6 

0-3027 Delta “slotted” cam kit (2 pcs.) 6 

0-3029 Delta pins (2 pcs.) 6 

0-3031 Delta replacement adjusting ring 6 

0-3033 Delta diverter 6 

0-3037 Delex spout o-rings 6 

0-3039 Delta genuine #RP5648 pop-up stopper 6 

0-3041 Fit-most pop-up stopper 6 

0-3043 Complete Peerless single lever kit 6 

0-3035 Delta two handle kitchen spout 6 

0-3045 8” Delta spout 6 

0-3047 10” Delta spout 6 

0-3049 12” Delta spout 6 

0-6025 Delta #2411 button 6 

0-6025NS Delta new style wave button 6

0-6027 Delex #2412 hot & cold buttons 6 

0-6051 Delex new style hot & cold buttons 6 

0-6071 Delex H/C wave set buttons 6 

0-6073 Delex S/L wave set button 6 

0-3091 Gerber/Stanadyne cartridge repair kit 6 

0-4079 Gerber shower stem repair kit 6 

0-4081 Gerber diverter stem repair kit 6 

0-4087 Gerber lavatory stem repair kit 6 

0-4089 Gerber/Sterling diverter repair kit 6 

0-4105 Gerber washerless repair kit 6 

0-6129 Gerber/Phoenix button set 6

SB-60 5/8” x Thread brass seat 6 

SB-61 5/8” x 20 Brass seat  (2 pcs.) 6 

0-2059 Price Pfister/Harcraft widespread flex 6 

0-4001 Harcraft stem kit 6 

SB-74 9/16” x 20 Brass seat (2 pcs.) 6 

0-3021
0-3025

0-3027

0-3029

0-3031

0-3033

0-3035

0-3045

0-3047

0-3049

0-3037

0-3039

0-3041

0-3043
0-6025

0-6051

0-6025NS

0-3023

0-6027

0-6071

0-6073

HARCRAFT

GERBER

0-3091

SB-60

SB-61

0-4079 0-4081

0-4087

0-4089

0-4105

0-6129

0-2059
0-4001

SB-74



REPAIR SUPPLEMENT

RS-4 LARSEN SUPPLY CO., INC.REPAIR SUPPLEMENT

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

0-4071 Kohler stem repair kit 6 

0-4073 Kohler valvet repair kit 6 

0-6109 Kohler/Milwakee button (2 pcs.) 6 

SB-66 Push-in seat (2 pcs.) 6 

SB-6 1/2” x 27 Brass seat (2 pcs.) 6 

SB-5 5/8” x 27 Brass seat (2 pcs.) 6 

0-3051 Moen cartridge o-ring kit 6 

0-3053 Moen spout kit 6 

0-3055 Moen cartridge o-ring & side-seal repair kit 6 

0-3057 Moen clip 6 

0-3059 Moen handle cap 6 

0-3063 Moen POSI-TEMP cartridge repair kit 6 

0-3063N Moen POSI-TEMP cartridge repair kit New Style 6 

0-3065 Moen stem extension 6 

0-3067 Moen loop handle clip 6 

0-3069 Moen retaining pivot nut kitchen 6 

0-6159 Moen round black button 6 

0-6161 Moen tear drop button 6 

0-0013 Price Pfister shower stem bushing with square- 6 

cut packing

0-0021 Price Pfister union nut with tailpiece 6 

0-0031 Price Pfister 970-020 tailpiece 6 

0-0035 Price Pfister 970-121 wall mount arm/escutcheon 6 

0-2001 Price Pfister short stem kit 6 

0-2005 Price Pfister brass cartridge kit 6 

0-2007 Price Pfister stem kit with seat 6 

0-2009 Price Pfister shower stem kit 6 

0-2011 Price Pfister shower stem kit with seat 6 

0-2013 Price Pfister diverter stem kit 6 

0-2015 Price Pfister concealed kit 6 

0-2017 Price Pfister tray fixture kit 6 

0-2019 Price Pfister flomatic spout kit 6 

0-3051

0-3053

0-3055

0-3057

0-3059

0-0013

0-2001

0-2005

0-2007

0-2009

0-2011

0-2015

0-2013

0-2017
0-2019

MOEN

KOHLER0-4071

SB-66

SB-6

SB-5

0-6109

0-3063

0-3063N

0-3065

0-3067

0-3069

0-6159

0-6161

PRICE PFISTER

01/11/08

0-0021 0-0035

0-0031

0-4073



REPAIR SUPPLEMENT

LARSEN SUPPLY CO., INC. RS-5

06/01/03

0-2027

REPAIR SUPPLEMENT

PRICE PFISTER CONT’D

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

0-2021 7” Wide spread flex connectors • Fits Price 6 

Pfister & Harctaft • 3/8” x 3/8”

0-2021G Same as above genuine 6 

0-2023 7” Wide spread flex connectors • Fits Price 6 

Pfister & Harctaft • 3/8” x 1/2” 

0-2025 7” Wide spread flex connectors • Fits Price 6 

Pfister & Harctaft • 1/2” x 1/2” 

0-2027 Price Pfister #920-010 spout 6 

0-2029 Price Pfister #920-182 spout 6 

0-2031 Price Pfister #920-183 spout 6 

0-2033 Price Pfister #920-206 spout 6 

0-2035 Price Pfister #920-231 spout 6 

0-2037 Price Pfister #920-242 spout 6 

0-2037CWM Price Pfister 6” cast spout 6 

0-2037LWM Price Pfister 12” wall mount spout 6 

0-2037WH Price Pfister 8” wall mount spout 6 

0-2039 Price Pfister spout o-ring kit 6 

0-2041 Price Pfister gooseneck spout 6 

0-2045 Price Pfister chrome plated pop-up flange 6 

0-2045N Price Pfister AB pop-up flange 6 

0-2045P Price Pfister PB pop-up flange 6 

0-2047 Price Pfister polished brass pop-up stopper 6 

0-2049 Price Pfister polished brass pop-up stopper 6 

0-2051 Price Pfister pop-up stopper • Metal 6 

0-2053 Price Pfister pop-up stopper • Plastic 6 

0-2055 Price Pfister Avante spout kit 6 

0-2057 Price Pfister 24” wide spread flex 6 

0-2059 Price Pfister/Harcraft wide spread flex 6 

0-2069W Price Pfister Avante seal kit • Old style 6 

0-2069WN Price Pfister Avante seal kit • New style 6 

0-2071 Price Pfister Avante yolk 6 

0-2073 Price Pfister Avante retainer ring 6 

0-2075 Price Pfister washerless seals 6 

0-6009 Price Pfister Marquis buttons 6 

0-6019 Price Pfister verve buttons 6 

0-6021 Price Pfister verve diverter button 6 

0-2029

0-2031

0-2033

0-2035

0-2037

0-2037CWM

0-2037LWM

0-2037WH

0-2039

0-2047

0-2049

0-2053

0-2051

0-2055

0-2057

0-2059

0-2071

0-2069W

0-2069WN

0-2073

0-2075

0-6009

0-6019

0-6021

0-2021

0-2021G

0-2023

0-2025

0-2041

0-2045

0-2045N

0-2045P



REPAIR SUPPLEMENT

RS-6 LARSEN SUPPLY CO., INC.REPAIR SUPPLEMENT
06/01/03

PRICE PFISTER CONT’D

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

0-6023 Price Pfister Flomatic acrylic handle button 6 

0-6041 Windsor chrome-plated hot & cold buttons 6 

0-6043 Windsor chrome-plated diverter buttons 6 

0-6045 Windsor antique brass buttons (3 pcs.) 6 

0-6047 Windsor polished brass buttons (3 pcs.) 6 

0-6053 Price Pfister Avanti button • New style 6 

0-6063 Price Pfister Avanti kitchen button 6 

0-6121 New small Windsor button set 6 

0-6127 New small Verve button set 6 

0-6181 New small large Verve button set 6 

SB-22 Cage no-thread seat (2 pcs.) 6 

SB-24 1/2” x 20 Brass seat (2 pcs.) 6 

SB-23 21/32” x 18 Brass seat (2 pcs.) 6 

0-4063 Arrowhead-Repcal stem kit 6 

0-4065 Repcal new style shower stem kit 6 

0-4067 Repcal old style stem kit 6 

0-4103 Repcal diverter repair kit 6 

SB-19 Push-in seat (2 pcs.) 6 

0-3075 Valley stem extension 6 

0-3077 Valley kitchen diverter 6 

0-3079 Valley spout o-ring kit 6 

0-3081 Valley/Aqualine cartridge 6 

0-3083 Valley complete kit 6 

0-3085 Valley II spout o-rings 6 

0-3087 Valley seats and springs (6 pcs.) 6 

0-3093 Valley new style repair kit 6 

0-3095 Valley cartridge • New style 6 

0-4003 Valley wide spread stem extension 6 

0-4005 Valley wide spread stop extension 6 

0-6055 Valley II gold tone hot & cold buttons 6 

0-6057 Valley II silver tone hot & cold buttons 6 

0-6113 Valley S/L button 6 

0-4063
0-4065

SB-19

REPCAL

VALLEY

0-6023
0-6041

0-6043

0-6053

0-6045

0-6047

SB-22

SB-24
SB-23

0-6063

0-6121

0-6127

0-6181

0-4067

0-4103

0-3077

0-3081
0-3083

0-3085

0-3087

0-3095

0-6055

0-6057

0-3075

0-3079

0-3093

0-4003

0-4005

0-6113



REPAIR SUPPLEMENT

LARSEN SUPPLY CO., INC. RS-7

06/01/03

REPAIR SUPPLEMENT

STERLING/ROCKWELL

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

0-4043 Sterling washerless twin handle kit 6 

0-4045 Sterling #05000 single lever repair kit 6 

0-4047 Sterling #05020 single lever kitchen repair kit 6 

0-4049 Sterling #05010 single lever tub & shower 6 

repair kit

0-4051 Sterling stem kit 6 

0-4053 Sterling stem kit with seat 6 

0-4055 Sterling shower kit with seat 6 

0-4057 Sterling #05030 kit • For washerless tub & 6 

shower faucet

0-4057S Sterling short stem repair kit 6 

0-4059 Sterling #05050 kit • For washerless kitchen 6 

faucet 

0-4089 Sterling/Gerber diverter repair kit 6 

0-6033 Rockwell temp hot & cold buttons 6 

0-6035 Rockwell temp diverter button 6 

0-6049 Sterling Starflo buttons 6 

SB-26 1/2” x 24 Brass seat (2 pcs.) 6 

0-4251 Dishmaster 1086 stem bushing 6 

0-4253 Dishmaster 1088 seal kit 6 

0-4255 Dishmaster quatic stem seals 6 

0-4257 Dishmaster 254 hose assembly 6 

0-4259 Dishmaster 280 hose brush 6 

0-4261 Dishmaster 858 seal kit 6 

DISHMASTER

0-4049

0-4055
0-4053

0-4057

0-4057S

0-4059 0-6033

0-6035 0-6049
SB-26

0-4045

0-4047

0-4051

0-4043

0-4089

0-4261

0-4253

0-4259

0-4257

0-4251



0-4069

SB-17

SB-42

SB-77

0-3061

0-6059

0-4075

0-6061

0-4061

0-20770-3089

REPAIR SUPPLEMENT

RS-8 LARSEN SUPPLY CO., INC.REPAIR SUPPLEMENT
06/01/03

MISCELLANEOUS 

ITEM NO. DESCRIPTION
CTN.

QTY.

LASCO REPAIR ITEMS

SB-17 Briggs 1/2” x 24 Brass seat (2 pcs.) 6 

0-4069 Eljer stem repair kit 6 

0-3061 Mixit repair kit 6 

0-3091 Stanadyne/Gerber repair kit 6 

0-4011 Nibco stem extension 6 

0-4071 Kohler stem repair kit 6 

0-4075 Sayco new style shower stem kit 6 

0-4083 Kohler Shoreham repair kit 6 

0-4085 Sayco lavatory repair kit 6 

0-4091 Sayco diverter stem repair kit 6 

0-4093 Sayco diverter stem repair kit 6 

0-4095 Harcraft/Eljer shower repair kit 6 

0-4097 Universal brass stem repair kit 6 

0-4107 Indiana brass stem repair kit 6 

0-4109 Central brass stem repair kit 6 

0-4111 Briggs stem repair kit 6 

0-4191 Nibco seat & spring kit 6 

0-6059 Sayco hot & cold buttons 6 

0-6061 Sayco diverter button 6 

SB-42 Sayco 1/2” x 20 Brass seats (2 pcs.) 6 

0-4061 Streamway stem repair kit 6 

SB-77 Streamway 1/2” x 24 Brass seats (2 pcs.) 6 

0-2077 Universal Rundle/Sears seats & springs 6 

0-3089 Single lever universal wrench set 6 

0-3091
0-4011

0-4071

0-4083

0-4085

0-4091
0-4093

0-4095

0-4097 0-4107

0-4109

0-4191

0-4111



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




